FORMATE

1) Name of Area : Pathakhera Area.

2) Name of Unit : GM Office

3) Status of Tendered work : 1) Award letter and bill of quantity.

2) CSR monthly expenditure

3) Revenue Welfare Budg. Expenditure.

6) Product Category. : Civil Work

10) First Announcement Date & time : 28.10.2010

11) Last date & time : 31.03.2011 at 4.00 P.M.

16) Number & Name of the file/files. : 03(three) file ( Microsoft word file )

17) Sequence of files to be attached. : 1-2-3

STAFF OFFICER(CIVIL) PATHAKHERA AREA.



WESTERN COALFIELDS LIMITED

## OFFICE OF THE CHIEF GENERAL MANAGER PATHAKHERA AREA P.O. PATHAKHERA, DIST. BETUL (MP)-460 449.

No. PK/Civil/ 1607/ Dated 08.04.2010

To

Shri Ramnaresh Thakur Contractor, Shobhapur colony Pathakhera. **AWARD LETTER** 

**REGISTERED AD. / BY HAND.** 

Sub: Replacement of old drinking water pipe line with 80mm (3" dia) G.I. Pipeline towards Shobhapur Mine from filter plant at Pathakhera Area.

Ref: NIT.No. Q-18/2009-10 dated 21.12.2009

Dear Sir,

With reference to your tender dated 31.12.2009, the management of the company is pleased to award you the subject work at your quoted Item rates, Item No.1) @ Rs 14/-m, item No.2) @ Rs 16/-m, & item No.3) @ Rs 85/-m3. The total cost of work comes to Rs 84,475/- (Rupees Eighty four thousand four hundred seventy five only). This award is subject the following terms and conditions:

- 1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is latter and shall be completed within 1 (one)month.
- 2) The EMD of Rs 840/- deposited by you vide DD. No.309493 dated 31.12.2009 has been treated as part of SD/Performance Security. To make 5% of the award value as Performance Security, you have to deposit the balance amount of Rs 3,384/- within twenty-eight days of issue of this letter either in the form of DD or in cash with the Chief Cashier, Pathakhera Area. In addition to the above, further 5% of bill value shall be deducted from each on a/c bills as Retention Money to make the total security deposit to the extent of Rs 8,448/-. Both the money shall remain at the disposal of the company as Security Deposit and shall not carry any interest.
- 3) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.
- 4) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.
- The contractor shall indemnify the WCL against all claims for compensation under the provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect of any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the

- 7) Arrangement of water required for the work and drinking purpose shall be your responsibility.
- 8) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
- 10) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the SE(Civil)PKD Civil Dn, for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

STAFF OFFICER (CIVIL), WCL, PATHAKHERA AREA.

- 1) The GM, Pathakhera Area.
- 2) The Dy.CME(P&P), Pathakhera Area.
- 3) The Dy.CPM, Pathakehra Area.
- 4) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/ PKD/BC/10-11/OCW surface/03 dt. 06.04.2010 for Rs 84,475/- .
- 5) The SE(C), PKD Civil Dn., for further needful action.
- 6) The PM (Welfare), Pathakhera Area
- 7) The PM/Dy.PM, PKD Sub Area (Through PKD. S.A.)
- 7) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1<sup>st</sup> Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

## BILL OF QUANTITY

Replacement of old drinking water pipe line with 80mm(3") dia G.I. Pipeline towards Shobhapur Mine from Filter plant at Pathakhera Area.

	towards Grobinapar Willie Hoff Filter plant at Lathautiera Area.						
SI. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount	
1	2.8.1 P-64	Dismentaling of G.I. Pipes (External work) including stacking of rates market 50m lead above 40mm nominal bore.	Э	1300.00			
		Fixing G.I. Pipes complete with G.I. Fittings (external work) 80mm nominal bore (labour rate).	m	1300.00			
2	2.8.1 P-64	Earth work in excavation by mechanical means (Hydraulic excavator)/manual means in foundation trenches or drains (not exceeding 1.5m in width or 10sqm on plan) including dressing of sides and ramming of bottoms, lift upto 1.5m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50m. All kinds of soil.		535.00			
					Total=Rs		



No. PK/Civil/ 1606/ Dated 15.04.2010

To

Shri Saroj Ku. Singh Contractor, Jagjiwan Nagar **Pathakhera**. **AWARD LETTER** 

REGISTERED AD. / BY HAND.

Sub: Heightening of earthen bund of magazine no-2 of

main magazine at Pathakhera Area.

Ref: NIT.No. Q-21/2009-10 dated 02.02.2010 Ref: L.O.I No.PK/Civil/1606/21 dt. 08-04-2010.

Dear Sir,

With reference to your tender dated 11.02.2010, the management of the company is pleased to award you the subject work at your quoted revised rates 05.00% above. The total cost of work comes to **Rs 57,307.95/- (Rupees fifty seven thousand three hundred seven and paise ninety five only)**. This award is subject the following terms and conditions:

1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is latter and shall be completed within 15 (fifteen)days.

- 2) The EMD of Rs 546/- deposited by you vide M.R. No.3647 dated 10.02.2010 has been treated as part of SD/Performance Security. To make 5% of the award value as Performance Security, you have to deposit the balance amount of Rs 2320/- within twenty-eight days of issue of this letter either in the form of DD or in cash with the Chief Cashier, Pathakhera Area. In addition to the above, further 5% of bill value shall be deducted from each on a/c bills as Retention Money to make the total security deposit to the extent of Rs 5731/-. Both the money shall remain at the disposal of the company as Security Deposit and shall not carry any interest.
- 3) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.
- 4) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.
- The contractor shall indemnify the WCL against all claims for compensation under the provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect of any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause shall be final and conclusive.

- 7) Arrangement of water required for the work and drinking purpose shall be your responsibility.
- 8) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
- 10) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the Sr.EE(Civil)Shobhapur, for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

STAFF OFFICER (CIVIL), WCL, PATHAKHERA AREA.

- 1) The GM, Pathakhera Area.
- 2) The Dy.CME(P&P), Pathakhera Area.
- 3) The Dy.CPM, Pathakehra Area.
- 4) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/ PKD/BC/10-11/OCW surface/08 dt. 14.04.2010 for Rs 57,308/- .
- 5) The Sr.EE(C), Shobhapur, for further needful action.
- 6) The PM (Welfare), Pathakhera Area
- 7) The PM/Dy.PM, Shobhapur Sub Area (Through SHB S.A.)
- 7) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

## BILL OF QUANTITY

Heightening of earthen bund of Magazine No.2 of Main magazine at Pathakhera Area.

SI. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
1	64	Earth work in excavation by mechanical means (Hydraulic excavator)/manual means over areas(exceeding 30cm in depth 1.5m in width as well as 10 sqm on plan) including disposal of excavated earth, lead up to 50m and lift up to 1.5m disposed erth to be levelled and neatly dressed. All kinds of soil.	cum	452.00	101.85	46036.20
2		Extra for every additional lift of 1.5m or part thereof in. All kinds of soil.	cum	452.00	18.90	8542.80
		Add/deduct% above or below DSR- 2007.			Total =	54579.00



No. PK/Civil/ 1604/ Dated 15.04.2010

То

Shri Vijay Malviya Contractor, Shobhapur colony **Pathakhera**. **AWARD LETTER** 

REGISTERED AD. / BY HAND.

Sub: Repair of hinges of doors/windows of residential qtr. and welding

work at Pathakhera Colony of Pathakhera Area.

Ref: NIT.No. Q-20/2009-10 dated 06.01.2010 Ref: L.O.I No.PK/Civil/1604/10 dt. 06-04-2010.

Dear Sir,

With reference to your tender dated 19.01.2010, the management of the company is pleased to award you the subject work at your quoted revised item rates, item No.1a) @ Rs 9.25/-each, item No.1b) @ Rs 5.50/-each, item No.1c) @ Rs 3.85/-each & item No.2) @ Rs 1.60/-cm. The total cost of work comes to **Rs 55,745.00/- (Rupees fifty five thousand seven hundred forty five only)**. This award is subject the following terms and conditions:

1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is latter and shall be completed within 01 (one)month.

- 2) The EMD of Rs 489/- deposited by you vide M.R. No.3486 dated 18.01 .2010 has been treated as part of SD/Performance Security. To make 5% of the award value as Performance Security, you have to deposit the balance amount of Rs 2299/- within twenty-eight days of issue of this letter either in the form of DD or in cash with the Chief Cashier, Pathakhera Area. In addition to the above, further 5% of bill value shall be deducted from each on a/c bills as Retention Money to make the total security deposit to the extent of Rs 5575/-. Both the money shall remain at the disposal of the company as Security Deposit and shall not carry any interest.
- 3) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.
- 4) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.
- The contractor shall indemnify the WCL against all claims for compensation under the provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect of any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause shall be final and conclusive.

- 7) Arrangement of water required for the work and drinking purpose shall be your responsibility.
- 8) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
- 10) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the SE(Civil)PKD Civil Dn, for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

STAFF OFFICER (CIVIL), WCL, PATHAKHERA AREA.

- 1) The GM, Pathakhera Area.
- 2) The Dy.CME(P&P), Pathakhera Area.
- 3) The Dy.CPM, Pathakehra Area.
- 4) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/ PKD/BC/10-11/Residential/02 dt. 14.04.2010 for Rs 55,745/- .
- 5) The SE(C), PKD Civil Dn., for further needful action.
- 6) The PM (Welfare), Pathakhera Area
- 7) The PM/Dy.PM, PKD Sub Area (Through PKD S.A.)
- 7) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1<sup>st</sup> Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

## BILL OF QUANTITY

Repair of hinges of doors/windows of residential qtr and welding work Pathakhera Colony of Pathakhra Area.

Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
1	Supplying of oxidized MS butt hinges of	Nos	400.00		
	ISI make as per instruction of engineer in				
	charge. a)				
	100 x 58 x 1.90mm				
	b) 75 x 47 x 1.70mm	Nos	200.00		
	c) 50 x 37 x 1.50mm	Ns	100.00		
	Welding by electric plants including	cm.	31600.00		
	transportation of plant at site etc.				
	Complete.				
	NON SOR ITEMS (Please quote the item			Total =	
	rate only).				



No. PK/Civil/ 1608/ Dated 15.04.2010

To

Shri Narendra Ku. Singh Contractor, Congress Nagar, AWARD LETTER

Pathakhera. REGISTERED AD. / BY HAND.

Sub: Grass cleaning at main magazine building of Pathakhera Area.

Ref: NIT.No. Q-21/2009-10 dated 02.02.2010

Dear Sir.

With reference to your tender dated 11.02.2010, the management of the company is pleased to award you the subject work at your quoted rate 15.00% below DSR-2007. The total cost of work comes to Rs 23,141.21/- (Rupees twenty three thousand one hundred forty one and paise twenty one only). This award is subject the following terms and conditions:

- 1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is latter and shall be completed within 07 (seven)days.
- 2) The EMD of Rs 273/- deposited by you vide M.R. No.3651 dated 10.02.2010 has

been treated as part of SD/Performance Security. To make 5% of the award value as Performance Security, you have to deposit the balance amount of Rs 885/- within twenty-eight days of issue of this letter either in the form of DD or in cash with the Chief Cashier, Pathakhera Area. In addition to the above, further 5% of bill value shall be deducted from each on a/c bills as Retention Money to make the total security deposit to the extent of Rs 2315/-. Both the money shall remain at the disposal of the company as Security Deposit and shall not carry any interest.

- 3) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.
- 4) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.
- The contractor shall indemnify the WCL against all claims for compensation under the provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect of any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause shall be final and conclusive.

- 7) Arrangement of water required for the work and drinking purpose shall be your responsibility.
- 8) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
- 10) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the Sr.EE(Civil)AHQ, for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

STAFF OFFICER (CIVIL), WCL, PATHAKHERA AREA.

- 1) The GM, Pathakhera Area.
- 2) The Dy.CME(P&P), Pathakhera Area.
- 3) The Dy.CPM, Pathakehra Area.
- 4) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/ PKD/BC/10-11/OCW Surface/09 dt. 14.04.2010 for Rs 23141/- .
- 5) The Sr.EE(C), AHQ., for further needful action.
- 6) The PM (Welfare), Pathakhera Area
- 7) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

## BILL OF QUANTITY

Grass cleaning at main magazine building of Pathakhera Area.

SI. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
	68	Cleaning grass and removal of the rubbish upto distance of 50mt outside the pheriphery of the area cleared.	sqm	20070.0 0	135.65/ 100	27224.96
		Add/deduct% above or below DSR-2	2007		Total=Rs	27224.96



No. PK/Civil/ 1605/ Dated 30.04.2010

To

Shri Narsingh Mahanti Contractor, Congress Nagar, **Pathakhera**. **AWARD LETTER** 

REGISTERED AD. / BY HAND.

Sub: Replacement of C.I. Sluice valve for distribution pipe line at different

Nagar of Pathakhera colony at Pathakhera Area.

Ref: NIT.No. Q-21/2009-10 dated 02.02.2010

Ref: LOI No.PK/civil/1605/11 dated 06.04.2010

Dear Sir,

With reference to your tender dated 13.01.2010, the management of the company is pleased to award you the subject work at your quoted rate 2675/-each. The total cost of work comes to **Rs 89,630/- (Rupees Eighty nine thousand six hundred thirty only)**. This award is subject the following terms and conditions:

1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is latter and

shall be completed within 01 (one)month.

- 2) The EMD of Rs 977/- deposited by you vide M.R. No.3657 dated 11.02.2010 has been treated as part of SD/Performance Security. To make 5% of the award value as Performance Security, you have to deposit the balance amount of Rs 3505/- within twenty-eight days of issue of this letter either in the form of DD or in cash with the Chief Cashier, Pathakhera Area. In addition to the above, further 5% of bill value shall be deducted from each on a/c bills as Retention Money to make the total security deposit to the extent of Rs 8964/-. Both the money shall remain at the disposal of the company as Security Deposit and shall not carry any interest.
- 3) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.
- 4) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.
- The contractor shall indemnify the WCL against all claims for compensation under the provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect of any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause shall be final and conclusive.

- 6) In addition to the above, you have to deposit an amount of Rs 1170/- towards additional security deposit before execution of Detailed Work Order/Agreement against ALR items.
- 7) Arrangement of water required for the work and drinking purpose shall be your responsibility.
- 8) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
- 10) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the SE(Civil)PKD Civil Dn., for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

STAFF OFFICER (CIVIL), WCL, PATHAKHERA AREA.

- 1) The GM, Pathakhera Area.
- 2) The Dy.CME(P&P), Pathakhera Area.
- 3) The Dy.CPM, Pathakehra Area.
- 4) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/ PKD/BC/10-11/water supply/01 dt. 28.04.2010 for Rs 89,630/- .
- 5) The SE(C), PKD Civil Dn., for further needful action.
- 6) The PM (Welfare), Pathakhera Area
- 7) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

## BILL OF QUANTITY

Replacement of CI sluice valve for distribution pipe line at different Nagar of Pathakhera colony of Pathakhera Area.

		of Pathakhera colony of Pathakhera Area.				
SI.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
No.						
	rate	Supplying of C.I.sluice valve with pipe complete with bolts, nuts, rubber inssovtion as per instruction of E/I	Nos	32.00		
2	Analysed rate	Supplying of M.S. Nut bolts 5/8" dia	kg	65.00		
	iaic					
					Total =	



No. PK/Civil/ 1610/ Dated 25.06.2010

То

Shri S.S. Banait & Contractor, PATHAKHERA.

### **AWARD LETTER**

### REGISTERED AD. / BY HAND.

Sub: Boudary wall for type-IV & type-III qtrs at Pathakhera colony of Pathakhera Area. (Length of 268m for type-III qtrs and 32m of length for type-IV qtrs.)

Ref: NIT.No. S-36/2009-10 dated 02.01.2010

Ref: NO.PK.Civil/1610/182 dated 10/12-05-2010.

Dear Sir,

With reference to your tender dated 13.01.2010, the management of the company is pleased to award you the subject work at your quoted rate 25.12% below the estimated cost DSR-2007 & NON SOR item, Item No.1 @ Rs 265/-/m2. The total cost of work comes to Rs 3,40,690.60/- (Rupees three lakhs forty thousand six hundred ninety and paise sixty only). This award is subject the following terms and conditions:

1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is latter and shall be completed within 03 (three)months.

- 2) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.
- 3) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.
- The contractor shall indemnify the WCL against all claims for compensation under provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause—shall be final and conclusive.

- 7) Arrangement of water required for the work and drinking purpose shall be your responsibility.
- 8) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
- 9) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the SE(Civil)PKD Civil Dn., for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

STAFF OFFICER (CIVIL), WCL, PATHAKHERA AREA.

- 1) The GM, Pathakhera Area.
- 2) The Dy.CME(P&P), Pathakhera Area.
- 3) The Dy.CPM,Pathakehra Area.
- 4) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/ PKD/BC/10-11/Residential/07 dt. 17.05.2010 for Rs 3,40,690/- .
- 5) The SE(C)PKD Civil Dn, for further needful action.
- 6) The PM (Welfare), Pathakhera Area
- 7) All A.W.C. Member (Throught PM(Welfare) along with copy of BOQ.
- 8) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

### BILL OF QUANTITY

### Boundary wall for type-IV & type-III qtrs. at Pathakhera colony of Pathakhera Area

1	Code	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
	No.	Forth words in accounting by manhaning manner	2	100.00	402.40	12020 40
		Earth work in excavation by mechanical means (Hydraulic excavator)/manual means in foundation trenches or drains (not exceeding 1.5m in width or 10sqm on plan) including dressing of sides and ramming of bottoms, lift upto 1.5m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50m. All kinds of soil.	m3	126.00	103.40	13028.40
2	4.1.8 P-79	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering- All work up to plinth level:1:4:8 (1 cement:4 coarse sand:8 graded stone aggregate 40mm nominal size).	cum	18.00	2449.00	44082.00
3	P-102	Brick work with modular fly ash lime bricks (FALG Bricks) conforming to IS: 12894-2002, class designation 100 average compressive strength in foundation below plinth level in: Cement mortar: 1:6 (1 cement:6 coarse sand).	cum	60.00	2093.30	125598.00
4		Brick work with modular fly ash lime bricks (FALG Bricks) conforming to IS: 12894-2002, class designation 100 average compressive strength in super structure above plinth level up to floor V level in: Cement mortar: 1:6 (1 cement:6 coarse sand).	cum	15.60	2283.30	35619.48
5		12mm cement plaster of mix: 1:6 (1 cement : 6 coarse sand).	m2	1188.00	72.70	86367.60
6	13.37.1 P204	White washing with lime to give an even shade: New work (three or more coats).	m2	1188.00	6.75	8019.00
		B 1 405 400/ 1 1 B 25 2225			T 5	312714.48(
		Deduct 25.12% below DSR-2007  NON SOR ITEM( quote the item rate only			Total=Rs	-)78553.88
1	non sor	Half brickwork with fly ash lime bricks in super structure in 1:4 (1 cement:4 coarse sand).	sqm	402.00	265.00	106530.00

	(Rupees three lakhs forty thousand six hundred		Total=Rs	340690.60
	ninety and paise sixty only.			



No. PK/Civil/ 1611/ Dated 30.06.2010

To

Shri N.K. Singh & Contractor, PATHAKHERA.

### **AWARD LETTER**

REGISTERED AD. / BY HAND.

Sub: Repair of change over qtrs. against retired employees of

Shobhapur colony at Pathakhera Area.

Ref: NIT.No. S-41/2009-10 dated 08.02.2010

Ref: LOI No. PK/Civil/1611/187 dated 13.05.2010

Dear Sir,

With reference to your tender dated 31.03.2010, the management of the company is pleased to award you the subject work at your quoted rate 24.50% below the estimated cost DSR-2007 & NON SOR item, Item No.1 @ Rs4.50/-/m2. The total cost of work comes to Rs 2,83,214.91/- (Rupees two lakhs eighty three thousand two hundred fourteen and paise ninety one only). This award is subject the following terms and conditions:

1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is latter and

shall be completed within 03 (three)months.

- 2) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.
- 3) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.
- The contractor shall indemnify the WCL against all claims for compensation under provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause—shall be final and conclusive.

- 7) Arrangement of water required for the work and drinking purpose shall be your responsibility.
- 8) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
- 9) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the SE(Civil)Sat. Civil Dn., for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

STAFF OFFICER (CIVIL), WCL, PATHAKHERA AREA.

- 1) The GM, Pathakhera Area.
- 2) The Dy.CME(P&P), Pathakhera Area.
- 3) The Dy.CPM, Pathakehra Area.
- 4) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/ PKD/BC/10-11/Residential/19 dt. 29.06.2010 for Rs 2,83,214.91/- .
- 5) The SE(C) Sat. Civil Dn, for further needful action.
- 6) The PM (Welfare), Pathakhera Area
- 7) All A.W.C. Member (Throught PM(Welfare) along with copy of BOQ.
- 8) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).



### Change over qtrs. Against Retired employees of Shobhapur colony.

SI. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
-	13.1.2 P- 201	12mm cement plaster of mix: 1:6 (1cement : 6 fine sand).	sqm	1500.00	67.65	101475.00
2	11.3.1 P-172	Cement concrete flooring 1:2:4 (1 cement:2 coarse sand:4 graded stone aggregate) finished with a floating coat of neat cement including cement slurry, but excluding the cost of nosing of steps etc. complete. 40mm thick with 20mm nominal size stone aggregate.	m2	720.00	192.95	138924.00
	13.38 P- 204	Satna lime wash on walls one coat.	sqm	11000.0 0	2.75	30250.00
4	14.54.1 P-220	Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade: One or more coats on old work.	sqm	2620.00	22.85	59867.00
5	17.13.1 P- 266	Providing and fixisng white vitreous china water closet squatting pan (Indian type). Long pattern W.C. pan of size 580mm.	each	10.00	534.60	5346.00
6	17.60.1.2 P-273	Providing and fixing trap of self cleansing design with screwed down or hinged grating with ou without vent arm complete, including cost of cutting and making good the walls and floors: Sand cast iron S&S as per IS:1729	sqm	5.00	442.1	2210.50
7	17.17.2 P-266	Providing and fixing a pair of white vitreous china foot rests of standard pattern for squatting pan water closet: 250x125x25mm.	Pair	10.00	112.85	1128.50
8a	18.12.3 P-292	Providing and fixing G.I. Pipes complete with G.I. Fittings including trenching and refilling etc. 25mm dia. Nominal bore.	mtr	24.00	156.85	3764.40
8b	18.10.2 P-292	Providing and fixing G.I. Pipes complete with G.I. Fittings and clamps, including cutting and making good the walls etc. 20mm dia nominal bore.	mtr	24.00	133.85	3212.40
8c		Providing and fixing G.I. Pipes complete with G.I. Fittings and clamps, including cutting and making good the walls etc. 15mm dia nominal bore.	mtr	48.00	105.85	5080.80
9	18.15.1 P-293	Providing and fixing brass bib cock of approved quality: 15mm nominal bore.	each	20.00		
		Add/deduct% above or below DSR-2	007		Total=Rs	355092.60
		NON SOR ITEM ( Please quote the item ra	te)			
1	NON SOR	Colour washing such as green, blue or buff to give an even shade: old work with lime (two or more coat)		3360.00		
					Total =	

••

## WESTERN COALFIELDS LIMITED OFFICE OF THE CHIEF GENERAL MANAGER PATHAKHERA AREA P.O. PATHAKHERA, DIST. BETUL (MP)-460 449.

No. PK/Civil/ 1613/ Dated 30.06.2010

To

Shri Prabhash Ku.Singh Contractor, PATHAKHERA. **AWARD LETTER** 

REGISTERED AD. / BY HAND.

Sub: Repair of septic tank, inspection chamber, cover, S.W. Pipe etc.

at Pathakhera colony of Pathakhera Area.

Ref: NIT.No. S-41/2009-10 dated 08.02.2010

Ref: LOI No. PK/Civil/1613/189 dated 13.05.2010

Dear Sir,

With reference to your tender dated 19.02.2010, the management of the company is pleased to award you the subject work at your quoted rate 35.00% below the estimated cost DSR-2007 & NON SOR item, Item No.1 @ Rs110/-/m2., item No.2 @ Rs 40.00. The total cost of work comes to Rs 3,12,881.10/- (Rupees three lakhs twelve thousand eight hundred eighty one and paise ten only). This award is subject to the following terms and conditions:

- 1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is latter and shall be completed within 03 (three)months.
- 2) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.
- 3) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.
- 4) The contractor shall indemnify the WCL against all claims for compensation under the provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money

paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause shall be final and conclusive.

- 7) Arrangement of water required for the work and drinking purpose shall be your responsibility.
- 8) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
- 9) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the SE(Civil)PKD. Civil Dn., for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

STAFF OFFICER (CIVIL), WCL, PATHAKHERA AREA.

- 1) The GM, Pathakhera Area.
- 2) The Dy.CME(P&P), Pathakhera Area.
- 3) The Dy.CPM, Pathakehra Area.
- 4) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/ PKD/BC/10-11/sanitation/06 dt. 29.06.2010 for Rs 3,12,881/- .
- 5) The SE(C) PKD Civil Dn, for further needful action.
- 6) The PM (Welfare), Pathakhera Area
- 7) All A.W.C. Member (Throught PM(Welfare) along with copy of BOQ.
- 8) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

Repair of Septic tank, inspection chamber, cover, S.W. Pipe etc. At Pathkhera colony of Pathakhera Area.

		colony of Pathakhera Area.		I_	L	I
SI. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
	2.8.1 P 64	- Earth work in excavation by mechanical means (Hydraulic excavator)/manual means in foundation trenches or drains (not exceeding 1.5m in width or 10sqm on plan) including dressing of sides and ramming of bottoms, lift upto 1.5m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50m. All kinds of	m3	105.00	103.40	10857.00
		soil.				
	79	P- Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering- All work up to plinth level:1:4:8 (1 cement:4 coarse sand:8 graded stone aggregate 40mm nominal size).	cum	14.00	2449.00	34286.00
3	6.34.1 P-102 (-)6.5	Brick work with modular fly ash lime bricks (FALG Bricks) conforming to IS: 12894-2002, class designation 100 average compressive strength in super structure above plinth level up to floor V level in: Extra for brick work in superstructure above floor V level for each four floors or part thereof by mechnaical means by lifting material using mobile crane.	cum	78.00	2244.35	175059.30
4	13.7.2 P-201	12mm cement plaster finished with a floating coat of neat cement of mix: 1:4 (1 cement :4 fine sand)	sqm	746.00	97.90	73033.40
5	11.3.1 P-172	Cement concrete flooring 1:2:4 (1 cement:2 coarse sand:4 graded stone aggregate) finished with a floating coat of neat cement including cement slurry, but excluding the cost of nosing of steps etc. complete. 40mm thick with 20mm nominal size stone aggregate.	m2	123.00	192.95	23732.85
6	19.1.1 P-315	Providing laying and jointing glazed stoneware pipes grade "A" with stiff mixture of cement mortar in the proportion of 1:1 (1 cement:1 fine sand) including testing of joints etc. complete.	metre	300.00	105.90	31770.00
7	5.12 P-9	Providing, hoisting and fixing up to floor five level precast reinforced cement concrete work in string coursed, bands, copings, bed plates, anchor blocks, plain window sills and the like including the cost of required centering, shuttering, finishing smooth with 6mm thick cement plaster 1:3 (1 cement: 3 fine sand) on exposed surfaces complete but excluding cost of reinforcement with 1:2:4 (1 cement:2 coarse sand: 4 graded stone aggregate 20mm nominal size).		9.00	4882.25	43940.25
8	5.22.3 F 92	<ul> <li>Reinforcement for RCC work including straightening, cutting, bending, placing in position and binding all complete. Cold twisted bars.</li> </ul>	kg	900.00	42.7	38430.00
9	17.13.2 F 266	<ul> <li>Providing and fixisng white vitreous china water closet squatting pan (Indian type).</li> <li>Orissa pattern W.C. pan of size 580x440mm.</li> </ul>	each	25.00	1010.85	25271.25
10	17.15 F 266	Providing and fixing white vitreous china pedestal type (European type/wash down type) water closet pan.	each	5.00	841.25	4206.25
		Add/deduct% above or below DSR-2			Total=Rs	460586.30
1	NON SOI	NON SOR ITEM ( Please quote the item ra	te) Nos	50.00		
		R Disludging of Inspection chambers	Nos	200.00		
					Total =	



No. PK/Civil/ 1614/ Dated 17.05.2010

Tο

Shri Nagendra Singh Kushwaha Contractor, Kailash Nagar, Shobhapur colony, **Pathakhera**. **AWARD LETTER** 

REGISTERED AD. / BY HAND.

Sub: Renovation of Sedimentation tank at Chhatarpur-I Mine of Pathakhera Area.

Ref: NIT.No. Q-18/2009-10 dated 21.12.2009

Dear Sir,

With reference to your tender dated 31.12.2009, the management of the company is pleased to award you the subject work at your quoted rate 21.90% below DSR-2007. The total cost of work comes to **Rs 71,611.54/- (Rupees seventy one thousand six hundred elevan and paise fifty four only)**. This award is subject the following terms and conditions:

- 1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is latter and shall be completed within 01 (one)month.
- 2) The EMD of Rs 917/- deposited by you vide DD. No.309471 dated 30.12.2009 has been treated as part of SD/Performance Security. To make 5% of the award value as Performance Security, you have to deposit the balance amount of Rs 2,664/- within twenty-eight days of issue of this letter either in the form of DD or in cash with the Chief Cashier, Pathakhera Area. In addition to the above, further 5% of bill value shall be deducted from each on a/c bills as Retention Money to make the total security deposit to the extent of Rs 7,162/-. Both the money shall remain at the disposal of the company as Security Deposit and shall not carry any interest.
- 3) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.
- 4) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.
- 5) The contractor shall indemnify the WCL against all claims for compensation under the provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect of any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money

paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause shall be final and conclusive.

- 7) Arrangement of water required for the work and drinking purpose shall be your responsibility.
- 8) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
- 10) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the Sr.EE(Civil)Chhatarpur., for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

STAFF OFFICER (CIVIL), WCL, PATHAKHERA AREA.

#### Copy to:

- 1) The GM, Pathakhera Area.
- 2) The Dy.CME(P&P), Pathakhera Area.
- 3) The Dy.CPM,Pathakehra Area.
- 4) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/ PKD/BC/10-11/OCW surface/14 dt. 14.05.2010 for Rs 71,612/- .
- 5) The Sr.EE(C), Chhatarpur-I., for further needful action.
- 6) The PM (Welfare), Pathakhera Area
- 7) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

### BILL OF QUANTITY

Renovation of sedimentatin tank at Chhatarpur-I Mine of Pathakhera Area.

SI. No.		Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
1	15.7.4 P-226	Demolishing brick work manually/ by mechanical means including stacking of serviceable material and disposal of unserviceable material within 50 metres lead as sper direction of Engineer-in-charge.	cum	11.00	310.75	3418.25
		Earth work in excavation by mechanical means (Hydraulic excavator)/manual means in foundation trenches or drains (not exceeding 1.5m in width or 10sqm on plan) including dressing of sides and ramming of bottoms, lift upto 1.5m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50m. All kinds of soil.	m3	16.00	103.40	1654.40
	P-79	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering- All work up to plinth level: 1:3:6 (1 cement:3 fine sand:6 graded stone aggregate 40mm nominal size).	cum	3.20	2560.20	8192.64
		Providing and laying in position specified grade of reinforced cement concrete excluding the cost of centering, shuttering, finishing and reinforcement - All work up to plinth level: 1:2:4 (1 cement:2 coarse sand:4 graded stone aggregate 20mm nominal size).	cum	5.70	3359.6	19149.72
	(-)6.33 P-100	Brick work with clay flyash F.P.S. brick of class designation 75 in superstructure above plinth level up to floor five level in:Cement mortar 1:6 (1 cement: 6 coarse sand).(-) Extra for exposed brick work/ clay flyash brick work in superstructure above floor five level for each four floors or part thereof.	cum	17.00	2070.70	35201.90
		Reinforcement for RCC work including straightening, cutting, bending, placing in position and binding all complete. Cold twisted bars.	kg	300.00	42.7	12810.00

P-201	12mm cement plaster finished with a floating coat of neat cement of mix: 1:4 (1 cement :4 fine sand)	sqm	52.00	97.90	5090.80
 P-172	Cement concrete flooring 1:2:4 (1 cement:2 coarse sand:4 graded stone aggregate) finished with a floating coat of neat cement including cement slurry, but excluding the cost of nosing of steps etc. complete. 40mm thick with 20mm nominal size stone aggregate.	m2	32.00	192.95	6174.40
	Add/deduct% above or below DSR-2007			Total=Rs	91692.11



No. PK/Civil/ 1615/ 311 Dated 10.06.2010

To

M/s Sunny Paint & Tar Products, 72-A, Sector 'C' Sanwer Road, Industrial Estate, INDORE.

**AWARD LETTER** 

REGISTERED AD. / BY HAND.

Sub: Tarfelting of 42 nos. MQ at Patel Nagar at Pathakhera colony of Pathakhera Area.

Ref: NIT.No. S-38/2009-10 dated 25.01.2010

Dear Sir,

With reference to your tender dated 09.02.2010, the management of the company is pleased to award you the subject work at your quoted revised rate 16.00% above the estimated cost based on DSR-2007 including the rabate of 02.25% on your overall quoted rate & NON SOR Item @ Rs 7.00/-m2. The total cost of work comes to Rs 4,53,627.30/-(Rupees four lakhs fifty three thousand six hundred twenty seven and paise thirty only). This award is subject the following terms and conditions:

1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue

- of this award letter or the actual date of handing over the site whichever is latter and shall be completed within 02 (one)month.
- 2) The EMD of Rs 4140/- deposited by you vide DD. No.119053 dated 02.01.2010 has been treated as part of SD/Performance Security. To make 5% of the award value as Performance Security, you have to deposit the balance amount of Rs 18,542/- within twenty-eight days of issue of this letter either in the form of DD or in cash with the Chief Cashier, Pathakhera Area. In addition to the above, further 5% of bill value
  - shall be deducted from each on a/c bills as Retention Money to make the total security deposit to the extent of Rs 45,363/-. Both the money shall remain at the disposal of the company as Security Deposit and shall not carry any interest.
- 3) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.
- 4) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.
- The contractor shall indemnify the WCL against all claims for compensation under provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause shall be final and conclusive.

- 7) The tender for tarfelting work shall be submitted by manufacturer only having ISI Licence.
- 8) The performance guarantee shall be for five year from the date of completion on Non judicial stamp paper of Rs 100/-
- 9) 90% of th security deposit shall be released after expiry of one year from the date of completion of work after issue of no-defect certificate.
- 10) Balance 10% of security deposit shall be released after expiry of five years or performance guarantee period. (Ref. NIT p.n0.47).
- 11) Arrangement of water required for the work and drinking purpose shall be your responsibility.
- 12) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
- Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the SE(Civil)PKD Dn., for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

STAFF OFFICER (CIVIL), WCL, PATHAKHERA AREA.

#### Copy to:

- 1) The GM, Pathakhera Area.
- 2) The Dy.CME(P&P), Pathakhera Area.
- 3) The Dy.CPM,Pathakehra Area.
- 4) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/PKD/BC/10-11/special rep./01 dt. 09.06.2010 for Rs 4,53,627/- .
- 5) The SE(C), PKD Dn., for further needful action.
- 6) The PM (Welfare), Pathakhera Area
- 7) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

## **BILL OF QUANTIYY**

Tarfelting of 42 nos MQ at Patel Nagar at Pathakhera Colony of Pathakhera Area.

	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
		Grading roof for water treatment with cement concrete 1:2:4 (1 cement:2 coarse sand : 4 graded stone aggregate 20mm nominal size.)	cum	17.85	3314.95	59171.86
2.	22.8.1	Providing and laying four courses water proofing treatment with bitumen felt over roofs consisting of first and third courses of blown bitumen 85/25 or 90/15 conforming to IS:702 applied hot @ 1.45 kg/sqm of area of each course, second course of roofing felt type 3 Grade-I (hession based self finished bitumen felt) manufactured by Bengal Bitumen, STP Ltd. Arcus Ltd.etc. and fourth and final course of stone grit 6mm and down size or pea sized gravel spred at 6 Cubic decimeter per square metre including preparation of surface but excluding grading complete with Bitumen felt (Hessian base) type 3 grade I conforming to IS 1322.	cum	1785	184.80	329868
		Add/deduct 16.00% above DSR-2007			Total=Rs	389039.86 62246.38 451286.24
		NON SOR ITEM( quote the item rate only			Rebate (-)	10153.94
1	non sor	Removal of old tarfelt from the roof including brushing of surface, removal of rubish and other material to be disposed within a 50m lead as per instruction of Engineer in charge.	sqm	1785	7.00	12495.00
		(Rupees four lakhs fifty three thousand six hundred twenty seven and paise thirty only).			Total=R s	4,53,627.30



No. PK/Civil/ 1616/ 312 Dated 10.06.2010

To

M/s Tiki Tar Industries, R.S. Bhandari Marg. INDORE.

#### **AWARD LETTER**

REGISTERED AD. / BY HAND.

Sub: Tarfelting of Type-III, Type-III and MQ at Congress Nagar

of Pathakhera Area.

Ref: NIT.No. S-38/2009-10 dated 25.01.2010

Dear Sir,

With reference to your tender dated 09.02.2010, the management of the company is pleased to award you the subject work at your quoted revised rate 16.00% above the estimated cost based on DSR-2007 including the rabate of 05.00% on your overall quoted rate & NON SOR Item @ Rs 7.00/-m2. The total cost of work comes to Rs 4,53,937.76/-(Rupees four lakhs fifty three thousand nine hundred thirty seven and paise seventy six only). This award is subject the following terms and conditions:

1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue

- of this award letter or the actual date of handing over the site whichever is latter and shall be completed within 02 (one)month.
- 2) The EMD of Rs 4228/- deposited by you vide DD. No.952472 dated 06.01.2010 has been treated as part of SD/Performance Security. To make 5% of the award value as Performance Security, you have to deposit the balance amount of Rs 18,469/- within twenty-eight days of issue of this letter either in the form of DD or in cash with the Chief Cashier, Pathakhera Area. In addition to the above, further 5% of bill value
  - shall be deducted from each on a/c bills as Retention Money to make the total security deposit to the extent of Rs 45,394/-. Both the money shall remain at the disposal of the company as Security Deposit and shall not carry any interest.
- 3) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.
- 4) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.
- The contractor shall indemnify the WCL against all claims for compensation under provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause shall be final and conclusive.

- 6) The tender for tarfelting work shall be submitted by manufacturer only having ISI Licence.
- 7) The performance guarantee shall be for five year from the date of completion on Non judicial stamp paper of Rs 100/-
- 8) 90% of th security deposit shall be released after expiry of one year from the date of completion of work after issue of no-defect certificate.
- 9) Balance 10% of security deposit shall be released after expiry of five years or performance guarantee period.(Ref.NIT p.n0.47).
- 10) Arrangement of water required for the work and drinking purpose shall be your responsibility.
- 11) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
- 12) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the SE(Civil)PKD Dn., for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

STAFF OFFICER (CIVIL), WCL, PATHAKHERA AREA.

#### Copy to:

- 1) The GM, Pathakhera Area.
- 2) The Dy.CME(P&P), Pathakhera Area.
- 3) The Dy.CPM,Pathakehra Area.
- 4) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/PKD/BC/10-11/special rep./02 dt. 09.06.2010 for Rs 4,53,938/- .
- 5) The SE(C), PKD Dn., for further needful action.
- 6) The PM (Welfare), Pathakhera Area
- 7) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

## BILL OF QUANTITY

Tarfelting of Type-II, Type-III and Miner qtrs at Congress Nagar at Pathakhera Area.

	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
1	22.14.1	Grading roof for water treatment with cement concrete 1:2:4 (1 cement:2 coarse sand : 4 graded stone aggregate 20mm nominal size.)	cum	32	3314.95	106078.4
2.		Providing and laying four courses water proofing treatment with bitumen felt over roofs consisting of first and third courses of blown bitumen 85/25 or 90/15 conforming to IS:702 applied hot @ 1.45 kg/sqm of area of each course, second course of roofing felt type 3 Grade-I (hession based self finished bitumen felt) manufactured by Bengal Bitumen, STP Ltd. Arcus Ltd.etc. and fourth and final course of stone grit 6mm and down size or pea sized gravel spred at 6 Cubic decimeter per square metre including preparation of surface but excluding grading complete with Bitumen felt (Hessian base) type 3 grade I conforming to IS 1322.	cum	1600	184.80	295680
						401758.40 64281.34
		Add 16.00% above DSR-2007			Total=Rs	466039.74
		NON SOR ITEM( quote the item rate only				(-)23301.99
1		Removal of old tarfelt from the roof including brushing of surface, removal of rubish and other material to be disposed within a 50m lead as per instruction of Engineer in charge.	sqm	1600	7.00	11200.00
		(Rupees four lakhs fifty three thousand nine hundred thirty seven and paise seventy six only).			Total=Rs	4,53,937.76



No. PK/Civil/ 1617/ 312 Dated 10.06.2010

То

M/s Mehandipur Balaji Fly Ash Bricks Contractor, Ghoradongari **AWARD LETTER** 

REGISTERED AD. / BY HAND.

Sub: Supplying and stacking of 3.00 lakhs fly ash lime bricks of size 190mm x 90mm x 90mm at different mine of Pathakhera Area.

Ref: NIT.No. P-09/2009-10 dated 25.03.2010

Dear Sir,

With reference to your tender dated 29.04.2010, the management of the company is pleased to award you the subject work at your quoted rate 2.55/-/Nos. The total cost of work comes to Rs 7,65,000/- (Rupees seven lakhs sixty five thousand only). This award is subject the following terms and conditions:

1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is latter and

shall be completed within 06 (six)months.

2) The contractor is advised to supply for bricks to different mine as given below:

#### Mines

#### Quantity to be supplied

Tawa-I Mine		87,000 Nos.
Tawa-II Mine		67,000 Nos.
Shobhapur Mine		30,000 Nos.
Chhatarpur-I Mine		30,000 Nos.
Chhatarpur-II Mine		30,000 Nos.
Sarni Mine		35,000 Nos.
Satpura-II Mine		10,000 Nos.
For Civil works & PKD Mine		11,000 Nos.
	Total	2 00 000 Noc

Total = 3,00,000 Nos.

- 3) The EMD of Rs 8010/- deposited by you vide B.C. No.580605 dated 28.04.2010 has been treated as part of SD/Performance Security. To make 5% of the award value as Performance Security, you have to deposit the balance amount of Rs 30240/- within twenty-eight days of issue of this letter either in the form of DD or in cash with the Chief Cashier, Pathakhera Area. In addition to the above, further 5% of bill value shall be deducted from each on a/c bills as Retention Money to make the total security deposit to the extent of Rs 76500/-. Both the money shall remain at the disposal of the company as Security Deposit and shall not carry any interest.
- 4) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.
- 5) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.

#### // 2 //

- The contractor shall indemnify the WCL against all claims for compensation under provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause—shall be final and conclusive.
- 7) Arrangement of water required for the work and drinking purpose shall be your responsibility.
- 8) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
- 9) Contractor has submitted in writing from the Service Tax authority that the Service Tax shall be applicable beyond Rs 9.00 turnover.
- 10) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the Sr.EE(Civil)AHQ, for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

STAFF OFFICER (CIVIL), WCL, PATHAKHERA AREA.

#### Copy to:

- 1) The GM, Pathakhera Area.
- 2) The Dy.CME(P&P), Pathakhera Area.
- 3) The Dy.CPM, Pathakehra Area.
- 4) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/PKD/BC/10-11/OCW surface/17 dt. 09.06.2010 for Rs 7,65,000/- .
- 5) The Sr.EE(C), AHQ, for further needful action.
- 6) The PM (Welfare), Pathakhera Area
- 7) All A.W.C. Member (Throught PM(Welfare) along with copy of BOQ.
- 7) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

### BILL OF QUANTITY

Name of Work:: Supply and stacking of 3.00 lakhs fly ash lime bricks of size 190mmx90mmx at different mines of Pathakhera Area.

Sl.No	Description of Item	Unit	Qnty.	Rate	Amount
	Supplying and stacking of fly ash bricks conforming to IS: 12894	Nos	3,00,000.00		

including loading, unloading, transportation upto site including royalty etc. complete. Class designation of standard size 190mm x 90mmx90mm at different mines of Pathakhera Area as per Instruction of E/Incharge.			
		Total = Rs	



No. PK/Civil/ 1618/ 338 Dated 17.06.2010

To

Shri Arvind Singh Contractor, PATHAKHERA-460 449.

#### **AWARD LETTER**

#### **REGISTERED AD. / BY HAND.**

Sub: Making arrangement of toilet and room for keeping record

for survey office of Pathakhera Area.

Ref: NIT.No. S-42/2009-10 dated 24.02.2010

Dear Sir,

With reference to your tender dated 09.03.2010, the management of the company is pleased to award you the subject work at your quoted rate 20.90% below the estimated cost based on DSR-2007. The total cost of work comes to **Rs 1,22,555.91/- (Rupees one lakh twenty two thousand five hundred fifty five and paise ninety one only)**. This award is subject the following terms and conditions:

- 1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is latter and shall be completed within 01 (one)month.
- 2) The EMD of Rs 1550/- deposited by you vide B.C. No.579977 dated 08.03.2010 has been treated as part of SD/Performance Security. To make 5% of the award value as Performance Security, you have to deposit the balance amount of Rs 4,578/- within twenty-eight days of issue of this letter either in the form of DD or in cash with the Chief Cashier, Pathakhera Area. In addition to the above, further 5% of bill value shall be deducted from each on a/c bills as Retention Money to make the total security deposit to the extent of Rs 12,256/-. Both the money shall remain at the disposal of the company as Security Deposit and shall not carry any interest.
- 3) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.
- 4) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.
- The contractor shall indemnify the WCL against all claims for compensation under provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money

paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause shall be final and conclusive.

- 7) Arrangement of water required for the work and drinking purpose shall be your responsibility.
- 8) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
- 9) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the Sr.EE(Civil)AHQ, for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

STAFF OFFICER (CIVIL), WCL, PATHAKHERA AREA.

#### Copy to:

- 1) The GM, Pathakhera Area.
- 2) The Dy.CME(P&P), Pathakhera Area.
- 3) The Dy.CPM,Pathakehra Area.
- 4) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/ PKD/BC/10-11/OCW surface/22 dt. 15.06.2010 for Rs 1,22,556/- .
- 5) The Sr.EE(C), AHQ, for further needful action.
- 6) The PM (Welfare), Pathakhera Area
- 7) All A.W.C. Member (Throught PM(Welfare) along with copy of BOQ.
- 7) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

### Making arrangement of toilet and room for keeping record for survey office of Pathakhera Area.

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
	2.8.1 P-64	Earth work in excavation by mechanical means (Hydraulic excavator)/manual means in foundation trenches or drains (not exceeding 1.5m in width or 10sqm on plan) including dressing of sides and ramming of bottoms, lift upto 1.5m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50m. All kinds of soil.	m3	24.00	103.40	2481.60
2	4.1.8 P-79	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering- All work up to plinth level:1:4:8 (1 cement:4 coarse sand:8 graded stone aggregate 40mm nominal size).	cum	3.60	2449.00	8816.40
3	6.34.2 P-102 (-) 235.65	Brick work with modular fly ash lime bricks (FALG Bricks) conforming to IS: 12894-2002, class designation 100 average compressive strength in super structure above plinth level up to floor V level in: Cement mortar: 1:6 (1 cement:6 coarse sand).	cum	7.60	2047.64	15562.06
4	6.34.2 P-102	Brick work with modular fly ash lime bricks (FALG Bricks) conforming to IS: 12894-2002, class designation 100 average compressive strength in super structure above plinth level up to floor V level in: Cement mortar: 1:6 (1 cement:6 coarse sand).	cum	8.10	2283.30	18494.73

5 5.1.3 P-88	Providing and laying in position specified grade of reinforced cement concrete excluding the cost of centering, shuttering, finishing and reinforcement - All work up to plinth level: 1:2:4 (1 cement:2 coarse sand:4 graded stone aggregate 20mm nominal size).	cum	0.50	3359.6	1679.8
6 5.3 P-88	Reinforced cement concrete work in beams, suspended floors, foofs having slope up to 15 landings, balconies, shelves, chajjas, lintels, bands, plain window sills, staircases and spiral stair cases up to floor five level excluding the cost of centering, shuttering, finishing and reinforcement with 1:2:4 (1 cement:2 coarse sand:4 graded stone aggregate	m3	3.30	3673.85	12123.71
7 5.9.5 P-89	20mm nominal size). Centering and shuttering including strutting, propping etc. and removal of form for: Lintels, beamns, plinth beams, girders, bressumers and cantilevers.	sqm	8.50	162.65	1382.53
8 5.9.4 P-89	Centering and shuttering including strutting, propping etc. and removal of form for: Shelves (Cast in situ).	sqm	14.40	187.35	2697.84
9 5.9.3 P-89	Centering and shuttering including strutting, propping etc. and removal of form for: Suspended floor, slab.	sqm	15.20	187.35	2847.72
10 5.22.3 P-92	Reinforcement for RCC work including straightening, cutting, bending, placing in position and binding all complete. Cold twisted bars.	kg	380.00	42.7	16226.00
11 2.25 P-67	Filling available excavated earth (excluding rock) in trenches, plinth, sides of foundations etc. in layers not exceeding 20cm in depth, consolidating each deposited layer by ramming and watering, lead up to 50m and lift up to 1.5m.	cum	6.00	45.7	274.20
12 13.1.2	12mm cement plaster of mix: 1:6	sqm	120.00	67.65	8118.00
P-201 13 13.16.1 P-202	(1cement : 6 fine sand). 6mm cement plaster of mix: 1:3 (1 cement:3 fine sand).	sqm	26.00	62.15	1615.90
14 13.7.2 P-201	12mm cement plaster finished with a floating coat of neat cement of mix: 1:4 (1 cement :4 fine sand)	sqm	9.00	97.90	881.10

15 11.3.1 P-172	Cement concrete flooring 1:2:4 (1 cement:2 coarse sand:4 graded stone aggregate) finished with a floating coat of neat cement inclkuding cement slurry, but excluding the cost of nosing of steps etc. complete. 40mm thick with 20mm nominal size stone	m2	20.00	192.95	3859.00
16 11.37 P-177	aggregate. Providing and laying Ceramic glazed floor tiles 300x300mm (thickness to be specified by the manufacturer) of Ist quality conforming to IS: 15622 of approved make in colours such as white, Ivory, Grey, Fume Red Brown, laid on 20mm thick Cement Mortar 1:4 (1 Cement:4 Coarse sand) including pointing the joints with white cement and matching pigment etc. complete.	m2	3.15	598.65	1885.75
17 11.36 P-177	Providing and fixing Ist quality ceramic glazed wall tiles conforming to IS: 15622 (thickness to be specified by the manufacture) of apporved make in all colours, shades except burgundy, bottle green, black of any size as approved by Engineer-incharge in skirting, risers of steps; and dados over 12mm thick bed of cement Mortar 1:3 (1 cement:3 coarse sand) and jointing with grey cement slurry @ 3.3kg per sqm including pointing in white cement mixed with pigment of matching shade complete.	m2	7.60	556.6	4230.16
18 10.13 P-164	Providing and fixing T-iron frames for doors, windows and ventilators of mild steel Tee-sections, joints mitred and welded with 15x3mm lugs 10cm long embedded in cement concrete blocks 15x10x10cm of 1:3:6 (1 cement:3 coarse sand: 6 graded stone aggregate 20mm nominal size) or with wooden plugs and screws or with bolts and nuts as require including fixing of necessary butt hinges and screws and applying a priming coat of		37.00	51.15	1892.55
19 9.5.2.1 P- 136	approved steel primer.  Providing and fixing panel led or panel led and glazed shutters for doors, windows and clerestory windows including ISI marked black enameled M.S. Butt hinges with necessary screws excluding, panelling	sqm	3.3	899.7	2969.01

which will be paid for separately. 35Mm thick shutters.

20 9.7.2 137	P- Providing and fixing paneling or paneling and glazing in paneled or paneled or glazed shutters for doors, windows and clerestory windows area of opening for panel inserts excluding portion inside groovers or rebates to be measured). Paneling for paneled or paneled and glazed shutters 25mm to 40mm thick.	sqm	1.65	711.25	1173.56
21 5.18.2 P-91	Providing precast cement concrete Jali 1:2:4 (1 cement: 2 coarse sand:4 graded stone aggregate 6mm nominal size) reinforced with 1.6 mm dia mild steel wire including centering and shuttering, roughening cleaning, fixing and finishing in cement mortar 1:3 (1 cement:3 fine sand) etc.  Complete excluding plastering of the jambs, sills and soffits. 40Mm thick.	sqm	0.72	304.05	218.92
22 14.42.1 P-219		sqm	98.00	4.10	401.80
23 14.45.1	,	sqm	176.00	14.90	2622.40
24 13.41.1 P-204	,	m2	57.00	41.55	2368.35
25 13.43.1 P-204	-	sqm	50.00	17.20	860.00
26 14.54.1 P-220	-	sqm	30.30	22.85	692.36
27 13.62.1 P-206	Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade: Two or more coats on new work over an under coat of suitable shade with ordinary paint of approved brand and manufacture.		8.60	51.30	441.18

28 13.44.1 P-204	Finishing walls with water proofing cement paint of required shade: New work (Two or more coats applied @ 3.84kg/10sqm).	sqm	41.00	30.80	1262.80
29 14.43 P-219	Removing white or colur wash by scrapping and sand papering and preparing the surface smooth including necessary repairs to scratches etc. complete.	sqm	23.00	3.20	73.60
30 15.12.1 P-227	Dismantling doors, windows and clerestory windows (steel or wood) shutter including chowkhats, architravae, holdfasts etc. complete and stacking within 50m lead: Of area	each	1.00	54.6	54.60
31 17.7.3 P-264	3 sqm.metres. Providing and fixing wash basin with C.I. Brackets 15mm C.P. Brass pillar taps, 32mm C.P. Brass waste of standard pattern, including painting of fittings and brackets, cutting and making good the walls wherever require. White Vitreous China Wash	each	1.00	1176.10	1176.10
32 17.2.1 P-263	basin size 550x400mm with a pair of 15mm C.P. Brass pillar tap. Proviing and fixing whsite vitreous china pedestal type water closet) European type WC pan) with seat and lid 10 litre low level white PVC flushing cistern with manually controlled device (handle levaer) conforming to IS: 7231, with all fittings and fixtures complete including cutting and making good the walls and floors wherever required: WC pan with ISI marked white solid	each	1.00	2152.50	2152.50
33 18.48 P-300	plastic seat and lid.  Providing and placing on terrace (at all floor levels) polyethylene water storage tank ISI 12701 marked with cover and suitable locking arrangment and making necessary holes of inlet outlet and overflow pipes but without fittings and the base support for tank.	per litre	500.00	5.25	2625.00
34 18.10.1 P-292	Providing and fixing G.I. Pipes complete with G.I. Fittings and clamps, including cutting and making good the walls etc. 15mm dia nominal bore.	mtr	6	105.85	635.10
35 18.10.2 P-292	Providing and fixing G.I. Pipes complete with G.I. Fittings and clamps, including cutting and making good the walls etc. 20mm dia nominal	mtr	6.00	133.85	803.10

bore.

36 18.10.3 P-292	Providing and fixing G.I. Pipes complete with G.I. Fittings and clamps, including cutting and making good the walls etc. 25mm dia nominal bore.	mtr	6.00	179.65	1077.90
37 18.15.1 P-293	Providing and fixing brass bib cock of approved quality: 15mm nominal bore.	each	1.00	191.70	191.70
38 18.16.1 P-293	Providing and fixing brass stop cock of approved quality: 15mm nominal bore.	each	2.00	191.70	383.40
39 17.32.2 P268	Providing and fixing mirror of spuperior glass (of approved quality) and of required shape and size with plastic moulded frame of approved make and shade with 6mm thick hard board backing: Oval shape 453x357mm	each	1.00	465.10	465.10
40 4.17	Making plinth protection 50mm thick of cement concrete 1:3:6 (1 cement:3 coarse sand:6 graded stone aggregate 20mm nominal size) over 75mm bed by dry brick ballast 40mm nominal size well rammed and consolidated and grouted with fine sand including finishing the top smooth.	sqm	7.50	222.65	1669.87
41 22.14.1	Grading roof for water treatment with cement concrete 1:2:4 (1 cement:2 coarse sand : 4 graded stone aggregate 20mm nominal size.)	cum	1.00	3314.95	3314.95
42 21.1.1.1 P-337	Providing and fixing aluminium work for doors, windows, ventilators and partitions with extruded built up standard tubula sections/appropriate Z sections and other sections of approved make conforming to IS: 733 and IS:1285 fixed with rawl plugs and screws or with fixing clips or with expansion hold fasteners including necessary filling up of gaps at junctions, at top, bottom and sides with rust free, straight mitred and jointed mechanically wherever required including cleat angle Aluminium snap beading for glazing/panelling drawings and the directions of Engineer-in-charge (Glazing and panelling to be paid for separately): for fixed portion Anodised aluminium	kg	20.00	290.45	5809.00

(anodised transparent or dyed to required shade according to ID:1868 Minimum anodic coating of grade AC 15).

Providing and fixing aluminium work kg

paid in basic item): with float glass

panes of 5.50mm thickness.

43 21.1.2.1

P-337 for doors, windows, ventilators and partitions with extruded built up standard tubula sections/ appropriate Z sections and other sections of approved make conforming to IS: 733 and IS:1285 fixed with rawl plugs and screws or with fixing clips or with expansion hold fasteners including necessary filling up of gaps at junctions, at top, bottom and sides with rust free, straight mitred and jointed mechanically wherever required including cleat angle Aluminium snap beading for glazing/ panelling drawings and the directions of Engineer-in-charge (Glazing and panelling to be paid for separately): for fixed portion Anodised aluminium (anodised aluminium(anodised transparent or dyed to required shade according to ID:1868 Minimum anodic coating of grade AC 15). 44 21.3.2 Providing and fixing glazing in 8.10 673.55 5455.76 sqm P-338 aluminim door, window, ventilator shutters and partitions etc. with PVC/neoprene gasket etc. complete as per the architectural drawing and the directions of engineer-in-charge. (Cost of aluminium snap beading shall be

29.00 310.45

9003.05

45 19.1.1 P-315	Providing laying and jointing glazed stoneware pipes grade "A" with stiff mixture of cement mortar in the proportion of 1:1 (1 cement:1 fine sand) including testing of joints etc. complete.	mtr	15.00	105.90	1588.50
46 9.62.2 P-145	Providing and fixing ISI marked oxidised M.S. Sliding door bolts with nuts and screww etc. Complete. 250X16mm.	each	2.00	69.65	139.30
47 9.63.4 P-145	Providing and fixing ISI marked oxidised M.S. Tower bolt black finish (Barrel type) with necessary screws etc. Complete: 100x10mm.	each	2.00	17.25	34.50
48 9.66.1 P-146	Providing and fixisng ISI marked oxidised M.S. Hnadles conforming to IS: 4992 with necessary screws etc. Complete: 125mm.	each	4.00	10.20	40.80
49 4.12 P- 81	Extra for providing and mixing water proofing material in cement concrete work @ 1 kg per 50kg of cement.	per 50kg cement	6.00	27.45	164.70
	Deduct 20.90% below DSR-2007.			Total =	154937.94
					32382.03
					122555.91

(Rupees one lakh twenty two thousand five hundred fifty five and paise ninety one only.



No. PK/Civil/ 1619/ 339 Dated 17.06.2010

To

Shri Narendra Ku. Singh Contractor, PATHAKHERA-460 449.

#### **AWARD LETTER**

#### **REGISTERED AD. / BY HAND.**

Sub: Taking of old casing pipe of 150mm dia from existing

borehole of PK-I mines of Pathakhera Area.

Ref: NIT.No. S-42/2009-10 dated 24.02.2010

Dear Sir.

With reference to your tender dated 09.03.2010, the management of the company is pleased to award you the subject work at your quoted Item rate 525/-/Rmt. The total cost of work comes to **Rs 91,875/- (Rupees Ninety one thousand eight hundred seventy five only)**. This award is subject the following terms and conditions:

- 1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is latter and shall be completed within 01 (one)month.
- 2) The EMD of Rs 977/- deposited by you vide M.R. No.3652 dated 10.02.2010 has been treated as part of SD/Performance Security. To make 5% of the award value as Performance Security, you have to deposit the balance amount of Rs 3,617/- within twenty-eight days of issue of this letter either in the form of DD or in cash

with the Chief Cashier, Pathakhera Area. In addition to the above, further 5% of bill value shall be deducted from each on a/c bills as Retention Money to make the total security deposit to the extent of Rs 9,188/-. Both the money shall remain at the disposal of the company as Security Deposit and shall not carry any interest.

- 3) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.
- 4) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.
- The contractor shall indemnify the WCL against all claims for compensation under provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause—shall be final and conclusive.

- 7) Arrangement of water required for the work and drinking purpose shall be your responsibility.
  - 8) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
- 9) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the SE(Civil)PKD Civil Dn., for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

STAFF OFFICER (CIVIL), WCL, PATHAKHERA AREA.

#### Copy to:

- 1) The GM, Pathakhera Area.
- 2) The Dy.CME(P&P), Pathakhera Area.
- 3) The Dy.CPM,Pathakehra Area.
- 4) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/ PKD/BC/10-11/OCW surface/21 dt. 15.06.2010 for Rs 91,875/- .
- 5) The SE(C)PKD Civil Dn, for further needful action.
- 6) The PM (Welfare), Pathakhera Area
- 7) All A.W.C. Member (Throught PM(Welfare) along with copy of BOQ.
- 7) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

### BILL OF QUANTITY

### Taking out old casing pipe of 150mm dia from existing borehole of PK-I mines

Sl. Code l No.	No. Description of Item	Unit	Qnty.	Rate	Amount
1 2.6.1 P-64	Taking out 150mm dai M.S. Casing pipe with the help of drilling machine from the existing bore hole and dismantling the same by necescary cutting including the cost of machinary, oil, diedel, labour etc, and stacking of pipe at site as directed by engineer in charge.	m	175.0	0	
	Please quote the item rate only			Total=I	Rs



No. PK/Civil/ 1620/ 340 Dated 17.06.2010

То

Shri R.B. Mourya Contractor, PATHAKHERA-460 449. **AWARD LETTER** 

REGISTERED AD. / BY HAND.

Sub: Flooring of existing shed near caplamp room at Tawa-II Mine

of Pathakhera Area.

Ref: NIT.No. S-32/2009-10 dated 19.11.2009

Dear Sir,

With reference to your tender dated 30.11.2009, the management of the company is pleased to award you the subject work at your quoted rate 23.90% below the estimated cost DSR-2007. The total cost of work comes to Rs 1,77,801.17/- (Rupees one lakh seventy seven thousand eight hundred one and paise seventeen only). This award is subject the following terms and conditions:

1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is latter and shall be completed within 02 (two)months.

- 2) The EMD of Rs 2337/- deposited by you vide B.C. No.883892 dated 30.11.2009 has been treated as part of SD/Performance Security. To make 5% of the award value as Performance Security, you have to deposit the balance amount of Rs 6,553/- within twenty-eight days of issue of this letter either in the form of DD or in cash with the Chief Cashier, Pathakhera Area. In addition to the above, further 5% of bill value shall be deducted from each on a/c bills as Retention Money to make the total security deposit to the extent of Rs 17,780/-. Both the money shall remain at the disposal of the company as Security Deposit and shall not carry any interest.
- 3) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.
- 4) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.
- The contractor shall indemnify the WCL against all claims for compensation under provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause—shall be final and conclusive.

- 7) Arrangement of water required for the work and drinking purpose shall be your responsibility.
- 8) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
- 9) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the SE(Civil)Tawa Civil Dn., for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

STAFF OFFICER (CIVIL), WCL, PATHAKHERA AREA.

#### Copy to:

- 1) The GM, Pathakhera Area.
- 2) The Dy.CME(P&P), Pathakhera Area.
- 3) The Dy.CPM,Pathakehra Area.
- 4) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/ PKD/BC/10-11/OCW surface/20 dt. 15.06.2010 for Rs 1,77,801/- .
- 5) The SE(C)Tawa Civil Dn, for further needful action.
- 6) The PM (Welfare), Pathakhera Area
- 7) All A.W.C. Member (Throught PM(Welfare) along with copy of BOQ.
- 7) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

### BILL OF QUANITY

Flooring of the existing shed near caplamp room at Tawa-II Mine of Pathakhera Area.

T						
SI. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
1	2.6.1 P-64	Earth work in excavation by mechanical means (Hydraulic excavator)/manual means over areas(exceeding 30cm in depth 1.5m in width as well as 10 sqm on plan) including disposal of excavated earth, lead up to 50m and lift up to 1.5m disposed erth to be levelled and neatly dressed. All kinds of soil.	cum	15.00	101.85	1527.75
2	4.1.9 P-79	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering- All work up to plinth level: 1:4:8 (1 cement:4 fine sand:8 graded stone aggregate 40 mm nominal size).	cum	3.61	2296.15	8289.10
3	6.34.2 (-) 6.5 P-102	Brick work with modular fly ash lime bricks (FALG Bricks) conforming to IS: 12894-2002, class designation 100 average compressive strength in super structure above plinth level up to floor V level in: Cement mortar: 1:6 (1 cement:6 coarse sand).	cum	10.83	2093.30	22670.44
4	16.3.1 P-240	Supplying and stacking at site. 90mm to 45mm size stone aggregate.	cum	85.68	742.30	63600.26
5	16.3.10	Supplying and stacking at site. Moorum.	cum	25.70	421.85	10841.55
6	2.25 P-67	Filling available excavated earth (excluding rock) in trencehs, plinth, sides of foundations etc. in layaers not exceeding 20cm in depth, consolidating each deposited layer by ramming and wwatering, lead upto 50m and lift upto 1.5m.	cum	71.40	45.70	3262.98
	4.1.3 P-79	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering- All work up to plinth level: 1:2:4 (1 cement:2 fine sand:4 graded stone aggregate 20 mm nominal size).	cum	23.80	3257.45	77527.31

7	Cement concrete flooring 1:2:4 (1 cement:2 coarse sand:4 graded stone aggregate) finished with a floating coat of neat cement including cement slurry, but excluding the cost of nosing of steps etc. complete. 40mm thick with 20mm nominal size stone aggregate.	m2	238.00	192.95	45922.10
	Deduct 23.90% below DSR-2007 (Rupees one lakh seventy seven thousand eight hundred one and paise seventeen only.			Total=Rs	233641.49 55840.32 1,77,801.17



No. PK/Civil/ 1621/ 341 Dated 17.06.2010

То

Shri Yashwant Mandwe Contractor, SARNI.

**AWARD LETTER** 

REGISTERED AD. / BY HAND.

Sub: Repair of SOM chamber at Tawa-I Mine of Pathakhera Area.

Ref: NIT.No. Q-13/2009-10 dated 12.11.2009

Dear Sir,

With reference to your tender dated 20.11.2009, the management of the company is pleased to award you the subject work at your quoted Revised rate 13.50% below the estimated cost DSR-2007. The total cost of work comes to **Rs 32,487.28/- (Rupees thirty two thousand four hundred eighty seven and paise twenty eight only)**. This award is subject the following terms and conditions:

1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is latter and shall be completed within 15 (fifteen)days.

- 2) The EMD of Rs 376/- deposited by you vide B.C. No.883871 dated 20.11.2009 has been treated as part of SD/Performance Security. To make 5% of the award value as Performance Security, you have to deposit the balance amount of Rs 1,248/- within twenty-eight days of issue of this letter either in the form of DD or in cash with the Chief Cashier, Pathakhera Area. In addition to the above, further 5% of bill value shall be deducted from each on a/c bills as Retention Money to make the total security deposit to the extent of Rs 3,249/-. Both the money shall remain at the disposal of the company as Security Deposit and shall not carry any interest.
- 3) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.
- 4) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.
- The contractor shall indemnify the WCL against all claims for compensation under provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause—shall be final and conclusive.

- 7) Arrangement of water required for the work and drinking purpose shall be your responsibility.
- 8) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
- 9) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the SE(Civil)Tawa Civil Dn., for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

STAFF OFFICER (CIVIL), WCL, PATHAKHERA AREA.

- 1) The GM, Pathakhera Area.
- 2) The Dy.CME(P&P), Pathakhera Area.
- 3) The Dy.CPM,Pathakehra Area.
- 4) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/ PKD/BC/10-11/OCW surface/19 dt. 15.06.2010 for Rs 32,487/- .
- 5) The SE(C)Tawa Civil Dn, for further needful action.
- 6) The PM (Welfare), Pathakhera Area
- 7) All A.W.C. Member (Throught PM(Welfare) along with copy of BOQ.
- 7) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).



No. PK/Civil/ 1622/ Dated 26.06.2010

To

M/s Gladstone Lyall Employees Industrial AWARD LETTER Co-operative Society Ltd. KOLKATA - 700 001.

REGISTERED AD. / BY HAND.

Sub: Tarfelting of Type-III qtrs at Jagjiwan Nagar of Pathakhera colony

of Pathakhera Area.

NIT.No. S-38/2009-10 dated 25.01.2010 Ref:

Dear Sir,

With reference to your tender dated 09.02.2010, the management of the company is pleased to award you the subject work at your quoted rate 16.00% above the estimated cost DSR-2007(rebate 2.5%). The total cost of work comes to Rs 4,46,884.57/- (Rupees four lakhs forty six thousand eight hundred eighty four and paise fifty seven only). This award is subject the following terms and conditions:

- The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue 1) of this award letter or the actual date of handing over the site whichever is latter and shall be completed within 02 (two)months.
- 2) The EMD of Rs 4074/- deposited by you vide DD. No.952471 dated 06.02.2010 has been treated as part of SD/Performance Security. To make 5% of the award value as Performance Security, you have to deposit the balance amount of Rs 18,271/- within twenty-eight days of issue of this letter either in the form of DD or in cash Chief Cashier, Pathakhera Area. In addition to the above, further 5% of bill with the value shall be deducted from each on a/c bills as Retention Money to make the total security deposit to the extent of Rs 44,689/-. Both the money shall remain at the disposal of the company as Security Deposit and shall not carry any interest.
- 3) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.

- 4) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.
- The contractor shall indemnify the WCL against all claims for compensation under provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause—shall be final and conclusive.

Contd...2/-

- 6) Arrangement of water required for the work and drinking purpose shall be your responsibility.
  - 7) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
- 8) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the SE(Civil)PKD Civil Dn., for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

STAFF OFFICER (CIVIL), WCL, PATHAKHERA AREA.

- 1) The GM, Pathakhera Area.
- 2) The Dy.CME(P&P), Pathakhera Area.
- 3) The Dy.CPM,Pathakehra Area.
- 4) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/PKD/BC/10-11/Residential/ special rep./03 dt. 23.06.2010 for Rs 4,46,885/- .
- 5) The SE(C)PKD Civil Dn, for further needful action.
- 6) The PM (Welfare), Pathakhera Area
- 7) All A.W.C. Member (Throught PM(Welfare) along with copy of BOQ.
- 8) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

# BILL OF QUANIITY

Tarfelting of Type-III qtrs. At Jagjeevan Nagar at Pathakhera colony of Pathakhera Area.

	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
1	22.14.1	Grading roof for water treatment with cement concrete 1:2:4 (1 cement:2 coarse sand : 4 graded stone aggregate 20mm nominal size.)	cum	17.62	3314.95	58409.42
2.		Providing and laying four courses water proofing treatment with bitumen felt over roofs consisting of first and third courses of blown bitumen 85/25 or 90/15 conforming to IS:702 applied hot @ 1.45 kg/sqm of area of each course, second course of roofing felt type 3 Grade-I (hession based self finished bitumen felt) manufactured by Bengal Bitumen, STP Ltd. Arcus Ltd.etc. and fourth and final course of stone grit 6mm and down size or pea sized gravel spred at 6 Cubic decimeter per square metre including preparation of surface but excluding grading complete with Bitumen felt (Hessian base) type 3 grade I conforming to IS 1322.	cum	1763	184.80	325802.4
		Add/deduct% above or below DSR-2007			Total=Rs	384211.82
		NON SOR ITEM( quote the item rate only				
1	non sor	Removal of old tarfelt from the roof including brushing of surface, removal of rubish and other material to be disposed within a 50m lead as per instruction of Engineer in charge.	sqm	1763		
					Total=Rs	



No. PK/Civil/ 1623/ 366 Dated 21.06.2010

To

Shri Arvind Singh Contractor, PATHAKHERA.

# **AWARD LETTER**

# REGISTERED AD. / BY HAND.

Sub: Construction of storm water drain at Tawa-II U/G mine of Pathakhera Area.

Ref: NIT.No. S-37/2009-10 dated 05.01.2010

Dear Sir,

With reference to your tender dated 19.01.2010, the management of the company is pleased to award you the subject work at your quoted rate 22.10% below the estimated cost DSR-2007. The total cost of work comes to **Rs 1,75,952.78/- (Rupees one lakh seventy five thousand nine hundred fifty two and paise seventy eight only)**. This award is subject the following terms and conditions:

- 1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is latter and shall be completed within 03 (three)months.
- 2) The EMD of Rs 2260/- deposited by you vide B.C. No.884149 dated 16.01.2010 has

been treated as part of SD/Performance Security. To make 5% of the award value as Performance Security, you have to deposit the balance amount of Rs 6538/- within twenty-eight days of issue of this letter either in the form of DD or in cash with the Chief Cashier, Pathakhera Area. In addition to the above, further 5% of bill value shall be deducted from each on a/c bills as Retention Money to make the total security deposit to the extent of Rs 17,596/-. Both the money shall remain at the disposal of the company as Security Deposit and shall not carry any interest.

- 3) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.
- 4) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.
- The contractor shall indemnify the WCL against all claims for compensation under provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause—shall be final and conclusive.

Contd...2/-

- 7) Arrangement of water required for the work and drinking purpose shall be your responsibility.
- 8) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
- 9) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the SE(Civil)Tawa Civil Dn., for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

STAFF OFFICER (CIVIL), WCL, PATHAKHERA AREA.

- 1) The GM, Pathakhera Area.
- 2) The Dy.CME(P&P), Pathakhera Area.
- 3) The Dy.CPM,Pathakehra Area.
- 4) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/ PKD/BC/10-11/OCW surface/29 dt. 21.06.2010 for Rs 1,75,953/- .
- 5) The SE(C)Tawa Civil Dn, for further needful action.
- 6) The PM (Welfare), Pathakhera Area
- 7) All A.W.C. Member (Throught PM(Welfare) along with copy of BOQ.
- 8) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

# BILL OF QUANTITY

# Construction of storm water drain at Tawa-II U/G Mine of Pathakhera Area/

SI. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
1	2.6 P-64	Earth work in excavation by mechanical means (Hydraulic excavator)/manual means over area (exceeding 30cm in depth, 1.5m in width as well as 10 sqm on plan) including disposal of excavated earth, lead up to 50m and lift up to 1.5m, disposed earth to be levaelled and neatly dressed. All kinds of soil.		121.00	101.85	12323.85
2	2.7.1	Earth work in excavation by mechanical means (Hydraulic excavator)/manual over areas( excedding 30cm in depth, 1.5m in width as well as 10 sqm on plan) including disposal of excavated earth, lead up to 50m and lift up to 1.5m, disposed earth to be levelled and neatly dressed. Ordinary rock.	cum	28.00	152.60	4272.80
3	4.1.7 P-79	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering- All work up to plinth level: 1:3:6 (1 cement:3 fine sand:6 graded stone aggregate 40mm nominal size).	cum	12.50	2560.20	32002.50
4	5.2.2 P-88	Reinforced cement concrete work in walls (any thickness), including attached pilasters, buttresses, plinth and string courses, fillets, columns, pillars, piers, abutments, posts and struts etc. up to floor five level excluding cost of centering, shuttering, finishing and reinforcement: 1:1.5:3 (1 cement:1.5 coarse sand:3 graded stone aggregate 20mm nominal size).	cum	17.20	4092.35	70388.42

5	5.3	Reinforced cement concrete work in beams, suspended floors, roofs having slope up to 15' landings, balconies, shelves, chajjas, lintels, bands, plain window sills, staircases and spiral stair cases up to floor; five level excluding the cost of centering, shuttering, finishing and reinforcement with 1:2:4 (1 cement:2 coarse sand: 4 graded stone aggregate 20mm nominal size).	m3	3.00	3673.85	11021.55
6	5.22.3 P-92	Reinforcement for RCC work including straightening, cutting, bending, placing in position and binding all complete. Cold twisted bars.	kg	1550.00	42.70	66185.00
7a	5.9.2 P-89	Centering and shuttering including strutting, propping etc. and removal of form for: Walls (any thickness) including attached pilasters, butteresses, plinth and string courses etc.	m2	151.00	180.40	27240.40
7b	5.9.3 P-89	Centering and shuttering including strutting, propping etc. and removal of form for: Suspended floors, roofs, landings, balconies and access platform	m2	13.00	187.35	2435.55
		Deduct 22.10% below DSR-2007.			Total=Rs	225870.07 49917.28
		(Rupees one lakh seventy five thousand nine hundred fifty two and paise seventy eight only).				175952.78



No. PK/Civil/ 1624/ Dated 22.06.2010

То

Shri S.S. Banait Contractor, PATHAKHERA. **AWARD LETTER** 

**REGISTERED AD. / BY HAND.** 

Sub: Repair/replacement of damaged water supply pipe fittings

at Residential qtrs at Pathakhera Area.

Ref: NIT.No. Q-02/2010-11 dated 27.04.2010

Dear Sir.

With reference to your quotation dated 07.05.2010 the management of the company is pleased to award you the subject work at your offered item rates as detailed below:

Sl	Description of item	Quantity	Rate	Amount
1.	G.I. Pipe complete.			
	a) 15mm dia	120.00m	135.00	16200.00
	b) 20mm dia	60.00m	210.00	12600.00
	c) 25mm dia	60.00m	265.00	15900.00
2.	Brass gateway valve -25mm	5.00Nos	297.00	1485.00
3.	PVC connection pipe-15mm	20.00Nos	38.20	764.00
4.	PVC rigid waste pipe-32mm	20.00Nos	49.00	980.00
5.	C.P. Brass angle valve -15mm	20.00Nos	139.00	2780.00
6.	LL flushing cistern -10 litres	5.00Nos	750.00	3750.00
7.	White vitreous china wash basin	5.00Nos	550.00	2750.00
8.	C.P. Brass coupling waste to wash	10.00Nos	58.00	580.00
	basin-32mm dia.			
9.	a) Ball valve -20mm dia	5.00Nos	350.00	1750.00
	b) Ball valve – 15mm dia	5.00Nos	248.00	1240.00
10.	PVC bib cock-15mm dia	100.00Nos	35.00	3500.00
	(Rupees Sixty four thousand two		Total =Rs	64,279.00
	hundred seventy nine only)			

- 1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is latter and shall be completed within 04 (four)months.
- 2) The EMD of Rs 495/- deposited by you vide B.C. No.580689 dated 05.05.2010 has been treated as part of SD/Performance Security. To make 5% of the award value as Performance Security, you have to deposit the balance amount of Rs 2,719/- within twenty-eight days of issue of this letter either in the form of DD or in cash with the Chief Cashier, Pathakhera Area. In addition to the above, further 5% of bill value shall be deducted from each on a/c bills as Retention Money to make the total security deposit to the extent of Rs 6427.90/-. Both the money shall remain at the disposal of the company as Security Deposit and shall not carry any interest.

Contn.....2/-

# // 2 //

- 3) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.
- 4) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.

- The contractor shall indemnify the WCL against all claims for compensation under provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause—shall be final and conclusive.
- 6) Arrangement of water required for the work and drinking purpose shall be your responsibility.
- 7) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
- 8) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the SE(Civil)PKD Civil Dn., for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

STAFF OFFICER (CIVIL), WCL, PATHAKHERA AREA.

- 1) The GM, Pathakhera Area.
- 2) The Dy.CME(P&P), Pathakhera Area.
- 3) The Dy.CPM, Pathakehra Area.
- 4) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/ PKD/BC/10-11/Water supply rep./03 dt. 22.06.2010 for Rs 64,279/- .
- 5) The SE(C)PKD Civil Dn, for further needful action.
- 6) The PM (Welfare), Pathakhera Area
- 7) All A.W.C. Member (Throught PM(Welfare) along with copy of BOQ.
- 8) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

Repair/replacement of damaged water supply pipe fittings at residential qtrs. at pathakhera Area.

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
1	18.10.1 P-292	Providing and fixing G.I. Pipes complete with G.I. Fittings and clamps, including cutting and making good the walls etc. 15mm dia nominal bore.	mtr	120.00	135.00	16200.00
2	18.10.2 P-292	Providing and fixing G.I. Pipes complete with G.I. Fittings and clamps, including cutting and making good the walls etc. 20mm dia nominal bore.	mtr	60.00	210.00	12600.00
3	18.10.3 P-292	Providing and fixing G.I. Pipes complete with G.I. Fittings and clamps, including cutting and making good the walls etc. 25mm dia nominal bore.	mtr	60.00	265.00	15900.00
4	18.17.1 P-293	Providing and fixing gun metal gate valve with C.I. Wheel of approved quality (screwed end): 25mm nominal bore.	Nos	5.00	297.00	1485.00
5	18.21.1 .1 P- 294	Providing and fixing uplasticised PVC connection pi;e with brass unions: 15mm nominal bore	Nos	20.00	38.2.00	764.00
6	17.28.2 .1 P- 1214	Providing and fixing PVC waste pipe for sink or wash basin including PVC waste fittings complete.32mm dia	Nos	20.00	49.00	980.00
7	17.7.3 P-264 (-)17.7.	Providing and fixing wash basin with C.I. Brackets 15mm C.P. Brass pillar taps, 32mm C.P. Brass waste of standard pattern, including painting of fittings and brackets, cutting and making good the walls wherever require. White Vitreous China Wash basin size 550x400mm with a pair of 15mm C.P. Brass pillar tap.(-) white Vitreous China Flat back wash basin size 550x400mm with single 15mm C.P. Brass pillar tap.	No	20.00	139.00	2780.00
8	17.18.1 P-266	Providing and fixing PVC low levael flushing cistern with manufally controlled device (handle lever)conforming to IS:7231, with all fittings and fixtures complete. 10litre capacity white	Nos	5.00	750.00	3750.00
9	17.25.2	Providing and fixing white vitreous china wash basin including making all connections but excluding the cost of fittings: Flat back wash basin of size	Nos	5.00	550.00	2750.00

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
		550x400mm.				
10	19.51	Providing and fixing C.P. Brass waste 32mm.	Nos	10.00	58.00	580.00
11	18.18.2 P-293	Providing and fixisng ball valve (brass) of approved quality, High or low pressure with plastic floats complete. 20Mm nominal bore.	Nos	5.00	350.00	1750.00
12	18.18.1 P-293	Providing and fixisng ball valve (brass) of approved quality, High or low pressure with plastic floats complete.  15Mm nominal bore.	Nos	5.00	248.00	1240.00
13	Analys ed rate	Providing and fixing PVC bib cock 15 mm dia.	Nos	100.00	35.00	3500.00
		(Rupees sixty four thousand two hundred seventy nine) only.			Total=	64279.00



No. PK/Civil/ 1625/ Dated 25.06.2010

To

M/s Sirocco Suppliers & Contractor, PATHAKHERA.

# **AWARD LETTER**

# **REGISTERED AD. / BY HAND.**

Sub: Repairing of quarters No. type-II-142, 95, 39, 83, type0-III qtr. No. 07,

73 & type-IV qtr.No. 36, 35, 25, 24 etc. at Pathakhera Area.

Ref: NIT.No. S-02/2010-11 dated 14.04.2010

Dear Sir.

With reference to your tender dated 25.05.2010, the management of the company is pleased to award you the subject work at your quoted rate 02.00% below the estimated cost DSR-2007 & NON SOR item, Item No.1 @ Rs 5.38/-/m2. The total cost of work comes to Rs 4,43,918.57/- (Rupees four lakhs forty three thousand nine hundred eighteen and paise fifty seven only). This award is subject the following terms and conditions:

- 1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is latter and shall be completed within 05 (five)months.
- 2) The EMD of Rs 4536/- deposited by you vide B.C. No.580585 dated 26.04.2010 has been treated as part of SD/Performance Security. To make 5% of the award value as Performance Security, you have to deposit the balance amount of Rs 17,660/- within

twenty-eight days of issue of this letter either in the form of DD or in cash with the Chief Cashier, Pathakhera Area. In addition to the above, further 5% of bill value shall be deducted from each on a/c bills as Retention Money to make the total security deposit to the extent of Rs 44,392/-. Both the money shall remain at the disposal of the company as Security Deposit and shall not carry any interest.

- 3) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.
- 4) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.
- The contractor shall indemnify the WCL against all claims for compensation under provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause—shall be final and conclusive.

Contd...2/-

- 7) Arrangement of water required for the work and drinking purpose shall be your responsibility.
- 8) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
- 9) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the SE(Civil)PKD Civil Dn., for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

STAFF OFFICER (CIVIL), WCL, PATHAKHERA AREA.

- 1) The GM, Pathakhera Area.
- 2) The Dy.CME(P&P), Pathakhera Area.
- 3) The Dy.CPM,Pathakehra Area.
- 4) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/PKD/BC/10-11/Residential/18 dt. 22.06.2010 for Rs 4,43,919/- .
- 5) The SE(C)PKD Civil Dn, for further needful action.
- 6) The PM (Welfare), Pathakhera Area
- 7) All A.W.C. Member (Throught PM(Welfare) along with copy of BOQ.
- 8) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

**Schedule**Repairing of qtrs. No. type-II-142,95,39,83, type-II qtrs. No.07,73,& type-IV qtrs. 36, 35, 25 & 24 etc. at Pathakhera colony at PKD Area.

S. No.	Description of Item	Unit	Quantity	Rate	Amount	Remarks DSR'07
1	Dismantling old plaster or skirting raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 metres lead.	Sqm	150.00	8.20	1230.00	15.56/231
2	12mm cement plaster of mix 1:6 (1cement:6 Coarse sand)	Sqm	350.00	72.70	25445.00	13.4.2/201
3	Demolishing cement concrete manually / by mechanical means including disposal of material within 50 metres lead in 1:3:6 or richer mix	Cum	5.00	368.45	1842.25	15.2.1/226
4	Cement concrete flooring 1:2:4 (1 cement: 2 coarse sand: 4 graded stone aggregate) finished with a floating coat of neat cement including cement slurry, rounding of edges and strips etc. but excluding the cost of nosing of steps etc. complete.40 mm thick with 20 mm nominal size stone aggregate.	Sqm	200.00	192.95	38590.00	11.3.1/172
5	12mm cement plaster finished with a floating coat of neat cement of mix: 1:4 ( 1 cement : 4 fine sand )	Sqm	50.00	97.90	4895.00	13.7.2/201
6	P/L in position CC of specified grade excluding the cost of centering and shuttering – All work upto plinth level. 1:3:6 (1 Cement: 3 coarse sand: 6 graded stone aggregate 40 mm nominal size.	Cum	5.00	3257.45	16287.25	4.1.3/79

			1			
7	Brickwork with modular fly ash lime bricks (FALG Bricks) conforming to	Cum	20.00	2283.30	45666.00	6.34.2/102
8	IS: 12894-2002, class designation 100 average compressive strength in super structure above plinth level upto floor V level in: Cement mortar 1:6 (1 cement: 6 coarse sand).  Providing and laying ceramic glazed floor tiles 300*300 mm thickness to be specified by the manufacturer) of 1st quality conforming to IS: 15622	Sqm	100.00	598.65	59865.00	11.37/177
9	of approved make in colours such as white, ivory, grey fume red, brown, laid on 20 mm thick cement mortar 1:4 (1 cement :4 coarse sand) including pointing the joints with white cement and matching pigments etc. complete. In floors  Providing and fixing 1st quality	Sqm	150.00	556.60	83490.00	11.36/177
	ceramic glazed tiles conforming to IS: 15622 (thickness to be specified by the manufacture) of approved make in all colours, shades except burgundy, bottle green, black of any size as approved by Engineer in charge in skirting, risers of steps and dados over 12 mm thick bed of cement mortar 1:3 (1 cement; 3 coarse sand) and jointing with grey cement slurry					
10	@ 3.3 kg per sqm including pointing in white cement mixed with pigment of matching shade complete  Kota stone slab flooring over 20 mm average) thick base laid over and jointed with grey cement slurry mixed with pigment to match the shade of the slab including rubbing and polishing complete with base of cement mortar 1:4 (1 cement: 4	Sqm	10.00	694.40	6944.00	11.26.1/176
11	coarse sand ) – 25 mm thick  White washing with lime to give an even shade Old work ( one or more	Sqm	1130.00	2.55	2881.50	14.42.2/219
12	Distempering with oil bound washable distemper of approved brand and manufacture to give an	Sqm	2000.00	14.90	29800.00	14.45.1/219

13	even shade. Old work ( one or more coats )  Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade . one or more coat on old work.	Sqm	1160.00	22.85	26506.00	14.54.1/220
14	Applying one coat of cement primer of approved brand and manufacture on wall surface: cement primer.	Sqm	350.00	17.29	6020.00	13.43.1/304
15 16	Providing and fixing white vitreous china pedestal type water closet (European type WC pan) with seat and lid, 10 litre low level white PVC flushing cistern with manually controlled device (handle lever) conforming to IS: 7231, with all fittings and fixtures complete including cutting and making good the walls and floors wherever required: WC pan with ISI marked white solid plastic seat and lid.  Providing and fixing wash basin with CI brackets, 15 mm CP brass pillar taps, 32 mm CP brass waste of standard pattern, including painting of fittings and brackets, cutting and making good the walls wherever require: White vitreous china flat back wash basin size 550 x 400 mm with single 15 m CP brass pillar tap.  Providing and fixing GI pipes complete with GI fittings and clamps, including cutting and making good the walls etc. internal work- exposed	Each	5.00	2152.50	10762.50	17.2.1/263
	on walls. 25 mm nominal bore	M	60.00	179.65	10779.00	18.10.3/292
18	20 mm nominal bore	M	120.00	133.85	16062.00	18.10.2/292
	15 mm nominal bore	M	180.00	105.85	19053.00	18.10.1/292
	Providing and fixing panelled or panelled and glazed shutters in paneled or paneled and glazed shutters for doors, windows and	Sqm	20.00	899.20	17994.00	9.5.2.1/136

19.	clerestory windows including ISI marked black enameled MS butt hinges [with necessary screws excluding paneling which will be paid for separately. Kiln seasoned and chemically treated hillock wood-35mm  Providing and fixing paneling or paneling and glazing in paneled or paneled or glazed shutters for doors, windows and clerestory windows [ area of opening for panel inserts excluding portion inside grooves or rebates to be measured ]. Panelling for paneled or paneled and glazed shutters 25 mm to 40 mm thick.	Sqm	12.00	711.25	85.35	9.7.2/137
	Deduct 2.00% below DSR-2007			Total=Rs (-)	443096.5 8861.93	
	NON SOR ITEM			Total=	434234.57	
20	Colour washing with lime to give an even shade as per the direction of engineer in charge.	sqm	1800	5.38	9684.00	
	(Rupees four lakhs forty three thousand nine hundred eighteen and paise fifty seven only).			Total=Rs	443918.57	



No. PK/Civil/ 1626/ Dated 07.07.2010

To

Shri Arvind Singh

**AWARD LETTER** 

#### REGISTERED AD. / BY HAND.

Sub: Construction of class room (4.00 x 6.00 mtr) at Tribal middle school at village chhatarpur (CSR work).

Ref: NIT.No. S-37/2010-11 dated 05.01.2010

Ref: LOI No. PK/Civil/1626/445 dated 29.06.2010.

Dear Sir,

With reference to your tender dated 19.01.2010, the management of the company is pleased to award you the subject work at your quoted rate 20.90% below the estimated cost DSR-2007. The total cost of work comes to **Rs 2,01,071.92/- (Rupees two lakhs one thousand seventy one and paise ninety two only)**. This award is subject the following terms and conditions:

- 1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is latter and shall be completed within 03 (three)months.
- 2) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.
- 4) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.
- The contractor shall indemnify the WCL against all claims for compensation under provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause—shall be final and conclusive.

Contd...2/-

- 6) Arrangement of water required for the work and drinking purpose shall be your responsibility.
  - 7) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
- 8) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the SE(Civil)Tawa., for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

STAFF OFFICER (CIVIL), WCL, PATHAKHERA AREA.

- 1) The GM, Pathakhera Area.
- 2) The Dy.CME(P&P), Pathakhera Area.
- 3) The Dy.CPM, Pathakehra Area.
- 4) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/ PKD/BC/10-11/CSR Education/01 dt. 03.07.2010 for Rs 2,01,072/- .
- 5) The SE(C)Tawa, for further needful action.
- 6) The PM (Welfare), Pathakhera Area
- 7) All A.W.C. Member (Throught PM(Welfare) along with copy of BOQ.
- 8) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

# BILL OF QUANITY

Construction of Class room (4.00 x 6.00m) at Tribal Middle school at Village Chhatarpur. (C.D. work).

SI.	Code	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
No.	No.	·		Í		
1	2.8.1 P-64	Earth work in excavation by mechanical means (Hydraulic excavator)/manual means in foundation trenches or drains (not exceeding 1.5m in width or 10sqm on plan) including dressing of sides and ramming of bottoms, lift upto 1.5m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50m. All kinds of soil.	m3	13.00	103.40	1344.20
	4.1.9 P-79	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering- All work up to plinth level: 1:4:8 (1 cement:4 fine sand:8 graded stone aggregate 40 mm nominal size).	cum	4.80	2296.15	11021.52
_	23.2 P-354	Supplying and stacking of good earth at site including royalty and carriage up to 1 km (earth measured in stacks will be reduced by 20% for payment).		10.00	144.05	1440.50
	2.25 P-67	Filling available excavated earth (excluding rock) in trenches, plinth, sides of foundations etc. in layers not exceeding 20cm in depth, consolidating each deposited layer by ramming and watering, lead up to 50m and lift up to 1.5m.		23.00	45.70	1051.10
	2.27 P-67	Supplying and filling in plinth with Jamuna sand under floors including, watering, ramming consolidating and dressing complete.	cum	9.00	301.50	2713.50

5.1.3 P-88	Providing and laying in position specified grade of reinforced cement concrete excluding the cost of centering, shuttering, finishing and reinforcement - All work up to plinth level: 1:2:4 ( 1 cement:2 coarse sand:4 graded stone aggregate 20mm nominal size).	cum	4.55	3359.6	15286.18
5.2.3 P-88	Reinforced cement concrete work in walls (any thickness), including attached pilasters, buttresses, plinth and string coursed, fillets, columns, pillars, piers, abutments, posts and struts etc. up to floor five level excluding cost of centering, shuttering, finishing and reinforcement: 1:2:4 (1 cement:2 coarse sand:4 graded stone aggregate 20mm nominal size).	cum	2.10	3720	7812.00
5.3 P-88	Reinforced cement concrete work in beams, suspended floors, roofs having slope up to 15" landings, balconies, shelves, chajjas, lintels, bands, plain window sills, staircases and spiral stair cases up to fllor five level excluding the cost of centering, shuttering, finishing and reinforcement with 1:2:4 (1 cement:2 coarse sand :4 graded stone aggregate 20mm nominal size).	cum	11.00	3673.85	40412.35
5.22.3 P-92	Reinforcement for RCC work including straightening, cutting, bending, placing in position and binding all complete. Cold twisted bars.	kg	1590.00	42.7	67893.00
6.32.2 P-100	Brick work with clay flyash F.P.S. brick of class designation 75 in superstructure above plinth level up to floor five level in:Cement mortar 1:6 (1 cement: 6 coarse sand).(-) Extra for exposed brick work/ clay flyash brick work in superstructure above floor five level for each four floors or part thereof.	cum	3.80	1899.05	7216.39
6.32.2 P-100	Brick work with clay flyash F.P.S. brick of class designation 75 in superstructure above plinth level up to floor five level in:Cement mortar 1:6 (1 cement: 6 coarse sand).	cum	10.70	2134.7	22841.29
13.1.2 P-201	12mm cement plaster of mix: 1:6 (1cement : 6 fine sand).	sqm	139.00	67.65	9403.35
13.16.1 P-202	6mm cement plaster of mix: 1:3 (1 cement:3 fine sand).	sqm	56.00	62.15	3480.40

14	11.3.1 P-172	Cement concrete flooring 1:2:4 (1 cement:2 coarse sand:4 graded stone aggregate) finished with a floating coat of neat cement including cement slurry, but excluding the cost of nosing of steps etc. complete. 40mm thick with 20mm nominal size stone aggregate.	m2	39.00	192.95	7525.05
15	13.7.1 P-201	12mm cement plaster finished with a floating coat of neat cement of mix: 1:3 (1 cement: 3 fine sand).		8.00	107.8	862.40
	5.30 P-93	Add or decuct for plaster drip course/groove in plastered surface or moulding to RCC projections.	metre	44.00	11.95	525.80
17	10.2 P-163	Structure steel work work riveted, bolted or welded in built up sections, trusses and framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete.	kg	115.00	46.35	5330.25
18	9.48.1 P-143	Providing and fixing M.S. grills of required pattern in frames of windows etc. with M.S. flats, square or round bars etc. all complete. Fixed to steel windows by welding.	kg	101.00	59.25	5984.25
19	10.5.1 P-163	Providing and fixing 1mm thick M.S. sheet door with frame of 40x40x6mm angle iron and 3mm M.S. gusset plates at the juctions and corners, all necessary fittings complete, including applying a priming coat of approved steel primer. Using M.S. angles 40x40x6mm for diagonal braces.	m2	8.40	1695.40	14241.36
20	5.9.6 P-89	Centering and shuttering including strutting, propping etc. and removal of form for: Columns, Pillars, Piers, Abutments, Posts and Struts.	sqm	33.00	238.4	7867.20
21	5.9.5 P-89	Centering and shuttering including strutting, propping etc. and removal of form for: Lintels, beamns, plinth beams, girders, bressumers and cantilevers.	sqm	47.00	162.65	7644.55
22	5.9.3 P-89	Centering and shuttering including strutting, propping etc. and removal of form for: Suspended floor, slab.	sqm	43.00	187.35	8056.05
23	5.9.19 P-89	Centering and shuttering including strutting, propping etc. and removal of form for: weather shade, chajja, corbels etc., including edges.	sqm	4.00	258.6	1034.40
24	13.37.1 P204	White washing with lime to give an even shade: New work (three or more coats).	m2	195.00	6.75	1316.25

P-206	Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade: Two or more coats on new work over an under coat of suitable shade with ordinary paint of approved brand and manufacture.	m2	31.00	51.30	1590.30
	Lettering with black Japan paint of approved brand and manufacture.	m3	340.00	0.90	306.00
	Deduct 20.90% below DSR-2007. (Rupees two lakhs one thousand seventy one and paise ninety two only.			Total=Rs	254199.64 53127.72 201071.92



No. PK/Civil/ 1627/

Dated 07.07.2010

To

Shri Saroj Ku. Singh Contractor, PATHAKHERA.

# **AWARD LETTER**

# **REGISTERED AD. / BY HAND.**

Sub: General repair/maintenance of residential qtrs on day to day complaint basis at Shobhapur colony of Pathakhera Area.

Ref: NIT.No. S-05/2010-11 dated 12.05.2010

Ref: LOI No. PK/Civil/1627/444 dated 29.06.2010.

Dear Sir,

With reference to your tender dated 28.05.2010, the management of the company is pleased to award you the subject work at your quoted rate AT PAR the estimated cost DSR-2007 & NON SOR Item No. 1) @ Rs 300/-/m2 & item No.2) @ Rs 6.30/-/m2. The total cost of work comes to Rs 3,59,258.75/- (Rupees three lakhs fifty nine thousand two hundred fifty eight and paise seventy five only). This award is subject the following terms and conditions:

- 1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is latter and shall be completed within 06 (six)months.
- You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.
- 4) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.
- The contractor shall indemnify the WCL against all claims for compensation under provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause—shall be final and conclusive.

Contd...2/-

- 6) Arrangement of water required for the work and drinking purpose shall be your responsibility.
  - 7) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
- 8) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the SE(Civil)Sat.Civil Dn., for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

STAFF OFFICER (CIVIL), WCL, PATHAKHERA AREA.

- 1) The GM, Pathakhera Area.
- 2) The Dy.CME(P&P), Pathakhera Area.
- 3) The Dy.CPM,Pathakehra Area.
- 4) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/PKD/BC/10-11/Residential Qr.Repair/22 dt. 01.07.2010 for Rs 3,59,259/- .
- 5) The SE(C) Sat.Civil Dn., for further needful action.
- 6) The PM (Welfare), Pathakhera Area
- 7) All A.W.C. Member (Throught PM(Welfare) along with copy of BOQ.
- 8) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

# **BILL OF QUANITY**

# General repair/maintenance of residential qtrs. an day to day complain basis at Shobhapur colony of Pathakhera Area.

Sl.	Code N0	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
1	15.56 P-231	Dismantling old plaster or skirting raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 metres lead.	sqm	1900.00	8.20	15580.00
2	15.2.1 P-226	Demolishing cement concrete manually/ by mechanical means including disposal of material within 50 metres lead as per direction of Engineer-In-charge. 1:3:6 or richer mix.	cum	20.00	368.45	7369.00
3	6.32.1 (-) 6.5	Brick work with clay flyash F.P.S. brick of class designation 75 in superstructure above plinth level up to floor five level in: Cement mortar 1:4 (1 cement:4 coarse sand).	100sq m	5.00	2116.35	10581.75
4	4.1.8 P-79	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering- All work up to plinth level:1:4:8 (1 cement:4 coarse sand:8 graded stone aggregate 40mm nominal size).	cum	2.00	2449.00	4898.00
5	13.1.2 P-201	12mm cement plaster of mix: 1:6 (1cement : 6 fine sand).	sqm	1500.00	67.65	101475.00
6	13.16.1 P-202	6mm cement plaster of mix: 1:3 (1 cement:3 fine sand).	sqm	300.00	62.15	18645.00
7	13.7.2 P-201	12mm cement plaster finished with a floating coat of neat cement of mix: 1:4 (1 cement :4 fine sand)	sqm	250.00	97.90	24475.00
8	11.3.1 P-172	Cement concrete flooring 1:2:4 (1 cement:2 coarse sand:4 graded stone aggregate) finished with a floating coat of neat cement including cement slurry, but excluding the cost of nosing of steps etc. complete. 40mm thick with 20mm nominal size stone aggregate.	sqm	500.00	192.95	96475.00

Sl.	Code N0	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
9	14.42.1 P-219	White washing with lime to give an even shade: Old work (two or more coats).	sqm	3000.00	4.10	12300.00
10	14.45.1	Distempering with oil bound whable distemper of approved brand and manufacture to give an even shade: Old work (one or more coats).	sqm	400.00	14.90	5960.00
		AT PAR			Total =	297758.75 0.00
11	Analyse d item	Half brick masonery using clay fly ash bricks in cm 1:4 for water tank.	sqm	100.00	300	30000.00
12	Analyse d item	Colour washing such as green, blue or buff to give an even shade: New work (two or more caots) with a base coat of white washing with lime.	sqm	5000.00	6.3	31500.00
		Rupees three lakhs fifty nine thousand two hundred fifty eight and paise seventy five only.			Total =	359258.75



No. PK/Civil/ 1628/ Dated 02.07.2010

To

Shri Vijay Malviya & Contractor, PATHAKHERA.

# **AWARD LETTER**

# **REGISTERED AD. / BY HAND.**

Sub: Providing and fixing of submersible pump for tapping borehole water at Shobhapour pump house of Pathakhera Area.

NIT.No. S-45/2009-10 dated 24.03.2010

Dear Sir,

Ref:

With reference to your quotation dated 07.05.2010 the management of the company is pleased to award you the subject work at your offered item rates as detailed below:

Sl	Description of item	Quantity	Rate	Amount
1.	P/F Submersible pump	1.00 Pump set.	36000.00	36000.00
2.	Elecetrical panel board	1.00 No	2000.00	2000.00

	3. 4. 5.	Wire rope for lowering Flat cable 4mm P/L lowering G.I. Pipe	140.00 Rmt 140.00 Rmt 180.00m	30.00 62.00 300.00	4200.00 8680.00 54000.00
-	6.	P/F Gun metal gate valve	2.00Nos	1016.00	2032.00
1	7.	Making connection	2.00Nos	430.00	860.00
		(Rupees one lakh seven thousand seven hundred seventy two only)		Total =Rs	1,07,772.00

- 1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is latter and shall be completed within 01 (one)month.
- 2) The EMD of Rs 1672/- deposited by you vide DD. No.309478 dated 30.12.2009 for Rs 836/-& DD.No.309479 dt. 30.12.2009 for Rs 836/- has been treated as part of SD/Performance Security. To make 5% of the award value as Performance Security, you have to deposit the balance amount of Rs 3717/- within twenty-eight days of issue of this letter either in the form of DD or in cash with the Chief Cashier, Pathakhera Area. In addition to the above, further 5% of bill value shall be deducted from each on a/c bills as Retention Money to make the total security deposit to the extent of Rs 10,777 /-. Both the money shall remain at the disposal of the company as Security Deposit and shall not carry any interest.
- 3) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.

#### // 2 //

- 4) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.
- The contractor shall indemnify the WCL against all claims for compensation under provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause—shall be final and conclusive.
  - 7) Arrangement of water required for the work and drinking purpose shall be your responsibility.
    - 8) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.

9) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the SE(Civil) PKD Civil Dn., for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

STAFF OFFICER (CIVIL), WCL, PATHAKHERA AREA.

# Copy to:

- 1) The GM, Pathakhera Area.
- 2) The Dy.CME(P&P), Pathakhera Area.
- 3) The Dy.CPM, Pathakehra Area.
- 4) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/PKD/BC/10-11/Water supply Rep./04 dt. 01.07.2010 for Rs 1,07,772/- .
- 5) The SE(C)PKD Civil Dn, for further needful action.
- 6) The PM (Welfare), Pathakhera Area
- 7) All A.W.C. Member (Throught PM(Welfare) along with copy of BOQ.
- 8) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

# **BILL OF QUANITY**

Providing and fixing of submersible pump for tapping borehole water at Shobhapur pump house of Pathakhera Area.

Sl. No.	Code No.	Description of Item	Unit	Qnty.	Rate	Amount
1	rate	Providing & fixing submersible pump of multistage centrifugal pumps designed with redial type/mixed flow type impeller	Pump set	1.00	36000	36000

Sl. No.	Code No.	Description of Item	Unit	Qnty.	Rate	Amount
		with following specification with accessories including installation all complete: A standered company such as Kirlosker, crompten etc.				
	a)	Pipe size – 50mm dia.				
	b)	Capacity – 4mtr to 218mtr.				
	c)	Discharge-250 LPM				
	d)	Suitable for bore well dia – 150mm(6")				
	e)	Suitable for handing water containing higher sand contain upto 12000 PPM				
	2)	Electrical panel board with starter, switches etc. All complete with cover.	No	1.00	2000	2000
	3)	Wire rope suitable for lowering submersible pump and carring its load all complete.	Rmt	140.00	30	4200
	4)	Flat cable 4m2 suitable for above submersible pump as per ISI approved.	Rmt	140.00	62	8680
	5)	Providing and lowering G.I. Pipes complete with G.I. Fittings such as long thread sockets medium class 50mm dia nominal bore.	Mtr.	180.00	300	54000
	6)	Providing & fixing gum metal gate value with C.I. Wheel of approved quality (screwed end). 50Mm nominal bore.	Nos	2.00	1016	2032
	7)	Making connection of G.I. Distribution branch with G.I. Main of following sizes by providing & fixing tee, including cutting and threadings the pipe etc. Complete. 50 to 80mm nominal bore.	Nos	2.00	430	860
		(Rupees one lakh seven thousand seven hundred seventy two only).			Total =	107772



No. PK/Civil/ 1629/ Dated 03.07.2010

To

Shri S.S. Banait Contractor, PATHAKHERA.

# **AWARD LETTER**

# REGISTERED AD. / BY HAND.

Sub: Making ladies toilet at Regional store at Pathakhera Area.

Ref: NIT.No. S-01/2010-11 dated 13.04.2010

Dear Sir,

With reference to your tender dated 10.06.2010, the management of the company is pleased to award you the subject work at your quoted rate 21.00% below the estimated cost DSR-2007. The total cost of work comes to **Rs 55,571.84/- (Rupees fifty five thousand five hundred seventy one and paise eighty four only)**. This award is subject the following terms and conditions:

- 1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is latter and shall be completed within 02 (two)months.
- 2) The EMD of Rs 704/- deposited by you vide B.C. No.580543 dated 23.04.2010 has been treated as part of SD/Performance Security. To make 5% of the award value as Performance Security, you have to deposit the balance amount of Rs 2,075/- within twenty-eight days of issue of this letter either in the form of DD or in cash with the Chief Cashier, Pathakhera Area. In addition to the above, further 5% of bill value shall be deducted from each on a/c bills as Retention Money to make the total security deposit to the extent of Rs 5,558/-. Both the money shall remain at the disposal of the company as Security Deposit and shall not carry any interest.
- 3) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.
- 4) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.
- The contractor shall indemnify the WCL against all claims for compensation under provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money

paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause shall be final and conclusive.

Contd...2/-

- 7) Arrangement of water required for the work and drinking purpose shall be your responsibility.
- 8) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
- 9) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the SE(Civil)PKD Civil Dn., for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

STAFF OFFICER (CIVIL), WCL, PATHAKHERA AREA.

#### Copy to:

- 1) The GM, Pathakhera Area.
- 2) The Dy.CME(P&P), Pathakhera Area.
- 3) The Dy.CPM, Pathakehra Area.
- 4) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/ PKD/BC/10-11/ocw surface/35 dt. 01.07.2010 for Rs 55,572/- .
- 5) The SE(C)PKD Civil Dn, for further needful action.
- 6) The PM (Welfare), Pathakhera Area
- 7) All A.W.C. Member (Throught PM(Welfare) along with copy of BOQ.
- 8) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

Schedule Making ladies toilet at Regional store at Pathakhera Area.

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
1	2.8.1 P-64	Earth work in excavation by mechanical means (Hydraulic excavator)/manual means in foundation trenches or drains (not exceeding 1.5m in width or 10sqm on plan) including dressing of sides and ramming of bottoms, lift upto 1.5m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50m. All kinds of soil.	m3	15.00	103.40	1551.00
2	4.1.8 P-79	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering- All work up to plinth level:1:4:8 (1 cement:4 coarse sand:8 graded stone aggregate 40mm nominal size).	cum	1.60	2449.00	3918.40
3	6.34.2 P-102 (-) 6.5	Brick work with modular fly ash lime bricks (FALG Bricks) conforming to IS: 12894-2002, class designation 100 average compressive strength in super structure above plinth level up to floor V level in: Cement mortar: 1:6 (1 cement:6 coarse sand).	cum	4.19	2093.30	8770.93
4	6.34.2 P-102	Brick work with modular fly ash lime bricks (FALG Bricks) conforming to IS: 12894-2002, class designation 100 average compressive strength in super structure above plinth level up to floor V level in: Cement mortar: 1:6 (1 cement:6 coarse sand).	cum	4.43	2283.30	10115.02
5	10.5.1 P-163	Providing and fixing 1mm thick M.S. sheet door with frame of 40x40x6mm angle iron and 3mm M.S. gusset plates at the juctions and corners, all necessary fittings complete, including applying a priming coat of approved steel primer. Using M.S. angles 40x40x6mm for diagonal braces.	m2	1.35	1695.40	2288.79

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
6	5.3 P-88	Reinforced cement concrete work in beams, suspended floors, foofs having slope up to 15 landings, balconies, shelves, chajjas, lintels, bands, plain window sills, staircases and spiral stair cases up to floor five level excluding the cost of centering, shuttering, finishing and reinforcement with 1:2:4 (1 cement:2 coarse sand:4 graded stone aggregate 20mm nominal size).	m3	1.09	3673.85	4004.50
7a	5.22.3 P-92	Reinforcement for RCC work including straightening, cutting, bending, placing in position and binding all complete. Cold twisted bars.	kg	134.00	42.7	5721.80
8a	5.9.5 P-89	Centering and shuttering including strutting, propping etc. and removal of form for: Lintels, beamns, plinth beams, girders, bressumers and cantilevers.	sqm	3.61	162.65	587.17
9a	5.9.3 P-89	Centering and shuttering including strutting, propping etc. and removal of form for: Suspended floor, slab.	sqm	7.83	187.35	1466.95
10	13.16. 1 P- 202	6mm cement plaster of mix: 1:3 (1 cement:3 fine sand).	sqm	4.40	62.15	273.46
11	13.4.2 P-201	12mm cement plaster of mix: 1:6 (1 cement : 6 coarse sand).	m2	38.00	72.70	2762.60
12	11.37 P-177	Providing and laying Ceramic glazed floor tiles 300x300mm (thickness to be specified by the manufacturer) of Ist quality conforming to IS: 15622 of approved make in colours such as white, Ivory, Grey, Fume Red Brown, laid on 20mm thick Cement Mortar 1:4 (1 Cement:4 Coarse sand) including pointing the jhoints with white cement and matching pigment etc. complete.	m2	4.25	598.65	2544.26
13	11.36 P-177	Providing and fixing Ist quality ceramic glazed wall tiles conforming to IS: 15622 (thickness to be specified by the manufacture) of apporved make in all colours, shades except burgundy, bottle green, black of any size as approved by Engineer-in-charge in skirting, risers of steps; and dados over 12mm thick bed of cement Mortar 1:3 (1 cement:3 coarse sand) and jointing with grey cement slurry @ 3.3kg per sqm including pointing in white cement mixed with pigment of matching shade complete.	m2	13.08	556.6	7280.33

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
14	17.1.1	Providing and fixing water closet squatting pan (Indian type W.C. pan) with 100mm sand cast Iron P or S trap, 10 litre low level white PVC flushing cistern with manually controlled device (handle lever) conforming to IS: 7331, with all fittings and fixtures complete including cutting and making good the walls and floors wherever required: White Vitreous china Orissa pattern WC pan of size 580x440mm with integral type foot rests.	Nos	1.00	2304.65	2304.65
15	17.7.4 P-264	Providing and fixing wash basin with C.I. Brackets, 15mm C.P. brass pillar taps, 32mm C.P. brass waste of standard pattern, including painting of fittings and brackets, cutting and making good the walls wherever require: White Vitreous China flat back wash basin size 550x400 mm with single 15mm C.P. brass pillar tap.	each	1.00	1044.9	1044.90
16	17.24. P-267	Providing and fixing white vitreous china squatting plate urinal with integral rim longitudinal flush pipe.	each	1.00	1069.65	1069.65
17	18.9.2 P292	Providing and fixing cblorinated polyvinyl chroride (CPVC)pipes having thermal stability for hot & cold water supply including all CPVC plain & brass threaded fittings This includes jointing of pipes & fittings with one step CPVC solvent cement, trenching, refilling & testing of joints complete as per direction of Engineer in charge. 20mm nominal outer dia, pipes.	mtr	12.00	107.7	1292.40
18	18.9.1 P292	Providing and fixing cblorinated polyvinyl chroride (CPVC)pipes having thermal stability for hot & cold water supply including all CPVC plain & brass threaded fittings This includes jointing of pipes & fittings with one step CPVC solvent cement, trenching, refilling & testing of joints complete as per direction of Engineer in charge. 15Mm nominal outer dia, pipes.	mtr	12.00	92.6	1111.20
19	18.48 P-300	Providing and placing on terrace (at all floor levels) polyethylene water storage tank ISI 12701 marked with cover and suitable locking arrangment and making necessary holes ofr inlet outlet and overflow pipes but without fittings and the base support for tank.	per litre	1000.00	5.25	5250.00
20	18.15. 1 P-	Providing and fixing brass bib cock of approved quality: 15mm nominal bore.	each	2.00	191.70	383.40

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
	293					
21	18.16. 1 P- 293	Providing and fixing brass stop cock of approved quality: 15mm nominal bore.	each	3.00	191.70	575.10
22	18.21. 1.1 P- 294	Providing and fixing uplasticised PVC connection pi;e with brass unions: 15mm nominal bore	each	3.00	35.10	105.30
23	13.7.2 P-201	12mm cement plaster finished with a floating coat of neat cement of mix: 1:4 (1 cement :4 fine sand)	sqm	16.00	97.90	1566.40
24	11.3.1 P-172	Cement concrete flooring 1:2:4 (1 cement:2 coarse sand:4 graded stone aggregate) finished with a floating coat of neat cement inclkuding cement slurry, but excluding the cost of nosing of steps etc. complete. 40mm thick with 20mm nominal size stone aggregate.	m2	4.00	192.95	771.80
25	5.12 P-90	Providing, hoisting and fixing up to floor five level precast reinforced cement concrete work in string courses bands, copings, bed plates, anchor blocks, plain winodws sills and the like including the cost of required centering, shuttering, finishing smooth with 6mm thick cement plaster 1:3(1 cement:3 fine sand) on exposed surfaces compoete but excluding cost of reinforcement with 1:2:4 (1 cement:2 coarse sand:4 graded stone aggregate 20mm nominal size).	cum	0.58	4882.25	2831.71
26	19.1.1 P-315	Providing laying and jointing glazed stoneware pipes grade "A" with stiff mixture of cement mortar in the proportion of 1:1 (1 cement:1 fine sand) including testing of joints etc. complete.	mtr	3.00	105.90	317.70
27	13.37. 1 P204	White washing with lime to give an even shade: New work (three or more coats).	m2	26.00	6.75	175.50
28	13.39. 1 P- 204	Colour washing such as green, blue or buff to give an even shade: New work (two or more caots) with a base coat of white washing with lime.	m2	17.00	9.30	158.10
29	13.61. 1 P- 206	Painting with synthetic enamel paint of approved brand and manufacture to give an even shade: Two or more coats on new work.	m2	3.04	33.25	101.08
		Deduct 21.00% below DSR-2007.			Total =	70344.10
					(-)	14772.26

S N	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
		(Rupees fifty five thousand five hundred seventy one and paise eighty four only).			Total =	55571.84



No. PK/Civil/ 1631/ Dated 07.07.2010

To

Shri R.B. Mourya Contractor, PATHAKHERA.

#### **AWARD LETTER**

#### **REGISTERED AD. / BY HAND.**

Sub: Constuction including operation & maintenance for one year for water sprinkler system for dust suppression around Coal stock yard CHP at Chhatarpur Mine No.1 of Pathakhera Area.

Ref: NIT.No. Q-33/2009-10 dated 28.11.2010

Dear Sir,

With reference to your quotation dated 09.12.2009 and subsequent revised offer dated 18.05.2010, the management of the company is pleased to award you the subject work at your revised offered item rates as detailed below:

Sl	Description of item	Quantity	Rate		Amount
1.	P/F G.I. Pipes complete15mm	10.00mtr	115.00		1150.00
2.	P/F G.I. Pipes complete25mm	96.00mtr	180.00		17280.00
3.	P/F G.I. Pipes complete65mm	70.00mtr	385.00		26950.00
4.	P/F G.I. Pipes complete80mm	350.00mtr	500.00		175000.00
5.	P/F Gun metal gate valve 25mm	4.00Nos	200.00		800.00
6.	P/F Gun metal gate valve 65mm	2.00 Nos	852.00		1704.00
7.	P/F Gun metal gate valve 80mm	2.00Nos	1244.00		2488.00
8.	Earth work in excavation	0.50m3	100.00		50.00metre1250
8.	P/L in position cement 1:3:6	0.50m3	2500.00		.00
10.	Structural steel work in single	130.00kg	45.00		5850.00
11.	Painting with synthetic enamel	5.00m2	30.00		150.00
12.	P/F centrifugal monoblock pump	1.00Set	69500.00		69500.00
13.	P/F Irrigation sprinkler	4.00Nos	400.00		1600.00
14.	Operation and maintenance of	270.00days	300.00		81000.00
	sprinklar for 12 hous period				
					3,84,772.00
	(Rupees three lakhs eighty four			Total = Rs	
	thousand seven hundred seventy				
	two only)				

1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is latter and shall be completed within 12 (twelve)months.

2) The EMD of Rs 3643/- deposited by you vide DD. No.884000 dated 09.12.2010 has been treated as part of SD/Performance Security. To make 5% of the award value as Performance Security, you have to deposit the balance amount of Rs 15,597/- within twenty-eight days of issue of this letter either in the form of DD or in cash with the Chief Cashier, Pathakhera Area. In addition to the above, further 5% of bill value shall be deducted from each on a/c bills as Retention Money to make the total security deposit to the extent of Rs 38,447/-. Both the money shall remain at the disposal of the company as Security Deposit and shall not carry any interest.

- 3) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.
- 4) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.
- The contractor shall indemnify the WCL against all claims for compensation under provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause—shall be final and conclusive.
  - 6) Arrangement of water required for the work and drinking purpose shall be your responsibility.
    - 7) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
  - 8) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the SE(Civil)Tawa, for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

STAFF OFFICER (CIVIL), WCL, PATHAKHERA AREA.

Copy to:

- 1) The GM, Pathakhera Area.
- 2) The Dy.CME(P&P), Pathakhera Area.
- 3) The Dy.CPM, Pathakehra Area.
- 4) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/PKD/BC/10-11/EMP/01 dt. 05.07.2010 for Rs 3,84,772/- .
- 5) The SE(C) Tawa, for further needful action.
- 6) The PM (Welfare), Pathakhera Area
- 7) All A.W.C. Member (Throught PM(Welfare) along with copy of BOQ.
- 8) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).



No. PK/Civil/ 1632/ Dated 20.07.2010

To

Shri Sunil Ku. Singh Contractor, PATHAKHERA. **AWARD LETTER** 

REGISTERED AD. / BY HAND.

Sub: Repair of Balcony parapet of DSMQ 4 blocks at New colony and back side balcony parapet of 10 blocks at Shakti Nagar of Shobhapur township of Pathakhera Area.

Ref: NIT.No. S-44/2009-10 dated 18.03.2010

ref: LOI. No.PK/Civil/1632/676 dated 07.07.2010.

Dear Sir,

With reference to your tender dated 06.04.2010, the management of the company is pleased to award you the subject work at your Revised quoted rate 10.00% below the estimated cost DSR-2007 & NON SOR Item, Item No.1) @ Rs 283/-m2, item No.2) @ Rs 45/-kg, & item No.3) @ Rs 53/-kg. The total cost of work comes to Rs 4,88,955.22/- (Rupees four lakhs eighty eight thousand nine hundred fifty five and paise twenty two only). This award is subject the following terms and conditions:

- 1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is latter and shall be completed within 04 (four)months.
- 2) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.
- 3) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.
- The contractor shall indemnify the WCL against all claims for compensation under the provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect of any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause shall be final and conclusive.
- 5) Arrangement of water required for the work and drinking purpose shall be your responsibility.

Contd...2/-

- 6) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
- 7) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the SE(Civil)Sat. Civil Dn., for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

STAFF OFFICER (CIVIL), WCL, PATHAKHERA AREA.

#### Copy to:

- 1) The GM, Pathakhera Area.
- 2) The Dy.CME(P&P), Pathakhera Area.
- 3) The Dy.CPM,Pathakehra Area.
- 4) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/PKD/BC/10-11/Residential/24 dt. 16.07.2010 for Rs 4,88,955/- .
- 5) The SE(C)Sat. Civil Dn, for further needful action.
- 6) The PM (Welfare), Pathakhera Area
- 7) All A.W.C. Member (Throught PM(Welfare) along with copy of BOQ.
- 8) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

### BILL OF QUANITY

R/m of Balcony Parapet of DSMQ of 4 blocks of New colony and backside balcony parapet of 10 blocks of Shakti Nagar at Shobhapur township of Pathakhera Area.

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
1	2.8.1 P-64	Earth work in excavation by mechanical means (Hydraulic excavator)/manual means in foundation trenches or drains (not exceeding 1.5m in width or 10sqm on plan) including dressing of sides and ramming of bottoms, lift upto 1.5m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50m. All kinds of soil.	m3	19.20	103.40	1985.28
2	4.1.8 P-79	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering- All work up to plinth level:1:4:8 (1 cement:4 coarse sand:8 graded stone aggregate 40mm nominal size).	cum	1.92	2449.00	4702.08
3	5.1.3 P-88	Providing and laying in position specified grade of reinforced cement concrete excluding the cost of centering, shuttering, finishing and reinforcement - All work up to plinth level: 1:2:4 (1 cement:2 coarse sand:4 graded stone aggregate 20mm nominal size).	cum	3.84	3359.60	12900.86
6	15.7. 4 P-226	Demolishing brick work manually/ by mechanical means including stacking of serviceable material and disposal of unserviceable material within 50 metres lead as sper direction of Engineer-in-charge.	cum	34.00	310.75	10565.50
7	6.32. 1 (-) 6.33	Brick work with clay flyash F.P.S. brick of class designation 75 in superstructure above plinth level up to floor five level in: Cement mortar 1:4 (1 cement:4 coarse sand). (Extra for exposed brick work/clay flyash brick work in superstructure above floor five level for each four floors or part thereof.	cum	4.00	2070.70	8282.80
8	6.32.	Brick work with clay flyash F.P.S. brick of class	m3	8.10	2306.35	18681.43

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
	1	designation 75 in superstructure above plinth level up to floor five level in: Cement mortar 1:4 (1 cement:4 coarse sand).				
9	5.2.3 P-88	Reinforced cement concrete work in walls (any thickness), including attached pilasters, buttresses, plinth and string coursed, fillets, columns, pillars, piers, abutments, posts and struts etc. up to floor five level excluding cost of centering, shuttering, finishing and reinforcement: 1:2:4 (1 cement:2 coarse sand:4 graded stone aggregate 20mm nominal size).	cum	2.85	3720.00	10602.00
10	4.2.3 P-79	Providing and laying cement concrete in retaining walls, return walls, walls (any thickness) including attached pilasters, coloumns, piers, abutments, pillars, posts, struts, buttresses, string or lacing courses, parapets, coping, bed blocks, anchor blocks, plain window sills, fillets etc. Up to floor five level, excluding the cost of centering, shuttering and finishing: 1:2:4(1 cement:2 coarse:4 graded stone aggregate 20mm nominal size).	sqm	2.90	3579.10	10379.39
11	11.3. 1 P- 172	Cement concrete flooring 1:2:4 (1 cement:2 coarse sand:4 graded stone aggregate) finished with a floating coat of neat cement inclkuding cement slurry, but excluding the cost of nosing of steps etc. complete. 40mm thick with 20mm nominal size stone aggregate.	m2	380.00	192.95	73321.00
12	13.4.	12mm cement plaster of mix: 1:4 (1 cement: 4 coarse sand).	sqm	865.00	82.55	71405.75
13	13.16 .1 P- 202	6mm cement plaster of mix: 1:3 (1 cement:3 fine sand).	sqm	345.00	62.15	21441.75
14	13.7. 2 P- 201	12mm cement plaster finished with a floating coat of neat cement of mix: 1:4 (1 cement :4 fine sand)	sqm	50.00	97.90	4895.00
15	13.37 .1 P204	White washing with lime to give an even shade: New work (three or more coats).	m2	1210.00	6.75	8167.50
16	5.3 P-88	Reinforced cement concrete work in beams, suspended floors, roofs having slope up to 15" landings, balconies, shelves, chajjas, lintels, bands, plain window sills, staircases and spiral stair cases up to fllor five level excluding the cost of centering, shuttering, finishing and reinforcement with 1:2:4 (1 cement:2 coarse sand :4 graded stone aggregate 20mm nominal	cum	1.65	3673.85	6061.85

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
		size).				
17	5.9.3 P-89	Centering and shuttering including strutting, propping etc. and removal of form for: Suspended floor, slab.	sqm	18.60	187.35	3484.71
		Add/deduct% above or below DSR-2007.			Total =	266876.91
		NON SOR ITEM ( Please quote the item rate)				26687.69
1	NON SOR	Half brick work with using bricks of modular fly ash bricks in super structure in cement mortar 1:4	sqm	342.00	283.00	96786.00
2	5.22. 3 P- 92	Reinforcement for RCC work including straightening, cutting, bending, placing in position and binding all complete. Cold twisted bars.	kg	480.00	45.00	21600.00
3	10.1 P-163	Structural steel work in single section fixed with or without connecting plate including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete.	kg	2460.00	53.00	130380.00
		(Rupees four lakhs eighty eight thousand nine hundred fifty five and paise twenty two only).			Total=Rs	488955.22



No. PK/Civil/ 1633/ Dated 16.07.2010

To

Shri Vijay Malviya Contractor, PATHAKHERA.

#### **AWARD LETTER**

REGISTERED AD. / BY HAND.

Sub: Replacement of damaged/rusted water supply pipes & fitting of Shobhpur colony of Pathakhera Area.

Ref: NIT.No. Q-02/2010-11 dated 27.04.2010

#### Dear Sir,

With reference to your quotation dated 07.05.2010 and subsequent revised offer dated 14.06.2010, the management of the company is pleased to award you the subject work at your revised offered item rates as detailed below:

Sl	Description of item	Quantity	Rate	Amount
1.	P/F G.I. Pipes complete15mm	30.00mtr	135.00	4050.00
2.	P/F G.I. Pipes complete20mm	10.00mtr	155.00	1550.00
3.	P/F G.I. Pipes complete25mm	10.00mtr	212.00	2120.00
4.	P/F G.I. Pipes complete50mm	80.00mtr	328.00	26240.00
5.	P/F brass bib cock 15mm	40.00Nos	245.00	9800.00
6.	P/F brass stop cock 15mm	15.00 Nos	245.00	3675.00
7.	P/F Gun metal gate valve 80mm	2.00Nos	1890.00	3780.00
8.	P/F ball valve 15mm	5.00 Nos	200.00	1000.00
8.	P/F ball valve 20mmm	5.00 Nos	280.00	1400.00
10.	P/F ball valve 25mm	10.00 Nos	430.00	4300.00
11.	P/F unplasticised connection pipe	30.00mtr	60.00	1800.00
	15mm			
	(Rupees fifty nine thousand seven			59,715.00
	hundred fifteen only).		Total =Rs	, 

- 1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is latter and shall be completed within 04 (four)months.
- 3) The EMD of Rs 493/- deposited by you vide DD. No.310657 dated 06.05.2010 has been treated as part of SD/Performance Security. To make 5% of the award value as Performance Security, you have to deposit the balance amount of Rs 2,493/- within twenty-eight days of issue of this letter either in the form of DD or in cash with the Chief Cashier, Pathakhera Area. In addition to the above, further 5% of bill value shall be deducted from each on a/c bills as Retention Money to make the total security deposit to the extent of Rs 5,972/-. Both the money shall remain at the disposal of the company as Security Deposit and shall not carry any interest.
- 4) In addition to the above, you are further requested to deposit an amount of Rs 9152/before execution of Agreement/detailed work order of this work towards Addl. Performance Security within 28 days of issue of letter.

#### // 2 //

- 5) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.
- 6) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.

- The contractor shall indemnify the WCL against all claims for compensation under the provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause—shall be final and conclusive.
  - 8) Arrangement of water required for the work and drinking purpose shall be your responsibility.
  - 9) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
  - 10) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the SE(Civil)Sat.Dn., for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

STAFF OFFICER (CIVIL), WCL, PATHAKHERA AREA.

#### Copy to:

- 1) The GM, Pathakhera Area.
- 2) The Dy.CME(P&P), Pathakhera Area.
- 3) The Dy.CPM, Pathakehra Area.
- 4) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/PKD/BC/10-11/Water supply Repair/05 dt. 14.07.2010 for Rs 59,715/- .
- 5) The SE(C) Sat.Dn, for further needful action.
- 6) The PM (Welfare), Pathakhera Area
- 7) All A.W.C. Member (Throught PM(Welfare) along with copy of BOQ.
- 8) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

### BILL OF QUANITY

Replacement of damaged/rusted water supply pipes & fitting of Shobhapur colony.

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
1	18.12.1 P- 292	Proviiding and fixing G.I. Pipes complete with G.I. Fittings including trenching and refilling etc. 15mm dia nominal bore.	mtr	30.00	135.00	4050.00
2	18.12.2 P- 292	Proviiding and fixing G.I. Pipes complete with G.I. Fittings including trenching and refilling etc. 20Mm dia nominal bore.	mtr	10.00	155.00	1550.00
3	18.12.3 P- 292	Proviiding and fixing G.I. Pipes complete with G.I. Fittings including trenching and refilling etc. 25Mm dia nominal bore.	mtr	10.00	212.00	2120.00
4	18.12.6 P- 292	Proviiding and fixing G.I. Pipes complete with G.I. Fittings including trenching and refilling etc. 50Mm dia nominal bore.	mtr	80.00	328.00	26240.00
5	18.15.1 P-293	Providing and fixing brass bib cock of approved quality: 15mm nominal bore.	Nos	40.00	245.00	9800.00
6	18.16.1 P-293	Providing and fixing brass stop cock of approved quality: 15mm nominal bore.	Nos	15.00	245.00	3675.00
7	18.17.6 P-293	Providing and fixing gun metal gate valve with C.I. Wheel of approved quality (screwed end): 80mm nominal bore.	Nos	2.00	1890.00	3780.00
8	18.18.1 P-293	Providing and fixing ball valve (brass) of approved quality, High or low pressure, with plastic floats complete. 15 mm nominal bore.	Nos	5.00	200.00	1000.00
9	18.18.2 P-293	Providing and fixing ball valve (brass) of approved quality, High or low pressure, with plastic floats complete. 20 mm nominal bore.	Nos	5.00	280.00	1400.00
10	18.18.3 P-293	Providing and fixing ball valve (brass) of approved quality, High or low pressure, with plastic floats complete. 25 mm nominal bore.	Nos	10.00	430.00	4300.00
11	18.21.2 .1 P- 294	Providing and fixing uplasticised PVC connection pipe with brass unions: 15mm nominal bore	Nos	30.00	60.00	1800.00
		(Rupees fifty nine thousand seven hundred fifteen only).			Total =	59715.00



No. PK/Civil/ 1634/ Dated 16.07.2010

To

Shri Deokumar Mandal Contractor, PATHAKHERA.

#### **AWARD LETTER**

#### REGISTERED AD. / BY HAND.

Sub: Repair/maintenance of main distribution water supply Pipeline of Shobhapur township at Pathakhera Area.

Ref: NIT.No. Q-02/2010-11 dated 27.04.2010

Dear Sir,

With reference to your tender dated 07.05.2010, the management of the company is pleased to award you the subject work at your quoted Item rate item No.1) 95/-mtr, item No.2) 27.50/-mtr. Amounting to Rs 65,250/- and again quoted the rate as 15.00% below of which amount comes to Rs 55,462.50. (Rupees fifty five thousand four hundred sixty two and paise fifty only). This award is subject the following terms and conditions:

- 1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is latter and shall be completed within 09 (nine)months.
- 2) The EMD of Rs 770/- deposited by you vide D.D. No.310665 dated 07.05.2010 has been treated as part of SD/Performance Security. To make 5% of the award value as Performance Security, you have to deposit the balance amount of Rs 2,004/- within twenty-eight days of issue of this letter either in the form of DD or in cash with the Chief Cashier, Pathakhera Area. In addition to the above, further 5% of bill value shall be deducted from each on a/c bills as Retention Money to make the total security deposit to the extent of Rs 5,547/-. Both the money shall remain at the disposal of the company as Security Deposit and shall not carry any interest.

- 3) In addition to the above, you are further requested to deposit an amount of Rs 28325/before execution of Agreement/detailed work order of this work towards Addl. Performance Security within 28 days of issue of letter.
- 4) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.
- 5) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.

#### // 2 //

- The contractor shall indemnify the WCL against all claims for compensation under provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause—shall be final and conclusive.
  - 7) Arrangement of water required for the work and drinking purpose shall be your responsibility.
    - 8) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
  - 9) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the SE(Civil)Sat. Civil Dn., for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

STAFF OFFICER (CIVIL), WCL, PATHAKHERA AREA.

- 1) The GM, Pathakhera Area.
- 2) The Dy.CME(P&P), Pathakhera Area.
- 3) The Dy.CPM, Pathakehra Area.
- 4) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/ PKD/BC/10-11/Water supply rep/06 dt.14.07.2010 for Rs 55,463/- .
- 5) The SE(C)Sat. Civil Dn, for further needful action.
- 6) The PM (Welfare), Pathakhera Area
- 7) All A.W.C. Member (Throught PM(Welfare) along with copy of BOQ.
- 8) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

### Repair/maintenance of main distribution water supply pipeline of Shobhapur township at Pathakhera Area.

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
1	2.10.1. 1 P-65	Excating trenches of required width for pipes, cables, etc including excavation for sockets and dressing of sides, ramming of bottoms, depth up to 1.5m including getting out the excavated soil, and then returning the soil as required in layers not exceeding 20cm in depth including consolidating each deposited layer by ramming, watering, etc. and disposing of surplus excavated soil as directed within a lead of 50m. Pipes cables etc not exceeding 80mm dia.	mtr	600.00	69.69	41814.00
2	2.10.1.	Excating trenches of required width for	mtr	300.00	113.83	34149.00

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
	2 P-65	pipes, cables, etc including excavation for sockets and dressing of sides, ramming of bottoms, depth up to 1.5m including getting out the excavated soil, and then returning the soil as required in layers not exceeding 20cm in depth including consolidating each deposited layer by ramming, watering, etc. And disposing of surplus excavated soil as directed within a lead of 50m. Pipes cables etc not exceeding 80mm dia.but not exceeding 300mm dia.				
					Total Justified cost = Rs	75,963.00



No. PK/Civil/ 1635/ Dated 21.07.2010

Shri R.B. Mourya Contractor, PATHAKHERA.

#### **AWARD LETTER**

#### REGISTERED AD. / BY HAND.

Sub: Civil works related to installation of man riding system at Shobhapur mine of Pathakhera Area.

Ref: NIT.No. P-03/2010-11 dated 11.05.2010

Dear Sir,

With reference to your tender dated 31.05.2010, the management of the company is pleased to award you the subject work at your offered item rate as mention below:

#### Different item rate

<u>Different item rate</u>	
Item No. 1 @ Rs 101.00/- /m3.	Item No. 27 @ Rs 1000/- /mt
Item No. 2 @ Rs 2200.00/- /m3.	Item No. 28@ Rs 24.70/- /m2
Item No. 3 @ Rs 3000.00/- /m3	Item No. 29 @ Rs 5/- /kg
Item No. 4 @ Rs 119.00/- /m3	Item No. 30 @ Rs 300/- /m3
Item No. 5 @ Rs 280.00/- /m3.	Item No. 31 @ Rs 101/- /m3
Item No. 6 @ Rs 560.00/- /m2.	Item No. 32 @ Rs 2200/- /m3
Item No. 7 @ Rs 2200/- /m3.	Item No. 33 @ Rs 3000/- /m3
Item No. 8 @ Rs 550/- /m2.	Item No. 34 @ Rs 100/- /kg
Item No. 9 @ Rs 101/- /m3	Item No. 35 @ Rs 2200/- /m3
Item No. 10 @ Rs 2200/- /m3	Item No. 36 @ Rs 2210/- /m3
Item No. 11 @ Rs 3000/- /m3.	Item No. 37@ Rs 60/- /m2
Item No. 12@ Rs 100/- /kg.	tem No. 38 @ Rs 3400/- /m3
Item No. 13@ Rs 119/- /m3.	Item No. 39 @ Rs 48/- /kg
Item No. 14@ Rs 55/- /kg.	Item No. 40 @ Rs 150/- /m2
Item No. 15@ Rs 795/- /m2	Item No. 41 @ Rs 119/- /m2
Item No. 16@ Rs 1000/- /mt	Item No. 42 @ Rs 3200/- /m3
Item No. 17@ Rs 101/- /m3.	Item No. 43 @ Rs 3000/- /m3
Item No. 18@ Rs 2200/- /m3.	Item No. 44 @ Rs 55/- /kg
Item No. 19@ Rs 3300/- /m3.	Item No. 45 @ Rs 3500/- /m3
Item No. 20@ Rs 150/- /m2.	Item No. 46 @ Rs 580/- /m2
Item No. 21@ Rs 100/- /kg	Item No. 47 @ Rs 1600/- /m2
Item No. 22@ Rs 48/- /kg	Item No. 48 @ Rs 30/- /m2
Item No. 23@ Rs 55/- /kg.	Item No. 49 @ Rs 6/- /m2
Item No. 24@ Rs 60/- /m2.	Item No. 50 @ Rs 10/- /m2
Item No. 25@ Rs 250/- /m2.	Item No. 51 @ Rs 35/- /m2
Item No. 26@ Rs 6/- /m2.	tem No. 52 @ Rs 150/- /m2
	Item No. 53 @ Rs 1000/- /mt

Total cost of the work shall be **Rs 11,25,147.30** (Rupees Eleven lakhs twenty five thousand one hundred forty seven and paise thirty only). This award is subject the following terms and conditions:

1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is latter and shall be completed within 04 (four)months.

- 2) The EMD of Rs 10270/- deposited by you vide B.C. No.580972 dated 29.05.2010 has been treated as part of SD/Performance Security. To make 5% of the award value as Performance Security, you have to deposit the balance amount of Rs 45,988/- within twenty-eight days of issue of this letter either in the form of DD or in cash with the Chief Cashier, Pathakhera Area. In addition to the above, further 5% of bill value shall be deducted from each on a/c bills as Retention Money to make the total security deposit to the extent of Rs 1,12,515/-. Both the money shall remain at the disposal of the company as Security Deposit and shall not carry any interest.
- 3) In addition to the above, you are further requested to deposit an amount of Rs 8,070/before execution of Agreement/detailed work order of this work towards Addl. Performance Security within 28 days of issue of letter.
- 4) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.
- 5) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.
- The contractor shall indemnify the WCL against all claims for compensation under provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause—shall be final and conclusive.
  - 7) Arrangement of water required for the work and drinking purpose shall be your responsibility.
  - 8) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
  - 9) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the SE(Civil)PKD Civil Dn., for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

STAFF OFFICER (CIVIL), WCL, PATHAKHERA AREA.

- 1) The GM, Pathakhera Area.
- 2) The Dy.CME(P&P), Pathakhera Area.
- 3) The Dy.CPM, Pathakehra Area.
- 4) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/PKD/BC/10-11/Development/04 dt.20.07.2010 for Rs 2,56,000/- .
- 5) The SE(C)PKD Civil Dn., for further needful action.
- 6) The PM (Welfare), Pathakhera Area
- 7) All A.W.C. Member (Throught PM(Welfare) along with copy of BOQ.
- 8) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

#### Schedule

Civil works related to Installation of man riding system at Shobhapur mine of Pathakhera Area.

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	
		PART-A CONSTRUCTION OF PLATEFORM.			
1	2.8.1 P-64	Earth work in excavation by mechanical means (Hydraulic excavator)/manual means in foundation trenches or drains (not exceeding 1.5m in width or 10sqm on plan) including dressing of sides and ramming of bottoms, lift upto 1.5m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50m. All kinds of soil.	m3	7.00	
2	4.1.8 P-79	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering- All work up to plinth level:1:4:8 (1 cement:4 coarse sand:8 graded stone aggregate 40mm nominal size).	cum	7.10	
3	4.1.3 P-79	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering- All work up to plinth level: 1:2:4 (1 cement:2 fine sand:4 graded stone aggregate 20 mm nominal size).	cum	6.80	
4	4.3.1	Centering and shuttering including structting, propping etc. and removal of form work for: foundations, footings, bases for columns.	cum	45.00	
5	2.27 P-67	Supplying and filling in plinth with Jamuna sand under floors including, watering, ramming consolidating and dressing complete.	cum	9.60	
6	11.18 .1 p- 175	Precast terrazo tiles 22mm thick with graded mable chips of sizes upto 12mm in skirting and risers of steps not exceeding 30cm in height on 12mm thick cement plastr 1:3 (1 cement:3 coarse sand) jointed with including rubbing and polishing complete with	sqm	60.00	

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	
		tiles of : Light shade using white cement.			
7	6.32. 2 (-)6.3 3 P- 100	Brick work with clay flyash F.P.S. brick of class designation 75 in superstructure above plinth level up to floor five level in:Cement mortar 1:6 (1 cement:6 coarse sand).	cum	3.15	
8	11.36 P- 177	Providing and fixing Ist quality ceramic glazed wall tiles conforming to IS: 15622 (thickness to be specified by the manufacture) of apporved make in all colours, shades except burgundy, bottle green, black of any size as approved by Engineer-in-charge in skirting, risers of steps; and dados over 12mm thick bed of cement Mortar 1:3 (1 cement:3 coarse sand) and jointing with grey cement slurry @ 3.3kg per sqm including pointing in white cement mixed with pigment of matching shade complete.	m2	23.00	
Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	
		PART-B CONSTRUCTION OF SHAD OVER PLATE RORM.			
1	2.8.1 P-64	Earth work in excavation by mechanical means (Hydraulic excavator)/manual means in foundation trenches or drains (not exceeding 1.5m in width or 10sqm on plan) including dressing of sides and ramming of bottoms, lift upto 1.5m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50m. All kinds of soil.	m3	2.20	
2	4.1.8 P-79	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering- All work up to plinth level:1:4:8 (1 cement:4 coarse sand:8 graded stone aggregate 40mm nominal size).	cum	0.40	
3	4.1.3 P-79	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering- All work up to plinth level: 1:2:4 (1 cement:2 fine sand:4 graded stone aggregate 20 mm nominal size).	cum	2.00	
4	10.19 P- 165	Providing and fixisng M.S. Round holding down bolts with nuts and washer plates compoete.	kg	313.00	
5	4.3.1	Centering and shuttering including structting,	cum	16.00	

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	
		propping etc. and removal of form work for: foundations, footings, bases for columns.			
6	10.2 P- 163	Structure steel work work riveted, bolted or welded in built up sections, trusses and framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete.	kg	2500.00	
7	12.47 p-	Providing & fixisng UV stabilised fiberglass reinforced plastic sheet roofing up to any pitch including fixing with polymer coated 'J' or 'L' hooks bolts & nuts 8mm dia G.I. plain/bitumen washers complete but excluding the cost of purlins, rafters, trusses etc. The sheets shall be manufactured out of 2400 TEX panel rovigs incorporating minimum 0.3% Ultra-violet stabiliser in resin system under approximately 2400 psi and hot cured. They shall be of uniform pigmentation and thickness without air pockets and shall conform to IS 10192 and IS 12866. The sheets shall be opaque or translucent clear or pigmented, textured or smooth as specified. 2Mm thick corrugated (2.5" or 4.2" or 6") or step-down(2" or 3" or 6") as specified.	sqm	110.00	
1	NON SOR	Painting of structural steel work with synthetic eminal paint of approved brand on New work two or more coats to give an even shade.	MT	2.50	
Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	
		PART-C CONSTRUCTION OF CERVICE RAMP.			
1	2.8.1 P-64	Earth work in excavation by mechanical means (Hydraulic excavator)/manual means in foundation trenches or drains (not exceeding 1.5m in width or 10sqm on plan) including dressing of sides and ramming of bottoms, lift upto 1.5m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50m. All kinds of soil.	m3	66.00	
2	4.1.8 P-79	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering- All work up to plinth level:1:4:8 (1	cum	3.50	

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	
		cement:4 coarse sand:8 graded stone aggregate 40mm nominal size).			
3	5.2.3 P-88	Reinforced cement concrete work in walls (any thickness), including attached pilasters, buttresses, plinth and string coursed, fillets, columns, pillars, piers, abutments, posts and struts etc. up to floor five level excluding cost of centering, shuttering, finishing and reinforcement: 1:2:4 (1 cement:2 coarse sand:4 graded stone aggregate 20mm nominal size).	cum	21.00	
4	5.9.2 P-89	Centering and shuttering including strutting, propping etc. and removal of form for: Walls (any thickness) including attached pilasters, butteresses, plinth and string courses etc.	m2	87.00	
5	10.19 P- 165	Providing and fixisng M.S. Round holding down bolts with nuts and washer plates compoete.	kg	333.00	
6	5.22. 3 P- 92	Reinforcement for RCC work including straightening, cutting, bending, placing in position and binding all complete. Cold twisted bars.	kg	1100.00	
7	10.2 P- 163	Structure steel work work riveted, bolted or welded in built up sections, trusses and framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete.	kg	750.00	
8	13.16 .1 P- 202	6mm cement plaster of mix: 1:3 (1 cement:3 fine sand).	sqm	45.00	
	11.4. P- 172	52 mm thick cement concrete flooring with concrete hardener topping under layer 40mm thick cement concrete 1:2:4 (1 cement :2 coarse sand :4 graded stone aggregate 20mm nominal size) and top layer 12mm thick cement hardener consisting of mix 1:2 (1 cement hardener mix : 2 graded stone aggregate 6mm nominal size) by volume hardening compound is mixed @ 2 litre per 50kg of cement or as per manufactureres specifications. This includes cost of cement slurry, but excluding the cost of nosing of steps etc. complete.	sqm	16.00	
9	13.37 .1 P204	White washing with lime to give an even shade: New work (three or more coats).	m2	45.00	
10	NON SOR	Painting of structural steel work with synthetic eminal paint of approved brand on New work two or more coats to give an even shade.	МТ	750.00	

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	
Sl. No.	1	Description of Item as per DSR 2007	Unit	Qnty.	
		PART-D CONSTRUCTION OF HAULAGE ROOM WITH FOUNDATION			
	15.28 .1 p- 228	Dismantling roofing including ridges, hips valleys and gutters etc., and stcking the material within 50 metres lead of: G.S. Sheet.	sqm	103	
	15.18 P- 228	Dismantling steel wwork in built up sections in angles, tees, flats and channels including all gusset plats, bolts, nuts, cutting rivets, welding etc. includiong dismembering and stacking within 50metres lead.	kg	2100.00	
	15.7. 4 P- 226	Demolishing brick work manually/ by mechanical means including stacking of serviceable material and disposal of unserviceable material within 50 metres lead as sper direction of Engineer-in-charge.	cum	28.00	
	2.8.1 P-64	Earth work in excavation by mechanical means (Hydraulic excavator)/manual means in foundation trenches or drains (not exceeding 1.5m in width or 10sqm on plan) including dressing of sides and ramming of bottoms, lift upto 1.5m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50m. All kinds of soil.	m3	90.00	
	4.1.8 P-79	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering- All work up to plinth level:1:4:8 (1 cement:4 coarse sand:8 graded stone aggregate 40mm nominal size).	cum	6.20	
	4.1.3 P-79	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering- All work up to plinth level: 1:2:4 (1 cement:2 fine sand:4 graded stone aggregate 20 mm nominal size).	cum	4.60	
	10.19 P- 165	Providing and fixisng M.S. Round holding down bolts with nuts and washer plates compoete.	kg	460.00	
	6.32. 2 (-)6.3 3 P-	Brick work with clay flyash F.P.S. brick of class designation 75 in superstructure above plinth level up to floor five level in:Cement mortar 1:6 (1 cement:6 coarse sand).	cum	6.80	

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	
	100				
	6.32. 2 P- 100	Brick work with clay flyash F.P.S. brick of class designation 75 in superstructure above plinth level up to floor five level in:Cement mortar 1:6 (1 cement:6 coarse sand).	cum	12.80	
	13.1. 2 P- 201	12mm cement plaster of mix: 1:6 (1cement : 6 fine sand).	sqm	136.00	
	5.3 P-88	Reinforced cement concrete work in beams, suspended floors, foofs having slope up to 15 landings, balconies, shelves, chajjas, lintels, bands, plain window sills, staircases and spiral stair cases up to floor five level excluding the cost of centering, shuttering, finishing and reinforcement with 1:2:4 (1 cement:2 coarse sand:4 graded stone aggregate 20mm nominal size).	m3	0.30	
	5.22. 3 P- 92	Reinforcement for RCC work including straightening, cutting, bending, placing in position and binding all complete. Cold twisted bars.	kg	2382.00	
	5.9.5 P-89	Centering and shuttering including strutting, propping etc. and removal of form for: Lintels, beamns, plinth beams, girders, bressumers and cantilevers.	sqm	1.90	
	5.9.1 9 P-89	Centering and shuttering including strutting, propping etc. and removal of form for: weather shade, chajja, corbels etc., including edges.	sqm	3.00	
	5.4 P-88	Providing and laying up to floor five level reinforced cement concrete in kerbs, steps and the like excluding the cost of centering, shuttering, finishing and reinforcement with 1:2:4 (1 cement:2 coarse sand: 4 graded stone aggregate 20mm nominal size).	cum	0.70	
	4.1.3 P-79	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering- All work up to plinth level: 1:2:4 (1 cement:2 fine sand:4 graded stone aggregate 20 mm nominal size).	cum	2.25	
	10.2 P- 163	Structure steel work work riveted, bolted or welded in built up sections, trusses and framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete.	kg	1626.00	
	5.1.2 P-88	Providing and laying in position specified grade of reinforced cement concrete excluding the cost of centering, shuttering, finishing and reinforcement- All work up to plinth level: 1:1.5:3 (1 cement:1.5 coarse sand:3 graded stone aggregate 20mm nominal size).	cum	29.00	
	12.1.	Providing corrugated G.S. sheet roofing including	m2	36.00	

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.		
	3 P- 186	vertical/curved surface fixed with polymer coated J or L hooks, bolts and nuts 8 mm diameter with bitumen and G.I. Limpet washers or with G.I. Limpet washers filled with white lead and including a coat of approved steel primer and two coats of approved paint on overlapping of sheets complete (up to any pitch in horizontal/vertical or curved surfaces) excluding the cost of purlins, rafters and trussed and including cutting to size and shape wherevaer required. 0.63mm thick with zinc coating not less than 275gm/m2				
		Providing and fixing 1mm thick M.S. sheet door with frame of 40x40x6mm angle iron and 3mm M.S. gusset plates at the junctions and corners, all necessary fittings complete, including applying a priming coat of approved steel primer. Using flats 30x6mm for diagonal braces and central cross piece.	m2	5.00		
	1	Painting with synthetic enamel paint of approved brand and manufacture to give an even shade: Two or more coats on new work.	m2	12.00		
	13.37 .1 P204	White washing with lime to give an even shade: New work (three or more coats).	m2	140.00		
	13.54 .1 P- 206	Applying a coat of mordant solution on G.S. sheet: With a solution fo 38 gms of copper acetate in a litre of soft water.	sqm	51.00		
	13.53 .1 P- 206	Painting on G.S. sheet with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade: New work (two or more coats) including a coat of approved steel primer but excluding a coat of mordant solution.	sqm	51.00		
	5.9.2 P-89	Centering and shuttering including strutting, propping etc. and removal of form for: Walls (any thickness) including attached pilasters, butteresses, plinth and string courses etc.	m2	113.00		
10	NON SOR	Painting of structural steel work with synthetic eminal paint of approved brand on New work two or more coats to give an even shade.	MT	1.63		
					Total=Rs	



No. PK/Civil/ 1636/ Dated 04.08.2010

To

Shri Dilip S. Deshmukh Contractor, PATHAKHERA. **AWARD LETTER** 

REGISTERED AD. / BY HAND.

Sub: W/w, C/w, distempering, Painting and misc. repair of service bldg. At Shobhapur mine at Pathakhera Area.

Ref: NIT.No. S-30/2009-10 dated 11.11.2009

Dear Sir,

With reference to your tender dated 20.11.2009, the management of the company is pleased to award you the subject work at your quoted rate 8.00% below DSR-2007 & NON SOR item No.1) 40/-cum, item No.2) 3.00/-sqm. Amounting to Rs 1,33,375.63/- (Rupees One lakh thirty three thousand three hundred seventy five and paise sixty three only). This award is subject the following terms and conditions:

1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is latter and

shall be completed within 15 (fifteen)days.

- 3) The EMD of Rs 1500/- deposited by you vide D.D. No.308983 dated 20.11.2009 has been treated as part of SD/Performance Security. To make 5% of the award value as Performance Security, you have to deposit the balance amount of Rs 5,169/- within twenty-eight days of issue of this letter either in the form of DD or in cash with the Chief Cashier, Pathakhera Area. In addition to the above, further 5% of bill value shall be deducted from each on a/c bills as Retention Money to make the total security deposit to the extent of Rs 13,338/-. Both the money shall remain at the disposal of the company as Security Deposit and shall not carry any interest.
- 3) In addition to the above, you are further requested to deposit an amount of Rs 525/before execution of Agreement/detailed work order of this work towards Addl. Performance Security within 28 days of issue of letter.
- 4) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.
- 5) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.

#### // 2 //

- The contractor shall indemnify the WCL against all claims for compensation under provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause—shall be final and conclusive.
  - 7) Arrangement of water required for the work and drinking purpose shall be your responsibility.
    - 8) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
  - 9) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the SE(Civil)Tawa., for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of

the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

STAFF OFFICER (CIVIL), WCL, PATHAKHERA AREA.

#### Copy to:

- 1) The GM, Pathakhera Area.
- 2) The Dy.CPM,Pathakehra Area.
- 3) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/ PKD/BC/10-11/OCW surface/36 dt.31.07.2010 for Rs 1,33,376/- .
- 4) The SE(C) Tawa, for further needful action.
- 5) The PM (Welfare), Pathakhera Area
- 6) All A.W.C. Member (Throught PM(Welfare) along with copy of BOQ.
- 7) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

W/w, C/w, distempering Painting and misc. repair of survice building at Shobhapur mine at Pathakhera Area.

SI.	Code	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
No.	No.					
		White washing with lime to give an evaen shade: Old work (one or more coats).	sqm	4000.00	2.55	10200.00
	P-204	Applying one coat of cement primer of approved brand and manufacture on wall surface: Cement primer.	sqm	200.00	17.20	3440.00

	14.46 P-219	Removing dry or oil bound distemper, water proofing cement paint and the like by scrapping, sand papering and preparing the surface smooth including necessary repairs to scratches etc. complete.	sqm	200.00	4.25	850.00
	14.45.1 P-219	Distempering with oil bound washable distemper of approved brand and manufacture to give an even shade: Ole work(one or more coats).	sqm	2000.00	14.90	29800.00
	14.1.1 P-215	Repairis to plaster of thickness 12mm to 20mm in patches of area 2.5sqm and under including cutting the patch in proper shae, raking out joints and preparing and plastering the surface of the walls complete including disposal of rubbish to the dumping ground within 50m lead: With cement mortar 1:4 (1 cement: 4 fine sand).		75.00	114.35	8576.25
	14.54.1 P-220	Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade: One or more coats on old work.	sqm	470.00	22.85	10739.50
7	14.64.1	Finishing walls with water proofing cement paint of required shade: Old work(one or more coats applied @ 2.20kg/10sqm) over priming coat of primer applied @ 0.80 litrs/10sqm complete including cost of priming coat.	sqm	900.00	27.95	25155.00
8	14.66.2	Finishing walls with Acrylic Smooth exterior paint of required shade: Old work (one or more coat appliced @ 0.90ltr/10sqm).	sqm	250.00	22.80	5700.00
	14.5.1 P-215	Renewing glass panes, with putty and nails wherever necessary: Float glass panes of thickness 4mm.	sqm	15.00	427.60	6414.00
	14.55.1 P-220	Painting with aluminium paint of approved brand and manufacture to give an even shade: One or more coats on old work.	Nos	600.00	18.25	10950.00
11	2.32	Cleaning grass and removal of the rubbish up to a distance of 50m outside the periphery of the area cleared.	sqm	1100.00	135.65/ 100sqm	1492.15
	16.3.10 P-240	Supplying and stacking at site. Moorom	cum	40.00	421.85	16874.00
	. 2.10	Add/deduct% above or below DSR-2007.  NON SOR ITEMS(Please quote the			Total=Rs	130190.90
		item rate only).				
1	non sor	Spreading of moorum including spraying water & leveling	m3	40.00		
2	non sor		m2	4000.00		
		,			Total=Rs	



No. PK/Civil/ 1637/ Dated 12.08.2010

To

Shri Sunil Ku. Singh Contractor, PATHAKHERA.

#### **AWARD LETTER**

REGISTERED AD. / BY HAND.

Sub: Emergent repair of Sanitary system of Shobhapur colony

of Pathakhera Area.

Ref: NIT.No. Q-03/2010-11 dated 18.05.2010

Dear Sir,

With reference to your tender dated 03.06.2010, the management of the company is pleased to award you the subject work at your quoted rate AT PAR & NON SOR item No.1) 100/-each, item No.2) 330/-sqm. Amounting to Rs 82,249.83/- (Rupees Eighty two thousand two hundred forty nine and paise eighty three only). This award is subject the following terms and conditions:

- 1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is latter and shall be completed within 03 (three)months.
- 2) The EMD of Rs 821/- deposited by you vide D.D. No.310835 dated 02.06.2010 has been treated as part of SD/Performance Security. To make 5% of the award value as Performance Security, you have to deposit the balance amount of Rs 3,292/- within twenty-eight days of issue of this letter either in the form of DD or in cash with the Chief Cashier, Pathakhera Area. In addition to the above, further 5% of bill value shall be deducted from each on a/c bills as Retention Money to make the total security deposit to the extent of Rs 8,225/-. Both the money shall remain at the disposal of the company as Security Deposit and shall not carry any interest.
- 3) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.
- 4) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.
- 6) The contractor shall indemnify the WCL against all claims for compensation under

the provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause—shall be final and conclusive.

Contd...2/-

## // 2 //

- 6) Arrangement of water required for the work and drinking purpose shall be your responsibility.
  - 8) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
- 9) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the SE(Civil)Sat.Dn., for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

STAFF OFFICER (CIVIL), WCL, PATHAKHERA AREA.

- 1) The GM, Pathakhera Area.
- 2) The Sr.Manager, Pathakehra Area.
- 3) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/PKD/BC/10-11/Sanitary/07 dt.10.08.2010 for Rs 82,825/- .
- 4) The SE(C) Sat.Dn, for further needful action.
- 5) The PM (Welfare), Pathakhera Area
- 6) All A.W.C. Member (Throught PM(Welfare) along with copy of BOQ.
- 7) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

Emergent repairs of Sanitary system of Shobhapur colony of Pathakhera Area.

G!		Danis of Samuary System of Shooma	T .	1	D 4	
Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
1	15.2.1 P-226	Demolishing cement concrete manually/ by mechanical means including disposal of material within 50 metres lead as per direction of Engineer-In-charge. 1:3:6 or richer mix.	cum	1.55	368.45	571.10
2	4.1.9 P-79	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering- All work up to plinth level: 1:4:8 (1 cement:4 fine sand:8 graded stone aggregate 40 mm nominal size).	cum	1.55	2296.15	3559.03
3	6.32.2 P-100 (-) 6.5	Brick work with clay flyash F.P.S. brick of class designation 75 in superstructure above plinth level up to floor five level in:Cement mortar 1:6 (1 cement: 6 coarse sand).	cum	5.00	1944.70	9723.50
4	13.7.2 P-201	12mm cement plaster finished with a floating coat of neat cement of mix: 1:4 (1 cement :4 fine sand)	sqm	150.00	97.90	14685.00
5	17.13. 2 P- 266	Providing and fixisng white vitreous china water closet squatting pan (Indian type). Orissa pattern W.C. pan of size 580x440mm.	each	15.00	1010.85	15162.75
6	11.3.1	Cement concrete flooring 1:2:4 (1	sqm	20.00	192.95	3859.00

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
	P-172	cement:2 coarse sand:4 graded stone aggregate) finished with a floating coat of neat cement including cement slurry, but excluding the cost of nosing of steps etc. complete. 40mm thick with 20mm nominal size stone aggregate.				
7	12.42. 5.2 P- 192	Providing and fixing on wall face unplasticised -PVC moulded fittings/accessories for unplasticised Rigid PVC rain water pi;es conforming to IS: 13592 Type A including jointing with seal ring conforming to IS: 5382 leaving 10mm gap for thermal expansion. 110mm bend	no	50.00	134.20	6710.00
8	12.40. 2 P- 192	Providing and fixing on wall face unplasticised Rigid PVC rain water pipes conforming to IS: 13592 Type A including jointing with seal ring conforming to IS:5382 leaving 10mm gap for thermal expansion (I) Single socketed pipes. 110mm diameter.	Nos	18.00	163.40	2941.20
9	12.43. 2 P- 192	Providing and fixing unplasticised PVC pipe clips of approved design to unplaticised PVC rain water pipes by means of 50x50x50mm hard wood plugs, screwed with M.S. Screws of required length including cutting bricks work and fixing in cement mortar 1:4 (1 cement :4 coarse sand) and making good the wall etc. Complete.110mm	Nos	55.00	96.90	5329.50
10	2.10.1. 2 P-65	Excating trenches of required width for pipes, cables, etc including excavation for sockets and dressing of sides, ramming of bottoms, depth up to 1.5m including getting out the excavated soil, and then returning the soil as required in layers not exceeding 20cm in depth including consolidating each deposited layer by ramming, watering, etc. And disposing of surplus excavated soil as directed within a lead of 50m.  Pipes cables etc not exceeding 80mm dia.but not exceeding 300mm dia.	mtr	25.00	115.05	2876.25
11	19.1.1 P-315	Providing laying and jointing glazed stoneware pipes grade "A" with stiff mixture of cement mortar in the proportion of 1:1 (1 cement:1 fine sand)	metre	25.00	105.90	2647.50

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
		including testing of joints etc. complete.				
12	19.3.1 P-315	Providing and laying cement concrete 1;5:10 (1 cement:5 coarse sand:10 graded tone aggregate 40mm nominal size) up to haunches of S.W. Pipes including bed concrete as per standared design: 100mm diameter S.W. Pipe.	metre	25.00	157.40	3935.00
		Deduct 12.00% below DSR-2007.			Total = (-) Rs	71999.83 0.00
		NON SOR ITEM ( Please quote the item	Rate.			
13	Analys	Cleaning and disludging of I/Cambers	Nos	20.00	100.00	2000.00
14	Analys	Providing and fixing cement mortar 1:6 red sand stone slab 30mm thick	sqm	25.00	330.00	8250.00
		(Rupees eighty two thousand two hundred forty nine and paise eighty three			Total =	82,249.83



Tο

M.D. Qurban Ansari Contractor, PATHAKHERA.

## **AWARD LETTER**

## **REGISTERED AD. / BY HAND.**

Sub: Repair and white washing, colour wshing, distempering, painting etc. of water treatment plant at Pathakhera Area.

Ref: NIT.No. S-40(2)/2010-11 dated 08.02.2010

Dear Sir,

With reference to your tender dated 17.02.2010, the management of the company is pleased to award you the subject work at your quoted rate 44.00% below & NON SOR item No.1) 2.20/-/sqm. Amounting to Rs 91,559.49 (Rupees Ninety one thousand five hundred fifty nine and paise forty nine only). This award is subject the following terms and conditions:

- 1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is latter and shall be completed within 01 (one)month.
- 2) The EMD of Rs 1656/- deposited by you vide B.C. No.579633 dated 15.02.2010 has been treated as part of SD/Performance Security. To make 5% of the award value as Performance Security, you have to deposit the balance amount of Rs 2922/- within twenty-eight days of issue of this letter either in the form of DD or in cash with the Chief Cashier, Pathakhera Area. In addition to the above, further 5% of bill value shall be deducted from each on a/c bills as Retention Money to make the total security deposit to the extent of Rs 9,156/-. Both the money shall remain at the disposal of the company as Security Deposit and shall not carry any interest.
- 3) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.
- 4) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.
- The contractor shall indemnify the WCL against all claims for compensation under provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause—shall be final and conclusive.

Contd...2/-

- 6) Arrangement of water required for the work and drinking purpose shall be your responsibility.
  - 8) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
- 9) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the SE(Civil)PKD.Dn., for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

STAFF OFFICER (CIVIL), WCL, PATHAKHERA AREA.

- 1) The GM, Pathakhera Area.
- 2) The Sr.Manager, Pathakehra Area.
- 3) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/ PKD/BC/10-11/OCW Surface/35 dt.21.08.2010 for Rs 91,559/- .
- 4) The SE(C) PKF Dn, for further needful action.
- 5) The PM (Welfare), Pathakhera Area
- 6) All A.W.C. Member (Throught PM(Welfare) along with copy of BOQ.
- 7) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

Repair and white wahsing, colour washing, distempering, painting etc. Of

water tretment plant at Pathakhera Area.

		water tretment plant at Pathakhera Area.				
SI. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
	14.42.1 P-219	White washing with lime to give an even shade: Old work (two or more coats).	sqm	900.00	4.10	3690.00
2	14.64.1	Finishing walls with water proofing cement paint of required shade: Old work(one or more coats applied @ 2.20kg/10sqm) over priming coat of primer applied @ 0.80 litrs/10sqm complete including cost of priming coat.	sqm	2700.00	27.95	75465.00
	13.43.1 P-204	Applying one coat of cement primer of approved brand and manufacture on wall surface: Cement primer.	sqm	1000.00	17.20	17200.00
4	14.45.1	Distempering with oil bound whable distemper of approved brand and manufacture to give an even shade: Old work (one or more coats).	sqm	1400.00	14.90	20860.00
_	14.54.1 P-220	Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade: One or more coats on old work.	sqm	689.00	22.85	15743.65
6	13.71	Lettering with black Japan paint of approved brand and manufacture.	letter	5350.00	0.90	4815.00
7	16.3.10	Supplying and stacking at site. Moorum.	cum	18.00	421.85	7593.30
	16.6.1 P-240	Supplying, stacking and spreading 6mm thick red bajri, watering and rolling complete including preparation of the surface and rolling. With road roller/hand roller.	sqm	360.00	6.70	2412.00
	15.56 P-231	Dismantling old plaster or skirting raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 metres lead.	sqm	100.00	8.20	820.00
	13.4.2 P-201	12mm cement plaster of mix: 1:6 (1 cement : 6 coarse sand).	m2	100.00	72.70	7270.00
	14.5.1 P-215	Renewing glass panes, with putty and nails wherever necessary: Float glass panes of thickness 4mm.	sqm	5.00	427.60	2138.00
		Add/deduct% above or below DSR- 2007.			Total =	158006.95
1	NON SOR	Colour washing old work two or more coats with lime.	sqm	1398.00		
					Total =	



No. PK/Civil/ 1639/

Dated 27.08.2010

To

Shri N.K. Singh Contractor, PATHAKHERA.

## **AWARD LETTER**

## REGISTERED AD. / BY HAND.

Sub: Making shed of drivehead and shift setting on TB-1 at Chhatarpur mine No.1 at Pathakhera Area.

Ref: NIT.No. P-03/2010-11 dated 11.05.2010

Dear Sir,

With reference to your tender dated 31.05.2010, the management of the company is pleased to award you the subject work at your offered item rate as mention below:

## **Different item rate**

Item No. 1 @ Rs 100.00/- /m3.	Item No. 08 @ Rs 62.00/- /kg
Item No. 2 @ Rs 2350.00/- /m3.	Item No. 09@ Rs 450.00/- /m2
Item No. 3 @ Rs 2950.00/-/m3	Item No. 10 @ Rs 150.00/- /mt
Item No. 4 @ Rs 80.00/- /kg	Item No. 11 @ Rs 35.00/- /m2
Item No. 5 @ Rs 175.00/- /m2.	Item No. 12 @ Rs 45.00/- /kg
Item No. 6 @ Rs 2100.00/- /m3.	Item No. 13 @ Rs 700.00/- /mt
Item No. 7 @ Rs 3400/-/m3.	

Total cost of the work shall be **Rs 5,92,774.50** (Rupees five lakhs ninety two thousand seven hundred seventy four and paise fifty only). This award is subject the following terms and conditions:

1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is latter and

shall be completed within 04 (four)months.

- 2) The EMD of Rs 5114/- deposited by you vide DD. No.310820 dated 31.05.2010 has been treated as part of SD/Performance Security. To make 5% of the award value as Performance Security, you have to deposit the balance amount of Rs 24,525/- within twenty-eight days of issue of this letter either in the form of DD or in cash with the Chief Cashier, Pathakhera Area. In addition to the above, further 5% of bill value shall be deducted from each on a/c bills as Retention Money to make the total security deposit to the extent of Rs 59,278/-. Both the money shall remain at the disposal of the company as Security Deposit and shall not carry any interest.
- 3) In addition to the above, you are further requested to deposit an amount of Rs 43,308.36/before execution of Agreement/detailed work order of this work towards Addl. Performance Security within 28 days of issue of letter, against ALR Item No. 5 & 9.
- 4) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.
- 5) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.

## // 2 //

- The contractor shall indemnify the WCL against all claims for compensation under provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause—shall be final and conclusive.
  - 7) Arrangement of water required for the work and drinking purpose shall be your responsibility.
  - 8) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
  - 9) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the SE(Civil)Tawa Dn., for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

## Copy to:

- 1) The GM, Pathakhera Area.
- 2) The Sr. Manager(M), Pathakhera Area.
- 3) The Dy.CPM, Pathakehra Area.
- 4) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/ PKD/BC/10-11/OCW Surface/36 dt.27.08.2010 for Rs 5,92,775/- .
- 5) The SE(C)Tawa Civil Dn., for further needful action.
- 6) The PM (Welfare), Pathakhera Area
- 7) All A.W.C. Member (Throught PM(Welfare) along with copy of BOQ.
- 8) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

Making shed of drivehead and shift setting on TB-1 at Chhatarpur Mine No.1 at Pathakhera Area.

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
1	2.8.1 P-64	Earth work in excavation by mechanical means (Hydraulic excavator)/manual means in foundation trenches or drains (not exceeding 1.5m in width or 10sqm on plan) including dressing of sides and ramming of bottoms, lift upto 1.5m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50m. All kinds of soil.	m3	51.00		
2	4.1.9 P-79	Providing and laying in position cement concrete of specified grade excluding the cost of centering	cum	16.00		

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
		and shuttering- All work up to plinth level: 1:4:8 (1 cement:4 fine sand:8 graded stone aggregate 40 mm nominal size).				
3	5.2.3 P-88	Reinforced cement concrete work in walls (any thickness), including attached pilasters, buttresses, plinth and string coursed, fillets, columns, pillars, piers, abutments, posts and struts etc. up to floor five level excluding cost of centering, shuttering, finishing and reinforcement: 1:2:4 (1 cement:2 coarse sand:4 graded stone aggregate 20mm nominal size).	cum	6.10		
4	10.20 P-165	Providing and fixing bolts including nuts and washers complete.	kg	390.00		
5	5.9.6 P-89	Centering and shuttering including strutting, propping etc. and removal of form for: Columns, Pillars, Piers, Abutments, Posts and Struts.	sqm	41.00		
6	6.32. 1 (-)6.3 3 P- 100	Brick work with clay flyash F.P.S. brick of class designation 75 in superstructure above plinth level up to floor five level in:Cement mortar 1:4 (1 cement: 4 coarse sand).	cum	5.40		
7	5.1.2 P-88	Providing and laying in position specified grade of reinforced cement concrete excluding the cost of centering, shuttering, finishing and reinforcement- All work up to plinth level: 1:1.5:3 (1 cement:1.5 coarse sand:3 graded stone aggregate 20mm nominal size).	cum	13.00		
8	10.2 P-163	Structural steel work riveted, bolted or welded in built up sections, trusses and framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete.	kg	4735.00		
9	12.1. 3 P- 186	Providing corrugated G.S. sheet roofing including vertical/curved surface fixed with polymer coated J or L hooks, bolts and nuts 8 mm diameter with bitumen and G.I. Limpet washers or with G.I. Limpet washers filled with white lead and including a coat of approved steel primer and two coats of approved paint on overlapping of sheets complete (up to any pitch in horizontal/vertical or curved surfaces) excluding the cost of purlins, rafters and trussed and including cutting to size and shape wherevaer required. 0.63mm thick with zinc coating not less than 275gm/m2	m2	205.00		
10	12.11 P-187	Extra for providing and fixing wind ties of 40x6mm flat iron section.	Mtr.	90.00		

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
11	13.53 .1 P- 206	Painting on G.S. sheet with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade: New work (two or more coats) including a coat of approved steel primer but excluding a coat of mordant solution.	sqm	308.00		
12	5.22. 3 P- 92	Reinforcement for RCC work including straightening, cutting, bending, placing in position and binding all complete. Cold twisted bars.	kg	550.00		
13	Analy sed item	Painting of structural steel work with synthetic eminal paint of approved brand on New work two or more coats to give an even shade.	Mt.	4.735		
					Total =	



No. PK/Civil/ 1640/ Dated 08.09.2010

To

Shri N.K. Singh Contractor, PATHAKHERA.

## **AWARD LETTER**

## REGISTERED AD. / BY HAND.

Sub: Connecting of main approach road of Rescue colony and Bagdona colony to Bagdona main road at Pathakhera Area.

Ref: NIT.No. s-05/2010-11 dated 12.05.2010

Dear Sir,

With reference to your tender dated 16.07.2010, the management of the company is pleased to award you the subject work at your offered item rate as mention below:

## Different item rate

Item No. 1 @ Rs 125.00/- /m3. Item No. 2 @ Rs 2850.00/- /m3. Item No. 03 @ Rs 3150.00/- /m3 Item No. 04@ Rs 132.00/- /m2

Rebate 10.05%

Total cost of the work shall be **Rs 1,03,579.22** (Rupees one lakh three thousand five hundred seventy nine and paise twenty two only). This award is subject the following terms and conditions:

- 1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is latter and shall be completed within 02 (two)months.
- 2) The EMD of Rs 1258/- deposited by you vide DD. No.310434 dated 06.04.2010 has been treated as part of SD/Performance Security. To make 5% of the award value as Performance Security, you have to deposit the balance amount of Rs 3921/- within twenty-eight days of issue of this letter either in the form of DD or in cash with the Chief Cashier, Pathakhera Area. In addition to the above, further 5% of bill value shall be deducted from each on a/c bills as Retention Money to make the total security deposit to the extent of Rs 10,358/-. Both the money shall remain at the disposal of the company as Security Deposit and shall not carry any interest.
- 3) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract

period.

- 4) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.
- The contractor shall indemnify the WCL against all claims for compensation under provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause—shall be final and conclusive.

// 2 //

- 7) Arrangement of water required for the work and drinking purpose shall be your responsibility.
- 8) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
- 9) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the SE(Civil)Tawa Dn., for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

STAFF OFFICER (CIVIL), WCL, PATHAKHERA AREA.

- 1) The GM, Pathakhera Area.
- 2) The Sr. Manager(M), Pathakhera Area.
- 3) The Dy.CPM, Pathakehra Area.
- 4) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/PKD/BC/10-11/colony road/03 dt. 07.09.2010 for Rs 1,03,579/- .
- 5) The SE(C)Tawa Civil Dn., for further needful action.
- 6) The PM (Welfare), Pathakhera Area
- 7) All A.W.C. Member (Throught PM(Welfare) along with copy of BOQ.
- 8) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

# BILL OF QUANTITY Connecting of main approach road of Rescue colony & Bagdona colony to Bagdona main road at Pathakhera Area.

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
1	2.8.1 P-64	Earth work in excavation by mechanical means (Hydraulic excavator)/manual means in foundation trenches or drains (not exceeding 1.5m in width or 10sqm on plan) including dressing of sides and ramming of bottoms, lift upto 1.5m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50m. All kinds of soil.	cum	36.00		
2	4.1.9 P-79	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering- All work up to plinth level: 1:4:8 (1 cement:4 fine sand:8 graded stone aggregate 40 mm nominal size).	cum	12.00		
3	4.1.3 P-79	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering- All work up to plinth level: 1:2:4 (1 cement:2 fine sand:4	cum	23.60		

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
		graded stone aggregate 20 mm nominal size).				
4	4.3.1	Centering and shuttering including structting, propping etc. and removal of form work for: foundations, footings, bases for columns.	sqm	16.00		
					Total =	



No. PK/Civil/ 1641/ Dated 09.09.2010

То

Shri Vivekanand Singh Contractor, PATHAKHERA. **AWARD LETTER** 

**REGISTERED AD. / BY HAND.** 

Sub: Making plateform for sitting arrangement in front of Area Hospital of Pathakhera Area.

Ref: NIT.No. S-06/2010-11 dated 09.06.2010

Dear Sir,

With reference to your tender dated 21.06.2010, the management of the company is pleased to award you the subject work at your quoted rate 5.20% below DSR-2007. Amounting to Rs 2,24,105.35 (Rupees two lakhs twenty four thousand one hundred five and paise thirty five only). This award is subject the following terms and conditions:

- 1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is latter and shall be completed within 02 (two)months.
- 2) The EMD of Rs 2364/- deposited by you vide BC. No.581252 dated 21.06.2010 has been treated as part of SD/Performance Security. To make 5% of the award value as Performance Security, you have to deposit the balance amount of Rs 8,842/- within twenty-eight days of issue of this letter either in the form of DD or in cash with the Chief Cashier, Pathakhera Area. In addition to the above, further 5% of bill value shall be deducted from each on a/c bills as Retention Money to make the total security deposit to the extent of Rs 22,411/-. Both the money shall remain at the disposal of the company as Security Deposit and shall not carry any interest.
- 3) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.
- 4) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.
- The contractor shall indemnify the WCL against all claims for compensation under provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause—shall be final and conclusive.
- 6) Arrangement of water required for the work and drinking purpose shall be your responsibility.

// 2 //

7) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.

8) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the Sr.EE(Civil)AHQ, for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

STAFF OFFICER (CIVIL), WCL, PATHAKHERA AREA.

- 1) The GM, Pathakhera Area.
- 2) The Sr. Manager(M), Pathakhera Area.
- 3) The Dy.CPM, Pathakehra Area.
- 4) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/PKD/BC/10-11/Residential /welfare/29 dt. 07.09.2010 for Rs 2,24,105/- .
- 5) The Sr.EE(C) AHQ., for further needful action.
- 6) The PM (Welfare), Pathakhera Area
- 7) All A.W.C. Member (Throught PM(Welfare) along with copy of BOQ.
- 8) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

## Schedule of Quantity Making plateform for sitting arrangement in front of Area Hospital of Pathakhera Area.

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
1	2.8.1 P-64	Earth work in excavation by mechanical means (Hydraulic excavator)/manual means in foundation trenches or drains (not exceeding 1.5m in width or 10sqm on plan) including dressing of sides and ramming of bottoms, lift upto 1.5m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50m. All kinds of soil.	m3	9.00	103.40	930.60
2	4.1.8 P-79	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering- All work up to plinth level:1:4:8 (1 cement:4 coarse sand:8 graded stone aggregate 40mm nominal size).	cum	2.40	2449.00	5877.60
3	6.34.2 P- 102(-)6. 33	Brick work with modular fly ash lime bricks (FALG Bricks) conforming to IS: 12894-2002, class designation 100 average compressive strength in super structure above plinth level up to floor V level in: Cement mortar: 1:6 (1 cement:6 coarse sand).(-) Extra for exposed brick work/clay fiyash brick work in superstructure above floor five level for each foru floors or part thereof.	cum	12.25	2047.65	25083.71
4	6.34.2 P-102	Brick work with modular fly ash lime bricks (FALG Bricks) conforming to IS: 12894-2002, class designation 100 average compressive strength in super structure above plinth level up to floor V level in: Cement mortar: 1:6 (1 cement:6 coarse sand).	cum	3.20	2283.30	7306.56
5	2.25 P-67	Filling available excavated earth (excluding rock) in trenches, plinth, sides of foundations etc. In layers not exceeding 20cm in depth, consolidating each deposited layer by ramming and watering, lead up to 50m and lift upto 1.5m.	cum	57.00	45.70	2604.90
6	4.1.6	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering-All work up to plinth level: 1:3:6 (1 cement:3 coarse sand:6 graded stone aggregate 40mm nominal size.	cum	17.00	2713.05	46121.85
7	11.26.1 P-176	Lota stone slab fooring over 20mm (average) thick base laid over and jointed with grey cement slurry mixed with pigment to match the shade of the slab including rubbing and polising complete with base of cement mortar 1:4 (1 cement:4 coarse sand).25mm thick.	sqm	164.00	694.40	113881.60

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
8	13.1.2 P-201	12mm cement plaster of mix: 1:6 (1cement : 6 fine sand).	sqm	32.00	67.65	2164.80
9	8.9.1.2 P-121	Stone tile(polished) work for wall lining over 12mm thick bed of cement mortar 1:3 (1 cement:3 coarse sand) and cement slurry @ 3.3kg/sqm including pointing ing white cement complete. Granite of any colour and shade.	sqm	22.00	1116.30	24558.60
10	2.6.1 P-64	Earth work in excavation by mechanical means (Hydraulic excavator)/manual means over areas(exceeding 30cm in depth 1.5m in width as well as 10 sqm on plan) including disposal of excavated earth, lead up to 50m and lift up to 1.5m disposed erth to be levelled and neatly dressed. All kinds of soil.	cum	49.00	101.85	4990.65
11	1.1.2 P-54	Carriage of earth by mechanical frams part incukding, loading, unloading and stacking, lead upto 1 km.	cum	49.00	49.42	2421.58
12	18.57.1 P-301	Providing and fixing PTMT, push cock of approved quality and colour, 15mm nominal bore, 98mm long. Weighing not lesh than 75gms.	each	4.00	113.90	455.60
		Add/deduct% above or below DSR-2007.			Total =	236398.05



No. PK/Civil/ 1642/ Dated 22.09.2010

To

Shri Saroj Ku. Singh Contractor, PATHAKHERA.

## **AWARD LETTER**

## REGISTERED AD. / BY HAND.

Sub: Through repair to vacated/to be vacated qtrs type-III No. 08, 13, 20,59,127,156,175,216,251 =9 units at Shobhapur colony of Pathakhera Area.

Ref: NIT.No. S-09/2010-11 dated 22.09.2010

Dear Sir,

With reference to your tender dated 06.07.2010, the management of the company is pleased to award you the subject work at your quoted rate 1.00% below DSR-2007 & NON SOR item No. 1) 290/-sqm & item No.2) 6.00/-sqm, Amounting to Rs 1,72,319.98 (Rupees one lakh seventy two thousand three hundred nineteen and paise ninety eight only). This award is subject the following terms and conditions:

1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is latter and shall be completed within 02 (two)months.

- 2) The EMD of Rs 1103 /- deposited by you vide DD. No.310796 dated 28.05.2010 & Rs 769/- vide DD.No. 310834 dt. 02.06.2010 (total Rs 1872/-) has been treated as part Performance of SD/Performance Security. To make 5% of the award value as Security, you have to deposit the balance amount of Rs 6,744/- within eight days of issue of this letter either in the form of DD or in cash with the Chief Cashier, Pathakhera Area. In addition to the above, further 5% of bill value shall be deducted from each on a/c bills as Retention Money to make the total security deposit to the extent of Rs 17,232/-. Both the money shall remain the disposal the company as Security Deposit and shall not carry any interest.
- 3) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.
- 4) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.
- The contractor shall indemnify the WCL against all claims for compensation under provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause—shall be final and conclusive.

## // 2 //

- 6) Arrangement of water required for the work and drinking purpose shall be your responsibility.
- 7) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
- 8) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the SE(Civil)Sat.Civil Dn., for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

## Copy to:

- 1) The GM, Pathakhera Area.
- 2) The Sr. Manager(M), Pathakhera Area.
- 3) The Dy.CPM, Pathakehra Area.
- 4) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/PKD/BC/10-11/Residential /32 dt. 18.09.2010 for Rs 1,72,320/- .
- 5) The SE(C) Sat.Civil Dn., for further needful action.
- 6) The PM (Welfare), Pathakhera Area
- 7) All A.W.C. Member (Throught PM(Welfare) along with copy of BOQ.
- 8) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

## **Schedule of Quantity**

Through repairs to vacated /to be vacated qtrs. Type-III qtrs. No. 08,13,20,59,127,156,175,216,251 =9 units at Shobhapur colony of Pathakhera Area.

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
1	1	Dismantling old plaster or skirting raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 metres lead.	sqm	415.00	8.20	3403.00
2		Demolishing cement concrete manually/ by mechanical means including disposal of material	cum	4.00	368.45	1473.80

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
		within 50 metres lead as per direction of Engineer-In-charge. 1:3:6 or richer mix.				
3	6.32.2 P- 100(-) 6.5	Brick work with clay flyash F.P.S. brick of class designation 75 in superstructure above plinth level up to floor five level in:Cement mortar 1:6 (1 cement: 6 coarse sand).	cum	2.50	1944.7	4861.75
4	6.32.1	Brick work with clay flyash F.P.S. brick of class designation 75 in superstructure above plinth level up to floor five level in: Cement mortar 1:4 (1 cement:4 coarse sand).	sqm	1.50	2306.35	3459.53
5	13.1.2 P-201	12mm cement plaster of mix: 1:6 (1cement : 6 fine sand).	sqm	460.00	67.65	31119.00
6	13.16. 1 P- 202	6mm cement plaster of mix: 1:3 (1 cement:3 fine sand).	sqm	25.00	62.15	1553.75
7	13.7.1 P-201	12mm cement plaster finished with a floating coat of neat cement of mix: 1:3 (1 cement: 3 fine sand).	sqm	50.00	97.90	4895.00
8	11.3.1 P-172	Cement concrete flooring 1:2:4 (1 cement:2 coarse sand:4 graded stone aggregate) finished with a floating coat of neat cement including cement slurry, but excluding the cost of nosing of steps etc. complete. 40mm thick with 20mm nominal size stone aggregate.	m2	100.00	192.95	19295.00
9	14.46 P-219	Removing dry or oil bound distemper, water proofing cement paint and the like by scrapping, sand papering and preparing the surface smooth including necessary repairs to scratches etc. complete.	sqm	675.00	4.25	2868.75
10	13.43. 1 P- 204	Applying one coat of cement primer of approved brand and manufacture on wall surface: Cement primer.	sqm	725.00	17.20	12470.00
11	13.42. 1 P- 204	Distempering with 1st quality acrylic washable distemper (ready mixed) of approved manufacturer and of required shade and colour complete. As per manufacturers specification. Two or more coats on new work.	sqm	700.00	23.55	16485.00
12	14.45. 1	Distempering with oil bound whable distemper of approved brand and manufacture to give an even shade: Old work (one or more coats).	sqm	700.00	14.90	10430.00
13	14.54. 1 P- 220	Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade: One or more coats on old work.	sqm	750.00	22.85	17137.50
14	14.42.	White washing with lime to give an even shade:	sqm	880.00	4.10	3608.00

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
	1 P- 219	Old work (two or more coats).				
15	17.13. 2 P- 266	Providing and fixisng white vitreous china water closet squatting pan (Indian type). Orissa pattern W.C. pan of size 580x440mm.	Nos	2.00	1010.85	2021.70
16	17.18. 1 P- 266	Providing and fixing PVC low levael flushing cistern with manufally controlled device (handle lever)conforming to IS:7231, with all fittings and fixtures complete. 10litre capacity white	Nos	2.00	709.75	1419.50
17	18.15. 1 P- 293	Providing and fixing brass bib cock of approved quality: 15mm nominal bore.	Nos	10.00	191.70	1917.00
18	18.16. 1 P- 293	Providing and fixing brass stop cock of approved quality: 15mm nominal bore.	Nos	6.00	191.70	1150.20
19	18.21. 2.1 P- 294	Providing and fixing uplasticised PVC connection pipe with brass unions: 15mm nominal bore	Nos	6.00	44.75	268.50
20	17.28. 2.1 P- 1214	Providing and fixing PVC waste pipe for sink or wash basin including PVC waste fittings complete.32mm dia	Nos	10.00	46.80	468.00
21	17.25. 1 P-267	Providing and fixing white vitreous china wash basin including making all connections but excluding the cost of fittings: flat back wash basin of size 630x450mm.	Nos	2.00	753.00	1506.00
22	17.69. 1 P-274	Providing and fixing PTMT waste coupling for wash basin and sink of approved quality and colour. Waste coupling 31mm of 79mm length and 62mm breadth weighing not less than 45gms.	Nos	6.00	75.80	454.80
23	18.10. 1 P- 292	Providing and fixing G.I. Pipes complete with G.I. Fittings and clamps, including cutting and making good the walls etc. 15mm dia nominal bore.	mtr	12.00	105.85	1270.20
24	18.10. 2 P- 292	Providing and fixing G.I. Pipes complete with G.I. Fittings and clamps, including cutting and making good the walls etc. 20mm dia nominal bore.	mtr	6.00	133.85	803.10
25	18.10. 3 P- 292	Providing and fixing G.I. Pipes complete with G.I. Fittings and clamps, including cutting and making good the walls etc. 25mm dia nominal bore.	mtr	18.00	179.65	3233.70
26	15.7.4 P-226	Demolishing brick work manually/ by mechanical means including stacking of	cum	3.00	310.75	932.25

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
		serviceable material and disposal of unserviceable material within 50 metres lead as sper direction of Engineer-in-charge.				
		Add/deduct% above or below DSR-2007.			Total =	148505.03
		NON SOR ITEM ( Please quote the item rate)				
27		Half brick masonery using clay fly ash bricks in cm 1:4 for water tank.	m2	50.00		
28		Colour washing such as green, blue or buff to give an even shade	m2	1800.00		
					Total =	



No. PK/Civil/ 1643/ Dated 22.09.2010

Tο

Shri S.S. Banait Contractor, PATHAKHERA.

## **AWARD LETTER**

## REGISTERED AD. / BY HAND.

Sub: Repair of vacated/ to be vacated 08 nos Type-IV qtrs at Pathakhera colony (Qr. No. 06, 16, 18, 19, 24, 34, 37 & 38) of Pathakhera Area.

Ref: NIT.No. S-08/2010-11 dated 14.06.2010

Dear Sir,

With reference to your tender dated 25.06.2010, the management of the company is pleased to award you the subject work at your quoted rate 1.00% below DSR-2007 & NON SOR item No. 1) 5.75/-sqm, item No.2) 290/each, item No.3) 23/-each, item No.4) 25/-each, item No.5) 41/-each, & item No.6) 45/-each, amounting to **Rs 3,04,021.62 (Rupees three lakhs four thousand twenty one and paise sixty two only)**. This award is subject the following terms and conditions:

- 1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is latter and shall be completed within 04 (four)months.
- The EMD of Rs 4480/- deposited by you vide BC. No.581246 dated 19.06.2010 has 2) of SD/Performance Security. To make 5% of the award been treated as part Performance Security, you have to deposit the balance amount of Rs value as 10,722/- within twenty-eight days of issue of this letter either in the form of DD Chief Cashier, Pathakhera Area. In addition to the above, or in cash with the value shall be deducted from each on a/c bills as Retention Money further 5% of bill security deposit to the extent of Rs 30,403/-. Both the money to make the

shall remain at the disposal of the company as Security Deposit and shall not carry any interest.

- 3) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.
- 4) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.
- The contractor shall indemnify the WCL against all claims for compensation under provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause—shall be final and conclusive.

// 2 //

- 6) Arrangement of water required for the work and drinking purpose shall be your responsibility.
- 7) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
- 8) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the SE(Civil)PKD.Civil Dn., for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

STAFF OFFICER (CIVIL), WCL, PATHAKHERA AREA.

- 1) The GM, Pathakhera Area.
- 2) The Sr. Manager(M), Pathakhera Area.
- 3) The Dy.CPM, Pathakehra Area.
- 4) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/PKD/BC/10-11/Residential /30 dt. 18.09.2010 for Rs 3,04,022/- .
- 5) The SE(C) PKD Civil Dn., for further needful action.

- 6) The PM (Welfare), Pathakhera Area
- 7) All A.W.C. Member (Throught PM(Welfare) along with copy of BOQ.
- 8) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

## Schedule of quantity

Repairs of vacated/to be vacated 08 Nos Type-IV qtrs. at Pathakhera colony (Qr. No. 06,16,18,19,24,34,37 & 38 of Pathakhera Area.

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
1	15.56 P-231	Dismantling old plaster or skirting raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 metres lead.	sqm	240.00	8.20	1968.00
2	15.2.1 P-226	Demolishing cement concrete manually/ by mechanical means including disposal of material within 50 metres lead as per direction of Engineer-In-charge. 1:3:6 or richer mix.	cum	2.00	368.45	736.90
3	6.34.1 P-102- 6.5	Brick work with modular fly ash lime bricks (FLAG Bricks) conforming to IS:12894-2002, class designation 100 average compressive strength in super structure above plinth level up to floor V level in: Cement mortar 1:4 (1 cement:4 coarse sand).	cum	3.00	2244.35	6733.05

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
4	13.16.1 P-202	6mm cement plaster of mix: 1:3 (1 cement:3 fine sand).	sqm	80.00	62.15	4972.00
5	13.4.1	12mm cement plaster of mix: 1:6 (1 cement: 6 coarse sand).	sqm	200.00	72.70	14540.00
6	13.7.2 P-201	12mm cement plaster finished with a floating coat of neat cement of mix: 1:4 (1 cement :4 fine sand)	sqm	100.00	97.90	9790.00
7	11.3.1 P-172	Cement concrete flooring 1:2:4 (1 cement:2 coarse sand:4 graded stone aggregate) finished with a floating coat of neat cement including cement slurry, but excluding the cost of nosing of steps etc. complete. 40mm thick with 20mm nominal size stone aggregate.	m2	80.00	192.95	15436.00
8	11.6.1 P-172	Cement plaster skirting (up to 30cm height) with cement mortar 1:3 (1 cement: 3 coarse sand) finished with a floating coat of neat cement. 18mm thick.	sqm	16.00	168.50	2696.00
9	11.26.1 P-176	Lota stone slab fooring over 20mm (average) thick base laid over and jointed with grey cement slurry mixed with pigment to match the shade of the slab including rubbing and polising complete with base of cement mortar 1:4 (1 cement:4 coarse sand).25mm thick.	sqm	19.00	694.40	13193.60
10	11.36 P-177	Providing and fixing Ist quality ceramic glazed wall tiles conforming to IS: 15622 (thickness to be specified by the manufacture) of apporved make in all colours, shades except burgundy, bottle green, black of any size as approved by Engineer-in-charge in skirting, risers of steps; and dados over 12mm thick bed of cement Mortar 1:3 (1 cement:3 coarse sand) and jointing with grey cement slurry @ 3.3kg per sqm including pointing in white cement mixed with pigment of matching shade complete.	m2	19.00	556.6	10575.40
11	17.1.1	Providing and fixing water closet squatting pan (Indian type W.C. pan) with 100mm sand cast Iron P or S trap, 10 litre low level white PVC flushing cistern with manually controlled device (handle lever) conforming to IS: 7331, with all fittings and fixtures complete including cutting and making good the walls and floors wherever required: White Vitreous china Orissa pattern WC pan of size 580x440mm with integral type foot rests.	Nos	8.00	2304.65	18437.20
12	17.2.1	Proviing and fixing whsite vitreous china	Nos	8.00	2152.50	17220.00

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
	P-263	pedestal type water closet )European type WC pan) with seat and lid 10 litre low level white PVC flushing cistern with manually controlled device (handle levaer) conforming to IS: 7231, with all fittings and fixtures complete including cutting and making good the walls and floors wherever required: WC pan with ISI marked white solid plastic seat and lid.				
13	17.7.4 P-264	Providing and fixing wash basin with C.I. Brackets, 15mm C.P. brass pillar taps, 32mm C.P. brass waste of standard pattern, including painting of fittings and brackets, cutting and making good the walls wherever require: White Vitreous China flat back wash basin size 550x400 mm with single 15mm C.P. brass pillar tap.	Nos	8.00	1044.9	8359.20
14	17.10.2 .2 P265	Kitchen sink without drain board, 6100x460mm bowl depth 200mm.	Nos	8.00	3206.9	25655.20
15	18.10.3 P-292	Providing and fixing G.I. Pipes complete with G.I. Fittings and clamps, including cutting and making good the walls etc. 25mm dia nominal bore.	mtr	96.00	179.65	17246.40
16	18.10.2 P-292	Providing and fixing G.I. Pipes complete with G.I. Fittings and clamps, including cutting and making good the walls etc. 20mm dia nominal bore.	mtr	96.00	133.85	12849.60
17	18.10.1 P-292	Providing and fixing G.I. Pipes complete with G.I. Fittings and clamps, including cutting and making good the walls etc. 15Mm dia nominal bore.	meter	160.00	105.85	16936.00
18	18.15.1 P-293	Providing and fixing brass bib cock of approved quality: 15mm nominal bore.	Nos	64.00	191.70	12268.80
19	18.16.1 P-293	Providing and fixing brass stop cock of approved quality: 15mm nominal bore.	Nos	48.00	191.70	9201.60
20	18.21.1 .1 P- 294	Providing and fixing uplasticised PVC connection pi;e with brass unions: 15mm nominal bore	Nos	48.00	35.10	1684.80
21	19.1.1 P-315	Providing laying and jointing glazed stoneware pipes grade "A" with stiff mixture of cement mortar in the proportion of 1:1 (1 cement:1 fine sand) including testing of joints etc. complete.	meter	24.00	105.90	2541.60
22	5.12.1 P-90	Providing, hoisting and fixing up to floor five level precast reinforced cement concrete work in string courses, bands, copings, bed plates,	cum	1.03	4882.25	5028.72

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
		anchor blocks plain wondow sills and the like including the cost of required centering, shuttering, finishing smooth with 6mm thick cement plaster 1:3 (1 cement :3 fine sand) on exposed surfaces complete but excluding cost of reinforcement with 1:2:4 (1 cement: 2 coarse : 4 graded stone aggregate 20mm nominal size).				
23	5.22.3 P-92	Reinforcement for RCC work including straightening, cutting, bending, placing in position and binding all complete. Cold twisted bars.	kg	62.00	42.7	2647.40
24	14.42.2 P-219	White washing with lime to give an even shade: Old work (one or more coats).	sqm	800.00	2.55	2040.00
25	14.45.1	Distempering with oil bound whable distemper of approved brand and manufacture to give an even shade: Old work (one or more coats).	sqm	1760.00	14.90	26224.00
26	13.43.1 P-204	Applying one coat of cement primer of approved brand and manufacture on wall surface: Cement primer.	sqm	880.00	17.20	15136.00
27	14.54.1	Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade: One or more coats on old work.	sqm	1000.00	22.85	22850.00
		Deduct 01.00% below DSR-2007.			Total =	296967.47 (-)2886.05
		Analysed rate & SOR Electrical portion (Please quote the item rate).				
28	Analys ed rate	Colour washing such as green, blue or buff to give an even shade: New work (two or more caots) with a base coat of white washing with lime.	sqm	1280.00	5.75	7360.00
29	SOR Electri cal portion	Point wiring in PVC conduit, with piano type switch: Wiring for light point/fan point/exhaust fan point/call bell point with 1.5sqmm FR PVC insulated copper conductor single core cable in surface /recessed PVC conduit, with piano type switch, phenolic laminated sheet, suitable size M.S. Box and earthing the point with 1.5sqmm FR PVC insulated copper conductor single core cable etc as required.	Nos	32.00	290.00	9280.00
30	SOR Electri cal portion	Supplying and fixing following piano type switch/socket on the existing switch box/cover including connections etc. As required. 2 way 5/6 amps switch.	Nos	25.00	23.00	575.00

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
31	SOR Electri cal portion	Supplying and fixing following piano type switch/socket on the existing switch box/cover including connections etc. As required. 3 pin 5/6 amps socket outlet.	Nos	16.00	25.00	400.00
32	SOR Electri cal portion	Supplying and fixing following piano type switch/socket on the existing switch box/cover including connections etc. As required. 15/16 amp switch	Nos	8.00	41.00	328.00
33	SOR Electri cal portion	Supplying and fixing following piano type switch/socket on the existing switch box/cover including connections etc. As required. 6 pin 15/16 amp socket outlet	Nos	8.00	45.00	360.00
		(Rupees three lakhs four thousand twenty one and paise sixty two only).			Total =	3,04,021.62



No. PK/Civil/ 1644/

Dated 22.09.2010

То

Shri N.K. Singh Contractor, PATHAKHERA.

## **AWARD LETTER**

## REGISTERED AD. / BY HAND.

Sub: Through repairs of vacated/ to be vacated qtrs. Type-IV qtr. No. 08,17,19,20,23,25 & 55 = 7 uhits and type-V No. 5 one unit at Rescue complex at Shobhapur complex at Shobhapur township of Pathakhera Area.

Ref: NIT.No. S-08/2010-11 dated 14.06.2010

Dear Sir,

With reference to your tender dated 25.06.2010, the management of the company is pleased to award you the subject work at your quoted rate 1.00% below DSR-2007 & NON SOR item No. 1) 295/-sqm & item No.2) 5.50/-sqm, amounting to Rs 3,63,730.80 (Rupees three lakhs sixty three thousand seven hundred thirty and paise eighty only). This award is subject the following terms and conditions:

1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is latter and shall be completed within 04 (four)months.

- 2) The EMD of Rs 3690/- deposited by you vide DD. No.311146 dated 24.06.2010 has been treated as part of SD/Performance Security. To make 5% of the award Performance Security, you have to deposit the balance amount of Rs value as issue of this letter either in the form of DD 14,497/- within twenty-eight days of Chief Cashier, Pathakhera Area. In addition to the above, with the or in cash further 5% of bill value shall be deducted from each on a/c bills as Retention Money total security deposit to the extent of Rs 36,373/-. Both the money to make the shall remain at the disposal of the company as Security Deposit and shall not carry any interest.
- 3) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.
- 4) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.
- The contractor shall indemnify the WCL against all claims for compensation under provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause—shall be final and conclusive.

## // 2 //

- 6) Arrangement of water required for the work and drinking purpose shall be your responsibility.
- 7) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
- 8) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the SE(Civil)Sat.Civil Dn., for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

## Copy to:

- 1) The GM, Pathakhera Area.
- 2) The Sr. Manager(M), Pathakhera Area.
- 3) The Dy.CPM,Pathakehra Area.
- 4) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/PKD/BC/10-11/Residential /33 dt. 18.09.2010 for Rs 3,63,781/- .
- 5) The SE(C) Sat. Civil Dn., for further needful action.
- 6) The PM (Welfare), Pathakhera Area
- 7) All A.W.C. Member (Throught PM(Welfare) along with copy of BOQ.
- 8) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

## **Schedule of Quantity**

Through repairs of vacated/to be vacated qtrs. Type-IV qtr. No.08,17,19,20,23,25 & 55 = 7 units and type-V No. 5 = 1 unit at Rescue complex at Shobhapur township of Pathakhera Area.

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
1	15.56 P-231	Dismantling old plaster or skirting raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping	sqm	255.00	8.20	2091.00

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
		ground within 50 metres lead.				
2	15.2.1 P-226	Demolishing cement concrete manually/ by mechanical means including disposal of material within 50 metres lead as per direction of Engineer-In-charge. 1:3:6 or richer mix.	cum	6.00	368.45	2210.70
3	15.3	Demolishing RCC work manually/ by mechanical means including stacking of steel bars and disposal of unserviceable material within 50mtr lead as sper direction of Engineer-in-charge.	cum	3.45	537.55	1854.55
4	7.30 P-113	30mm red sand stone sun-shade (chisel-dressed) supported on red sand stone brackets, fixed in walls with cement mortar 1:4 (1 cement:4 coarse sand) including finishing complete.	sqm	40.50	407.55	16505.78
5	15.7.4 P-226	Demolishing brick work manually/ by mechanical means including stacking of serviceable material and disposal of unserviceable material within 50 metres lead as sper direction of Engineer-in-charge.	cum	6.75	310.75	2097.56
6	6.32.1	Brick work with clay flyash F.P.S. brick of class designation 75 in superstructure above plinth level up to floor five level in: Cement mortar 1:4 (1 cement:4 coarse sand).	cum	7.00	2306.35	16144.45
7	13.1.2 P-201	12mm cement plaster of mix: 1:6 (1cement : 6 fine sand).	sqm	250.00	67.65	16912.50
8	13.16. 1 P- 202	6mm cement plaster of mix: 1:3 (1 cement:3 fine sand).	sqm	25.00	62.15	1553.75
9	11.6.1 P-172	Cement plaster skirting (up to 30cm height) with cement mortar 1:3 (1 cement: 3 coarse sand) finished with a floating coat of neat cement. 18mm thick.	sqm	10.00	168.50	1685.00
10	13.7.2 P-201	12mm cement plaster finished with a floating coat of neat cement of mix: 1:4 (1 cement :4 fine sand)	sqm	20.00	97.90	1958.00
11	11.36 P-177	Providing and fixing Ist quality ceramic glazed wall tiles conforming to IS: 15622 (thickness to be specified by the manufacture) of apporved make in all colours, shades except burgundy, bottle green, black of any size as approved by Engineer-in-charge in skirting, risers of steps; and dados over 12mm thick bed of cement Mortar 1:3 (1 cement:3 coarse sand) and jointing with grey cement slurry @ 3.3kg per sqm including pointing in white cement mixed	m2	60.00	556.6	33396.00

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
		with pigment of matching shade complete.				
12	11.37 P-177	Providing and laying Ceramic glazed floor tiles 300x300mm (thickness to be specified by the manufacturer) of Ist quality conforming to IS: 15622 of approved make in colours such as white, Ivory, Grey, Fume Red Brown, laid on 20mm thick Cement Mortar 1:4 (1 Cement:4 Coarse sand) including pointing the jhoints with white cement and matching pigment etc. complete.	m2	20.00	598.65	11973.00
13	11.3.1 P-172	Cement concrete flooring 1:2:4 (1 cement:2 coarse sand:4 graded stone aggregate) finished with a floating coat of neat cement including cement slurry, but excluding the cost of nosing of steps etc. complete. 40mm thick with 20mm nominal size stone aggregate.	m2	150.00	192.95	28942.50
14	4.2.3 P-79	Providing and laying cement concrete in retaining walls, return walls, walls (any thickness) including attached pilasters, coloumns, piers, abutments, pillars, posts, struts, buttresses, string or lacing courses, parapets, coping, bed blocks, anchor blocks, plain window sills, fillets etc. Up to floor five level, excluding the cost of centering, shuttering and finishing: 1:2:4(1 cement:2 coarse:4 graded stone aggregate 20mm nominal size).	sqm	0.60	3579.10	2147.46
15	14.5.1 P-215	Renewing glass panes, with putty and nails wherever necessary: Float glass panes of thickness 4mm.	sqm	5.00	427.60	2138.00
16	7.37.1. 1 P114	Stone work (machine cut edges) for wall lining upto 10m height etc. (Veneer work) backing filled with a grout of 12mm thick cement mortar 1:3 (1 cement:3 coarse sand) and jointed with cement mortar 1:2 (1 cement:2 stone dust) including rubbing and polishing complete. (To be secured to the backing by means of cramps which shall be paid for separeately). 25Mm thick.	sqm	16.00	724.95	11599.20
17	17.10. 2.2 P265	Kitchen sink without drain board, 6100x460mm bowl depth 200mm.	Nos	6.00	3206.9	19241.40
18	17.3.1 P-263	Providing and fixing white vitreous china pedestal type water closet (European type) with seat and lid, 10 litre low level white vitreous china flushing cistern & C.P. Flush bend with fittings & C.I. Brackets, 40mm flush bend, overflow arrangement with specials of standard	Nos	3.00	3282.95	9848.85

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
		make and mosquito proof coupling of approved municipal disign complete including painting of fittings and brackets, cutting and making good the walls and floors wherever required: W.C. Pan with ISI marked white solid plastic seat and lid.				
	17.20. 1 P- 266	Providing and fixing solid plastic seat with lid for pedestal type W.C. Pan complete: White solid plastic seat with lid.	Nos	2.00	334.95	669.90
19	17.25. 1 P-267	Providing and fixing white vitreous china wash basin including making all connections but excluding the cost of fittings: flat back wash basin of size 630x450mm.	Nos	4.00	753.00	3012.00
20	17.28. 2.1 P- 1214	Providing and fixing PVC waste pipe for sink or wash basin including PVC waste fittings complete.32mm dia	Nos	8.00	46.80	374.40
21	18.21. 2.1 P- 294	Providing and fixing uplasticised PVC connection pipe with brass unions: 15mm nominal bore	Nos	10.00	44.75	447.50
22	18.15. 1 P- 293	Providing and fixing brass bib cock of approved quality: 15mm nominal bore.	each	10.00	191.70	1917.00
23	18.16. 1 P- 293	Providing and fixing brass stop cock of approved quality: 15mm nominal bore.	each	5.00	191.70	958.50
24	18.10. 1 P- 292	Providing and fixing G.I. Pipes complete with G.I. Fittings and clamps, including cutting and making good the walls etc. 15mm dia nominal bore.	mtr	10.00	105.85	1058.50
25	18.12. 2 P- 292	Proviiding and fixing G.I. Pipes complete with G.I. Fittings including trenching and refilling etc. 20Mm dia nominal bore.	mtr	10.00	116.6	1166.00
26	18.12. 3 P- 292	Providing and fixing G.I. Pipes complete with G.I. Fittings including trenching and refilling etc. 25mm dia. Nominal bore.	mtr	10.00	156.85	1568.50
27	9.1.3 P136	Providing wood work in frames of doors, windows, clerestory windows and other frames, wrought framed and fixed in position: Kiln seasoned and chemically treated Hollow wood.	cum	0.50	31339.40	15669.70
28	9.130. 2 P- 156	Providing and fixing cup board shutters with 25mm thick veneered particle board IS:3097 marked exterior grade (Grad-I) of approved make including 2nd class teak wood lipping of 25mm wide x 12mm thick with necessary screws and bright finished stainless steel piano	sqm	15.00	852.10	12781.50

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
		hinges complete as per direction of Engineer-in- charge. With non decorative veneering on both sides.				
29	14.42. 1 P- 219	White washing with lime to give an even shade: Old work (two or more coats).	sqm	1440.00	4.10	5904.00
30	14.46 P-219	Removing dry or oil bound distemper, water proofing cement paint and the like by scrapping, sand papering and preparing the surface smooth including necessary repairs to scratches etc. complete.	sqm	700.00	4.25	2975.00
31	13.26 P-203	Providing and applying plaster of paris putty of 2mm thickness over plastered surface to prepare the surface even and smooth complete.	sqm	200.00	47.2	9440.00
32	13.43. 1 P- 204	Applying one coat of cement primer of approved brand and manufacture on wall surface: Cement primer.	sqm	700.00	17.20	12040.00
33	13.42. 1 P- 204	Distempering with 1st quality acrylic washable distemper (ready mixed) of approved manufacturer and of required shade and colour complete. As per manufacturers specification. Two or more coats on new work.	sqm	700.00	23.55	16485.00
34	14.45. 1	Distempering with oil bound whable distemper of approved brand and manufacture to give an even shade: Old work (one or more coats).	sqm	1200.00	14.90	17880.00
35	13.62. 1 P- 206	Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade: Two or more coats on new work over an under coat of suitable shade with ordinary paint of approved brand and manufacture.		36.00	51.30	1846.80
36	14.54. 1 P- 220	Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade: One or more coats on old work.	sqm	850.00	22.85	19422.50
37	17.13. 2 P- 266	Providing and fixisng white vitreous china water closet squatting pan (Indian type). Orissa pattern W.C. pan of size 580x440mm.	each	2.00	1010.85	2021.70
38	17.18. 2 P- 266	Providing and fixing PVC low levael flushing cistern with manufally controlled device (handle lever)conforming to IS:7231, with all fittings and fixtures complete. 10litre capacity coloured.	each	6.00	783.85	4703.10
39	4.17	Making plinth protection 50mm thick of cement concrete 1:3:6 (1 cement:3 coarse sand:6 graded	sqm	30.00	222.65	6679.50

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
		stone aggregate 20mm nominal size) over 75mm bed by dry brick ballast 40mm nominal size well rammed and consolidated and grouted with fine sand including finishing the top smooth.				
40	13.68. 1 P- 207	French spirit polishing: Two or more coats on new works including a coat of wood filler.	sqm	150.00	75.60	11340.00
41	14.66. 1	Finishing walls with Acrylic Smooth exterior paint of required shade: Old work (Two or more coat appliced @ 1.67ltr/10sqm).existing cement paint surface).	sqm	530.00	36.30	19239.00
		Add/deduct 1.00% below DSR-2007.			Total =	351899.80 (-)3518.99
		NON SOR ITEM ( Please quote the item rate)				348380.80
42	NON SOR	Half brick masonery using clay fly ash bricks in cm 1:4 for water tank.	sqm	25.00	295.00	7375.00
43	NON SOR	Colour washing such as green, blue or buff to give an even shade: New work (two or more caots) with a base coat of white washing with lime.	sqm	1450.00	5.50	7975.00
		(Rupees three lakhs sixty three thousand seven hundred thirty and paise eighty only.)			Total =	3,63,730.80



No. PK/Civil/ 1645/ Dated 22.09.2010

To

Shri Narendra Ku. Singh Contractor, PATHAKHERA. **AWARD LETTER** 

REGISTERED AD. / BY HAND.

Sub: Repair of vacated / to be vacated 13 Nos. Type-III qtrs at Pathakhera colony (Qtr. No. 06, 09, 13, 19, 25, 34, 35, 46, 50, 60, 61, 62 & 79) of Pathakhera Area.

Ref: NIT.No. S-07/2010-11 dated 11.06.2010

Dear Sir,

With reference to your tender dated 23.06.2010, the management of the company is pleased to award you the subject work at your quoted rate AT PAR DSR-2007 & NON SOR item No. 1) 5/-sqm, item No.2) 35/-Pt, item No.3) 40/-each, item No.4) 60/-each, item No.5) 250/-each & item No.6) 200/-each, amounting to Rs 3,85,393.51 (Rupees three lakhs eighty five thousand three hundred ninety three and paise fifty one only). This award is subject the following terms and conditions:

- 1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is latter and shall be completed within 06 (six)months.
- 2) The EMD of Rs 3880/- deposited by you vide BC. No.581260 dated 21.06.2010 has of SD/Performance Security. To make 5% of the award been treated as part Performance Security, you have to deposit the balance amount of Rs value as 15,390/- within twenty-eight days of issue of this letter either in the form of DD Chief Cashier, Pathakhera Area. or in cash with the In addition to the above, further 5% of bill value shall be deducted from each on a/c bills as Retention Money total security deposit to the extent of Rs 38,540/-. Both the money to make the shall remain at the disposal of the company as Security Deposit and shall not carry any interest.
- 3) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.
- 4) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.
- The contractor shall indemnify the WCL against all claims for compensation under provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause—shall be final and conclusive.

// 2 //

6) Arrangement of water required for the work and drinking purpose shall be your responsibility.

- 7) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
- 8) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the SE(Civil)PKD.Civil Dn., for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

STAFF OFFICER (CIVIL), WCL, PATHAKHERA AREA.

- 1) The GM, Pathakhera Area.
- 2) The Sr. Manager(M), Pathakhera Area.
- 3) The Dy.CPM, Pathakehra Area.
- 4) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/ PKD/BC/10-11/Residential /34 dt. 18.09.2010 for Rs 3,85,394/- .
- 5) The SE(C) PKD. Civil Dn., for further needful action.
- 6) The PM (Welfare), Pathakhera Area
- 7) All A.W.C. Member (Throught PM(Welfare) along with copy of BOQ.
- 8) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1<sup>st</sup> Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

# **Schedule of Quantity**

Repairs of Vacated/ to be vacated 13 Nos Type-III qtrs. at Pathakhera Colony (Qr.No. 06, 09, 13, 19, 25, 34, 35, 46, 50, 60, 61, 62 & 79) of Pathakhera Area.

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
1	15.56 P-231	Dismantling old plaster or skirting raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 metres lead.	sqm	650.00	8.20	5330.00
2	15.2.1 P-226	Demolishing cement concrete manually/ by mechanical means including disposal of material within 50 metres lead as per direction of Engineer-In-charge. 1:3:6 or richer mix.	cum	3.25	368.45	1197.46
3	6.34.1 P-102 (-) 6.5	Brick work with modular fly ash lime bricks (FLAG Bricks) conforming to IS:12894-2002, class designation 100 average compressive strength in super structure above plinth level up to floor V level in: Cement mortar 1:4 (1 cement:4 coarse sand).	cum	5.00	2244.35	11221.75
4	13.16.1 P-202	6mm cement plaster of mix: 1:3 (1 cement:3 fine sand).	sqm	130.00	62.15	8079.50
5	13.4.2 P-201	12mm cement plaster of mix: 1:6 (1 cement : 6 coarse sand).	m2	520.00	72.70	37804.00
6	13.7.2 P-201	12mm cement plaster finished with a floating coat of neat cement of mix: 1:4 (1 cement :4 fine sand)	sqm	100.00	97.90	9790.00
7	11.3.1 P-172	Cement concrete flooring 1:2:4 (1 cement:2 coarse sand:4 graded stone aggregate) finished with a floating coat of neat cement including cement slurry, but excluding the cost of nosing of steps etc. complete. 40mm thick with 20mm nominal size stone aggregate.	m2	130.00	192.95	25083.50
8	11.6.1 P-172	Cement plaster skirting (up to 30cm height) with cement mortar 1:3 (1 cement: 3 coarse sand) finished with a floating coat of neat cement. 18mm thick.	sqm	26.00	168.50	4381.00
9	11.26.1 P-176	Lota stone slab fooring over 20mm (average) thick base laid over and jointed with grey	sqm	24.18	694.40	16790.59

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
		cement slurry mixed with pigment to match the shade of the slab including rubbing and polising complete with base of cement mortar 1:4 (1 cement:4 coarse sand).25mm thick.				
10	11.36 P-177	Providing and fixing Ist quality ceramic glazed wall tiles conforming to IS: 15622 (thickness to be specified by the manufacture) of apporved make in all colours, shades except burgundy, bottle green, black of any size as approved by Engineer-in-charge in skirting, risers of steps; and dados over 12mm thick bed of cement Mortar 1:3 (1 cement:3 coarse sand) and jointing with grey cement slurry @ 3.3kg per sqm including pointing in white cement mixed with pigment of matching shade complete.	m2	24.18	556.6	13458.59
11	17.1.1	Providing and fixing water closet squatting pan (Indian type W.C. pan) with 100mm sand cast Iron P or S trap, 10 litre low level white PVC flushing cistern with manually controlled device (handle lever) conforming to IS: 7331, with all fittings and fixtures complete including cutting and making good the walls and floors wherever required: White Vitreous china Orissa pattern WC pan of size 580x440mm with integral type foot rests.	Nos	13.00	2304.65	29960.45
12	17.7.4 P-264	Providing and fixing wash basin with C.I. Brackets, 15mm C.P. brass pillar taps, 32mm C.P. brass waste of standard pattern, including painting of fittings and brackets, cutting and making good the walls wherever require: White Vitreous China flat back wash basin size 550x400 mm with single 15mm C.P. brass pillar tap.	Nos	13.00	1044.9	13583.70
13	18.10.3 P-292	Providing and fixing G.I. Pipes complete with G.I. Fittings and clamps, including cutting and making good the walls etc. 25mm dia nominal bore.	mtr	156.00	179.65	28025.40
14	18.10.2 P-292	Providing and fixing G.I. Pipes complete with G.I. Fittings and clamps, including cutting and making good the walls etc. 20mm dia nominal bore.	mtr	156.00	133.85	20880.60
15	18.10.1 P-292	Providing and fixing G.I. Pipes complete with G.I. Fittings and clamps, including cutting and making good the walls etc. 15mm dia nominal bore.	mtr	260.00	105.85	27521.00
16	18.15.1	Providing and fixing brass bib cock of	Nos	91.00	191.70	17444.70

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
	P-293	approved quality: 15mm nominal bore.				
17	18.16.1 P-293	Providing and fixing brass stop cock of approved quality: 15mm nominal bore.	Nos	52.00	191.70	9968.40
18	18.21.1 .1 P- 294	Providing and fixing uplasticised PVC connection pi;e with brass unions: 15mm nominal bore	Nos	52.00	35.10	1825.20
19	19.1.1 P-315	Providing laying and jointing glazed stoneware pipes grade "A" with stiff mixture of cement mortar in the proportion of 1:1 (1 cement:1 fine sand) including testing of joints etc. complete.	meter	39.00	105.90	4130.10
20	5.12.1 P-90	Providing, hoisting and fixing up to floor five level precast reinforced cement concrete work in string courses, bands, copings, bed plates, anchor blocks plain wondow sills and the like including the cost of required centering, shuttering, finishing smooth with 6mm thick cement plaster 1:3 (1 cement:3 fine sand) on exposed surfaces complete but excluding cost of reinforcement with 1:2:4 (1 cement: 2 coarse: 4 graded stone aggregate 20mm nominal size).	m3	1.63	4882.25	7958.07
21	5.22.3 P-92	Reinforcement for RCC work including straightening, cutting, bending, placing in position and binding all complete. Cold twisted bars.	kg	100.00	42.7	4270.00
22	14.42.2 P-219	White washing with lime to give an even shade: Old work (one or more coats).	sqm	910.00	2.55	2320.50
23	14.45.1	Distempering with oil bound whable distemper of approved brand and manufacture to give an even shade: Old work (one or more coats).	sqm	1820.00	14.90	27118.00
24	13.43.1 P-204	Applying one coat of cement primer of approved brand and manufacture on wall surface: Cement primer.	sqm	910.00	17.20	15652.00
25	14.54.1 P-220	Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade: One or more coats on old work.	sqm	1040.00	22.85	23764.00
		Add/deduct% above or below DSR-2007.			Total =	367558.51
		Analysed rate & SOR Electrical portion (Please quote the item rate).				
26	Analys ed rate	Colour washing such as green, blue or buff to give an even shade: New work (two or more	sqm	1625.00		

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
		caots) with a base coat of white washing with lime.				
27	SOR Electri cal portion	Point wiring in PVC conduit, with piano type switch: Wiring for light point/fan point/exhaust fan point/call bell point with 1.5sqmm FR PVC insulated copper conductor single core cable in surface /recessed PVC conduit, with piano type switch, phenolic laminated sheet, suitable size M.S. Box and earthing the point with 1.5sqmm FR PVC insulated copper conductor single core cable etc as required.	Nos	36.00		
28	SOR Electri cal portion	Supplying and fixing following piano type switch/socket on the existing switch box/cover including connections etc. As required. 2 way 5/6 amps switch.	Nos	26.00		
29	SOR Electri cal portion	Supplying and fixing following piano type switch/socket on the existing switch box/cover including connections etc. As required. 3 pin 5/6 amps socket outlet.	Nos	26.00		
30	SOR Electri cal portion	Supplying and fixing following piano type switch/socket on the existing switch box/cover including connections etc. As required. 15/16 amp switch	Nos	13.00		
31	SOR Electri cal portion	Supplying and fixing following piano type switch/socket on the existing switch box/cover including connections etc. As required. 6 pin 15/16 amp socket outlet	Nos	13.00		
					Total =	



No. PK/Civil/ 1646/

Dated 22.09.2010

M/s Gladstone Lyall emp. Industrial Co-operative Society Ltd. Contractor, PATHAKHERA.

#### **AWARD LETTER**

#### REGISTERED AD. / BY HAND.

Sub: Roof treatment of residential qtrs. at Railway colony & Jagruti colony at Shobhapur colony of Pathakhera Area.

Ref: NIT.No. S-04/2010-11 dated 12.05.2010

Dear Sir,

With reference to your tender dated 26.05.2010, the management of the company is pleased to award you the subject work at different item rate quoted, item No. 1) 3500/-cum, item No.2) 80/-sqm, item No.3) 248/-sqm, item & No.4) 10/-sqm, amounting to **Rs 5,40,560/- (Rupees five lakhs forty thousand five hundred sixty only)**. This award is subject the following terms and conditions:

- 1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is latter and shall be completed within 06 (six)months.
- 2) The EMD of Rs 4140/- deposited by you vide DD. No.954342 dated 24.05.2010 has of SD/Performance Security. To make 5% of the award been treated as part Performance Security, you have to deposit the balance amount of Rs value as issue of this letter either in the form of DD 22.888/- within twenty-eight days of or in cash Chief Cashier, Pathakhera Area. In addition to the above, with the further 5% of bill value shall be deducted from each on a/c bills as Retention Money to make the total security deposit to the extent of Rs 54,056/-. Both the money shall remain at the disposal of the company as Security Deposit and shall not carry any interest.
- 3) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.
- 4) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.
- The contractor shall indemnify the WCL against all claims for compensation under provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause—shall be final and conclusive.

- 6) Arrangement of water required for the work and drinking purpose shall be your responsibility.
- 7) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
- 8) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the SE(Civil)Sat.Civil Dn., for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

STAFF OFFICER (CIVIL), WCL, PATHAKHERA AREA.

- 1) The GM, Pathakhera Area.
- 2) The Sr. Manager(M), Pathakhera Area.
- 3) The Dy.CPM, Pathakehra Area.
- 4) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/PKD/BC/10-11/Specoa; rep. /05 dt. 18.09.2010 for Rs 5,40,560 /- .
- 5) The SE(C) Sat. Civil Dn., for further needful action.
- 6) The PM (Welfare), Pathakhera Area
- 7) All A.W.C. Member (Throught PM(Welfare) along with copy of BOQ.
- 8) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1<sup>st</sup> Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

# BILL OF QUANTITY

Roof treatment of Residential qtr. At Railway colony & Jagrity colony at Shobhapur colony of Pathakhera Area.

		at Shobhapur colony of Pathakhera Area.	_			
	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
1	22.14.1	Grading roof for water treatment with cement concrete 1:2:4 (1 cement:2 coarse sand : 4 graded stone aggregate 20mm nominal size.)	cum	18.00	3500.00	63000.00
	13.4.1 P-201	12mm cement plaster of mix: 1:4 (1 cement : 4 coarse sand).	m2	100.00	80.00	8000.00
		Providing and laying four courses water proofing treatment with bitumen felt over roofs consisting of first and third courses of blown bitumen 85/25 or 90/15 conforming to IS:702 applied hot @ 1.45 kg/sqm of area of each course, second course of roofing felt type 3 Grade-I (hession based self finished bitumen felt) manufactured by Bengal Bitumen, STP Ltd. Arcus Ltd.etc. and fourth and final course of stone grit 6mm and down size or pea sized gravel spred at 6 Cubic decimeter per square metre including preparation of surface but excluding grading complete with Bitumen felt (Hessian base) type 3 grade I conforming to IS 1322.		1820.00		
		Removal of old tarfelt from the roof including brushing of surface, removal of rubish and other material to be disposed within a 50m lead as per instruction of Engineer in charge.	sqm	1820.00	10.00	18200.00
1		(Rupees five lakhs forty thousand five hundred sixty only).			Total =	5,40,560.00



No. PK/Civil/ 1647/ Dated 22.09.2010

То

Shri Sanjay Ku. Singh Contractor, **PATHAKHERA.** 

**AWARD LETTER** 

REGISTERED AD. / BY HAND.

Sub: Repair of vacated/ to be vacated 04 Nos type-V qtrs.

Shobhapur colony of Pathakhera Area.

Ref: NIT.No. S-07/2010-11 dated 11.06.2010

Dear Sir,

With reference to your tender dated 23.06.2010, the management of the company is pleased to award you the subject work at quoted rate AT PAR, DSR 2007 & NON SOR Item , item No. 1) 300/-Pt, item No.2) 310/-sqm, item No.3) 6/-sqm, item & No.4) 270/-sqm & item No 5) 200/-sqm, amounting to Rs 2,16,342.43/- (Rupees two lakhs sixteen thousand three hundred forty two and paise forty three only). This award is subject the following terms and conditions:

1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is latter and

shall be completed within 02 (two)months.

- The EMD of Rs 2125/- deposited by you vide DD. No.311073 dated 22.06.2010 has 2) of SD/Performance Security. To make 5% of the award been treated as part Performance Security, you have to deposit the balance amount of Rs 8693/within twenty-eight days of issue of this letter either in the form of DD or in cash with the Chief Cashier, Pathakhera Area. In addition to the above, further 5% be deducted from each on a/c bills as Retention Money to make of bill value shall security deposit to the extent of Rs 21,635/-. Both the money shall the remain at the disposal of the company as Security Deposit and shall not carry any interest.
- 3) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.
- 4) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.
- The contractor shall indemnify the WCL against all claims for compensation under provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause—shall be final and conclusive.

#### // 2 //

- 6) Arrangement of water required for the work and drinking purpose shall be your responsibility.
- 7) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
- 8) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the SE(Civil)Sat.Civil Dn., for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

#### Copy to:

- 1) The GM, Pathakhera Area.
- 2) The Sr. Manager(M), Pathakhera Area.
- 3) The Dy.CPM, Pathakehra Area.
- 4) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/PKD/BC/10-11/Residential /31 dt. 18.09.2010 for Rs 2,16,342/- .
- 5) The SE(C) Sat. Civil Dn., for further needful action.
- 6) The PM (Welfare), Pathakhera Area
- 7) All A.W.C. Member (Throught PM(Welfare) along with copy of BOQ.
- 8) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

## **Schedule of Quantity**

Repairs of vacated/to be vacated 04 Nos type-V qtrs. at Shobhapur Colony of Pathakhera Area.

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
1	15.3 P-226	Demolishing RCC work manufally/by machnical means including stacking of steel bars and disposal of unserviceable material within 50metres lead as per direction of Engineer-incharge.	cum	1.00	537.55	537.55

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
2	15.7.4 P-226	Demolishing brick work manually/ by mechanical means including stacking of serviceable material and disposal of unserviceable material within 50 metres lead as sper direction of Engineer-in-charge.	cum	5.00	310.75	1553.75
3	15.2.1 P-226	Demolishing cement concrete manually/ by mechanical means including disposal of material within 50 metres lead as per direction of Engineer-In-charge. 1:3:6 or richer mix.	cum	1.00	368.45	368.45
4	15.56 P-231	Dismantling old plaster or skirting raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 metres lead.	sqm	150.00	8.20	1230.00
5	15.23.1 P-228	Dismantling tile work in floors and roofs laid in cement mortar including stacking amterial within 50metres lead. For thickness of tiles 10mm to 25mm.	sqm	12.50	10.90	136.25
6	15.12.1 P-227	Dismantling doors, windows and clerestory windows (steel or wood) shutter including chowkhats, architravae, holdfasts etc. complete and stacking within 50m lead: Of area 3 sqm.metres.	each	5.00	54.6	273.00
7	2.8.1 P-64	Earth work in excavation by mechanical means (Hydraulic excavator)/manual means in foundation trenches or drains (not exceeding 1.5m in width or 10sqm on plan) including dressing of sides and ramming of bottoms, lift upto 1.5m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50m. All kinds of soil.	m3	5.00	103.40	517.00
8	4.1.9 P-79	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering- All work up to plinth level: 1:4:8 (1 cement:4 fine sand:8 graded stone aggregate 40 mm nominal size).	cum	1.00	2296.15	2296.15
9	13.1.2 P-201	12mm cement plaster of mix: 1:6 (1cement : 6 fine sand).	sqm	250.00	67.65	16912.50
10	13.16.1 P-202	6mm cement plaster of mix: 1:3 (1 cement:3 fine sand).	sqm	20.00	62.15	1243.00
11	13.7.2 P-201	12mm cement plaster finished with a floating coat of neat cement of mix: 1:4 (1 cement :4 fine sand)	sqm	5.00	97.90	489.50
12	11.3.1 P-172	Cement concrete flooring 1:2:4 (1 cement:2 coarse sand:4 graded stone aggregate) finished with a floating coat of neat cement including	m2	30.00	192.95	5788.50

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
		cement slurry, but excluding the cost of nosing of steps etc. complete. 40mm thick with 20mm nominal size stone aggregate.				
13	6.34.2 P- 102(-)6 .5	Brick work with modular fly ash lime bricks (FALG Bricks) conforming to IS: 12894-2002, class designation 100 average compressive strength in super structure above plinth level up to floor V level in: Cement mortar: 1:6 (1 cement:6 coarse sand).	cum	1.00	2093.30	2093.30
14	6.34.2 P-102	Brick work with modular fly ash lime bricks (FALG Bricks) conforming to IS: 12894-2002, class designation 100 average compressive strength in super structure above plinth level up to floor V level in: Cement mortar: 1:6 (1 cement:6 coarse sand).	cum	2.00	2283.30	4566.60
15	11.36 P-177	Providing and fixing Ist quality ceramic glazed wall tiles conforming to IS: 15622 (thickness to be specified by the manufacture) of apporved make in all colours, shades except burgundy, bottle green, black of any size as approved by Engineer-in-charge in skirting, risers of steps; and dados over 12mm thick bed of cement Mortar 1:3 (1 cement:3 coarse sand) and jointing with grey cement slurry @ 3.3kg per sqm including pointing in white cement mixed with pigment of matching shade complete.	m2	40.00	556.6	22264.00
16	11.37 P-177	Providing and laying Ceramic glazed floor tiles 300x300mm (thickness to be specified by the manufacturer) of Ist quality conforming to IS: 15622 of approved make in colours such as white, Ivory, Grey, Fume Red Brown, laid on 20mm thick Cement Mortar 1:4 (1 Cement:4 Coarse sand) including pointing the jhoints with white cement and matching pigment etc. complete.	m2	10.00	598.65	5986.50
17	17.13.2 P-266	Providing and fixisng white vitreous china water closet squatting pan (Indian type). Orissa pattern W.C. pan of size 580x440mm.	each	2.00	1010.85	2021.70
18	17.15 (+)17.1 6 P- 266	Providing and fixing white vitreous china pedestal type (European type/wash down type) water closet pan.Extra for using coloured pedestal type W.C. pan (European type) with low level cistern of same colure instead of white vitreous china W.C. pan and cistern.	each	2.00	1718.2	3436.40
19	17.25.1 P-267	Providing and fixing white vitreous china wash basin including making all connections but excluding the cost of fittings: flat back wash	Nos	2.00	753.00	1506.00

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
		basin of size 630x450mm.				
20	17.18.2 P-266	Providing and fixing PVC low levael flushing cistern with manufally controlled device (handle lever)conforming to IS:7231, with all fittings and fixtures complete. 10litre capacity white	each	5.00	783.85	3919.25
21	17.26.1 P-267	Providing and fixing kitchen sink including making all connections excluding cost of fittings. White glazed fire clay sink of size 600x450x250mm	Nos	1.00	1444.00	1444.00
22	12.40.1 P-192	Providing and fixing on wall face unplasticed Rigid PVC rain water pipes conforming to IS: 13592 Type A including jointing with seal ring conforming to IS:5382 leaving 10mm gap for thernal expansion (i) Single socketed pipes 75mm diameter.	metre	5.00	95.00	475.00
23	17.28.1 .1 P- 267	Providing and fixing PVC waste pipe for sink or wash basin including PVC waste fittings complete. 32Mm dia.	Nos	5.00	42.15	210.75
24	17.29 P-267	Providing and fixing 100mm sand cast Iron grating for gully trap.	Nos	10.00	16.45	164.50
25	10.25.2 P-166	Steel work welded in built up sections/framed work including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer using structural steel etc. As required.In gratings, frames, guard bar, ladder, railings, brackets, gates and similar works.	kg	170.00	51.20	8704.00
26	7.37.1. 1 P114	Stone work (machine cut edges) for wall lining upto 10m height etc. (Veneer work) backing filled with a grout of 12mm thick cement mortar 1:3 (1 cement:3 coarse sand) and jointed with cement mortar 1:2 (1 cement:2 stone dust) including rubbing and polishing complete. (To be secured to the backing by means of cramps which shall be paid for separeately). 25Mm thick.	sqm	0.72	724.95	521.96
27	12.1.3 P-186	Providing corrugated G.S. sheet roofing including vertical/curved surface fixed with polymer coated J or L hooks, bolts and nuts 8 mm diameter with bitumen and G.I. Limpet washers or with G.I. Limpet washers filled with white lead and including a coat of approved steel primer and two coats of approved paint on overlapping of sheets complete (up to any pitch in horizontal/vertical or curved surfaces) excluding the cost of purlins, rafters and trussed	m2	16.50	432.25	7132.13

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
		and including cutting to size and shape wherevaer required. 0.63mm thick with zinc coating not less than 275gm/m2				
28	14.5.1 P-215	Renewing glass panes, with putty and nails wherever necessary: Float glass panes of thickness 4mm.	sqm	30.00	427.60	12828.00
29	14.2.1 P-215	Fixing chowkhats in existing opening including embedding chowkhats in floors or walls cutting masonry for holdfasts embedding hold fasts in cement concrete blocks with cement concrete 1:3:6 (1 cement:3 coarse sand:6 graded stone aggregate 20mm nominal size) painting two coats of approved wood preservative to sides of chowkhats and making good the damages to walls and floors as required complete including disposal of rubbish to the dumping ground within 50metres lead:  Door chowkhats.	Nos	2.00	354.45	708.90
30	14.2.2 P-215	Fixing chowkhats in existing opening including embedding chowkhats in floors or walls cutting masonry for holdfasts embedding hold fasts in cement concrete blocks with cement concrete 1:3:6 (1 cement:3 coarse sand:6 graded stone aggregate 20mm nominal size) painting two coats of approved wood preservative to sides of chowkhats and making good the damages to walls and floors as required complete including disposal of rubbish to the dumping ground within 50metres lead: Window	Nos	3.00	154.60	463.80
31	14.46 P-219	Removing dry or oil bound distemper, water proofing cement paint and the like by scrapping, sand papering and preparing the surface smooth including necessary repairs to scratches etc. complete.	sqm	400.00	4.25	1700.00
32	13.43.1 P-204	Applying one coat of cement primer of approved brand and manufacture on wall surface: Cement primer.	sqm	200.00	17.20	3440.00
33	13.26 P-203	Providing and applying plaster of paris putty of 2mm thickness over plastered surface to prepare the surface even and smooth complete.	sqm	200.00	47.2	9440.00
34	13.50.1 P-205	Applying priming coat: with ready mixed pink or Grey primer of approved brand and manufacture on wood work (hard and soft wood).	sqm	50.00	16.55	827.50
35	14.42.2 P-219	White washing with lime to give an even shade: Old work (one or more coats).	sqm	550.00	2.55	1402.50
36	13.42.1	Distempering with 1st quality acrylic washable	sqm	500.00	23.55	11775.00

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
	P-204	distemper (ready mixed) of approved manufacturer and of required shade and colour complete. As per manufacturers specification. Two or more coats on new work.				
37	14.45.1	Distempering with oil bound whable distemper of approved brand and manufacture to give an even shade: Old work (one or more coats).	sqm	500.00	14.90	7450.00
38	13.50.3 P-205	Applying priming coat: With ready mixed red oxide zinc chromate primer of approved brand and manufacture on steel galvanised iron/steel works.	sqm	100.00	12.65	1265.00
39	14.54.1 P-220	Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade: One or more coats on old work.	sqm	500.00	22.85	11425.00
40	13.16.1 P-202	Painting with synthetic enemal paint two or more coats.	sqm	100.00	33.25	3325.00
41	14.66.1	Finishing walls with Acrylic Smooth exterior paint of required shade: Old work (Two or more coat appliced @ 1.67ltr/10sqm).existing cement paint surface).	sqm	150.00	36.30	5445.00
42	14.66.2	Finishing walls with Acrylic Smooth exterior paint of required shade: Old work (one or more coat appliced @ 0.90ltr/10sqm).	sqm	700.00	22.80	15960.00
		AT PAR DSR-2007.			Total =	183247.44
		NON SOR ITEM ( Please quote the item rate)				0.00
43	SOR Electri cal portion	Point wiring in PVC conduit, with piano type switch: Wiring for light point/fan point/exhaust fan point/call bell point with 1.5sqmm FR PVC insulated copper conductor single core cable in surface /recessed PVC conduit, with piano type switch, phenolic laminated sheet, suitable size M.S. Box and earthing the point with 1.5sqmm FR PVC insulated copper conductor single core cable etc as required.	Point	9.00	300.00	2700.00
44	NON SOR	Half brick masonery using clay fly ash bricks in cm 1:4 for water tank.	sqm	40.00	310.00	12400.00
45	NON SOR	Colour washing such as green, blue or buff to give an even shade: New work (two or more caots) with a base coat of white washing with lime.	sqm	1600.00	6.00	9600.00
46	NON SOR	labour rate for making panelled or panelled and glazed shutters clerestory windows 30 to 35mm thick of any type of wood.	sqm	25.00	270.00	6750.00

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
47	NON SOR	Labour rate for fixing panelling or paneling and glaxing in panelled or panelled or glazed shutters for door and windows.	sqm	20.00	200.00	4000.00
		(Rupees two lakhs sixteen thousand three hundred fourty two and paise forty three)only.			Total =	2,16,342.43



No. PK/Civil/ 1648/ Dated 24.09.2010

To

Shri Sanjay Ku. Singh Contractor, **PATHAKHERA.** 

#### **AWARD LETTER**

#### **REGISTERED AD. / BY HAND.**

Sub: Labour charges of repair/maintenance and making doors panelled and paneling glazing in doors and window shutters including fixing the same but excluding the cost of fixtures wooden material at Shobhpur colony of Pathakhera Area.

Ref: NIT.No. S-08/2010-11 dated 14.06.2010

Dear Sir,

With reference to your tender dated 25.06.2010, the management of the company is pleased to award you the subject work at quoted rate 2.00% above, DSR 2007 & NON SOR Item , item No. 1) 270/-sqm, item No.2) 200/-sqm, amounting to **Rs 4,58,305.46/-(Rupees four lakhs fifty eight thousand three hundred five and paise forty six only)**. This award is subject the following terms and conditions:

- 1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is latter and shall be completed within 09 (nine)months.
- The EMD of Rs 4550/- deposited by you vide BC. No.311103 dated 24.06.2010 has 2) been treated as part of SD/Performance Security. To make 5% of the award Performance Security, you have to deposit the balance amount of Rs value as 18.366/- within twenty-eight days of issue of this letter either in the form of DD Chief Cashier, Pathakhera Area. In addition to the above, or in cash with the value shall be deducted from each on a/c bills as Retention Money further 5% of bill total security deposit to the extent of Rs 45,831/-. Both the money shall remain at the disposal of the company as Security Deposit and shall not carry any interest.
- 3) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.
- 4) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.
- The contractor shall indemnify the WCL against all claims for compensation under provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause—shall be final and conclusive.

- 6) Arrangement of water required for the work and drinking purpose shall be your responsibility.
- 7) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
- 8) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the SE(Civil)Sat.Civil Dn., for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

STAFF OFFICER (CIVIL), WCL, PATHAKHERA AREA.

- 1) The GM, Pathakhera Area.
- 2) The Sr. Manager(M), Pathakhera Area.
- 3) The Dy.CPM, Pathakehra Area.
- 4) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/PKD/BC/10-11/Annual rep./Residential /35 dt. 23.09.2010 for Rs 4,35,308/- .
- 5) The SE(C) Sat. Civil Dn., for further needful action.
- 6) The PM (Welfare), Pathakhera Area
- 7) All A.W.C. Member (Throught PM(Welfare) along with copy of BOQ.
- 8) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

## Schedule of quantity

Labour charges of repair/maintenance and making of doors & windows, panelled and panelling/glazing in doors and window shutters including fixing the same but excuding the cost of fixtures wooden material at Shobhapur colony of Pathakhera Area.

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
1	15.13.1 P- 227	Taking out doors, windows and clerestory window shutters (steel or wood )including stacking with 50 metres lead: Of area 3 sqm and below.	each	460.00	21.40	9844.00
2	15.12.1 P- 227	Dismantling doors, windows and clerestory windows ( steel or wood) shutter including chowkhats, architravae, holdfasts etc. complete and stacking within 50m lead: Of area 3 sqm.metres.	each	40.00	54.6	2184.00
3	13.50.1 P- 205(+)13.6 1.1	Applying priming coat: with ready mixed pink or Grey primer of approved brand and manufacture on wood work (hard and soft wood). Painting with synthetic enamel paint of approved brand and manufacture to give an even shade: Two or more coats on new work.	sqm	1820.00	49.80	90636.00
4	9.62.1 P- 145	Providing and fixing ISI marked oxidised M.S. Sliding door bolts with nuts and screws etc. Complete; 300 x 16mm.	Nos	460	79.60	36616.00
5	9.66.1 P-146	Providing and fixisng ISI marked oxidised M.S. Hnadles conforming to IS: 4992 with necessary screws etc.	each	600.00	10.20	6120.00

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
		Complete: 125mm.				
6	9.57.2 P-144	Providing and fixing ISI marked oxidised M.S. Pressed butt hinges with necessary screws etc. Complete. 100x58x1.90mm.	Nos	600.00	13.45	8070.00
7	9.57.3 P-144	Providing and fixing ISI marked oxidised M.S. Pressed butt hinges with necessary screws etc. Complete. 75x47x1.70mm.	Nos	160.00	9.30	1488.00
8	9.63.3 P- 145	Providing & fixing ISI marked oxidised M.S. Tower bolt black finish, (Barrel type) with necessary screws etc. Complete. 150X10mm.	Nos	600.00	23.40	14040.00
9	9.63.4 P- 145	Providing and fixing ISI marked oxidised M.S. Tower bolt black finish (Barrel type) with necessary screws etc. Complete: 100x10mm.	each	100.00	17.25	1725.00
10	10.25.2 P-166	Steel work welded in built up sections/framed work including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer using structural steel etc. As required.In gratings, frames, guard bar, ladder, railings, brackets, gates and similar works.	kg	750.00	51.20	38400.00
		Add 2.00% above or below DSR-2007.			Total = (+)Rs	209123.00 4182.46
		NON SOR ITEM ( Please quote the item rate)				213305.46
11	NON SOR	labour rate for making panelled or panelled and glazed shutters clerestory windows 30 to 35mm thick of any type of wood.	sqm	700.00	270.00	189000.00
12	NON SOR	Labour rate for fixing panelling or paneling and glaxing in panelled or panelled or glazed shutters for door and windows.	sqm	280.00	200.00	56000.00
		(Rupees four lakhs fifty eight thousand three hundred five and paise fourty six) only.			Total =	4,58,305.46



No. PK/Civil/ 1649/ Dated 29.09.2010

То

Shri Pradeep Kumar Sinha Contractor, **PATHAKHERA**.

### **AWARD LETTER**

### **REGISTERED AD. / BY HAND.**

Sub: Construction of 2 Nos class room 6.00 x 4.00mtr for Trible middle school at Bogaikhapa village at Pathakhera Area.

Ref: NIT.No. S-09/2010-11 dated 24.06.2010

Dear Sir,

With reference to your tender dated 06.07.2010, the management of the company is pleased to award you the subject work at quoted revised rate 9.30% above DSR 2007. amounting to Rs 5,04,852/- (Rupees five lakhs four thousand eight hundred fifty two only). This award is subject the following terms and conditions:

- 1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is latter and shall be completed within 02 (two)months.
- 2) The EMD of Rs 4619/- deposited by you vide DD. No.581504 dated 05.07.2010 has been treated as part of SD/Performance Security. To make 5% of the award value as Performance Security, you have to deposit the balance amount of Rs 20624/issue of this letter either in the form of DD or in cash within twenty-eight days of with the Chief Cashier, Pathakhera Area. In addition to the above, further 5% of bill value shall be deducted from each on a/c bills as Retention Money to make total security deposit to the extent of Rs 50,486/-. Both the money shall the at the disposal of the company as Security Deposit and shall not carry any remain interest.
- 3) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.
- 4) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.
- The contractor shall indemnify the WCL against all claims for compensation under provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause—shall be final and conclusive.

// 2 //

- 6) Arrangement of water required for the work and drinking purpose shall be your responsibility.
- 7) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.

8) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the SE(Civil)Tawa, Civil Dn., for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

STAFF OFFICER (CIVIL), WCL, PATHAKHERA AREA.

- 1) The GM, Pathakhera Area.
- 2) The Sr. Manager(M), Pathakhera Area.
- 3) The Dy.CPM, Pathakehra Area.
- 4) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/PKD/BC/10-11/CSR/Education /03 dt. 28.09.2010 for Rs 5,00,000/- .
- 5) The SE(C) Tawa, Civil Dn., for further needful action.
- 6) The PM (Welfare), Pathakhera Area
- 7) All A.W.C. Member (Throught PM(Welfare) along with copy of BOQ.
- 8) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

# **Schedule of Quantity**

Construction of 2 Nos class room 6.00x4.00mtr) for Trible Middle school at Bogaikhapa village at Pathakhera Area.

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
1	2.8.1 P-64	Earth work in excavation by mechanical means (Hydraulic excavator)/manual means in foundation trenches or drains (not exceeding 1.5m in width or 10sqm on plan) including dressing of sides and ramming of bottoms, lift upto 1.5m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50m. All kinds of soil.	m3	23.00	103.40	2378.20
2	4.1.8 P-79	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering- All work up to plinth level:1:4:8 (1 cement:4 coarse sand:8 graded stone aggregate 40mm nominal size).	cum	10.00	2449.00	24490.00
3	23.2	Supplying and stacking of good earth at site including royalty and carriage up to 1 km (earth measured in stacks will be reduced by 20% for payment).	cum	45.00	144.05	6482.25
4	2.25 P-67	Filling available excavated earth (excluding rock) in trenches, plinth, sides of foundations etc. in layers not exceeding 20cm in depth, consolidating each deposited layer by ramming and watering, lead up to 50m and lift up to 1.5m.	cum	68.00	45.70	3107.60
5	2.27 P-67	Supplying and filling in plinth with Jamuna sand under floors including, watering, ramming consolidating and dressing complete.	cum	17.00	301.50	5125.50
6	5.1.3 P-88	Providing and laying in position specified grade of reinforced cement concrete excluding the cost of centering, shuttering, finishing and reinforcement - All work up to plinth level: 1:2:4 (1 cement:2 coarse sand:4 graded stone aggregate 20mm nominal size).	cum	6.00	3359.60	20157.60
7	5.2.3 P-88	Reinforced cement concrete work in wall (any thickness), including attached pilasters, buttresses, plinth and string coursed, fillets, columns, pillars, piers, abutments, posts and struts etc. up to floor five level excluding cost of centering, shuttering, finishing and	cum	3.50	3720	13020.00

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
		reinforcement: 1:2:4 (1 cement:2 coarse sand:4 graded stone aggregate 20mm nominal size).				
8	5.3 P-88	Reinforced cement concrete work in beams, suspended floors, roofs having slope up to 15" landings, balconies, shelves, chajjas, lintels, bands, plain window sills, staircases and spiral stair cases up to fllor five level excluding the cost of centering, shuttering, finishing and reinforcement with 1:2:4 (1 cement:2 coarse sand :4 graded stone aggregate 20mm nominal size).	cum	20.00	3673.85	73477.00
9	5.22.3 P-92	Reinforcement for RCC work including straightening, cutting, bending, placing in position and binding all complete. Cold twisted bars.	kg	2700.0	42.70	115290.00
10	P-	Brick work with modular fly ash lime bricks (FALG Bricks) conforming to IS: 12894-2002, class designation 100 average compressive strength in super structure above plinth level up to floor V level in: Cement mortar: 1:6 (1 cement:6 coarse sand).	cum	8.00	2047.65	16381.20
11	6.34.2 P-102	Brick work with modular fly ash lime bricks (FALG Bricks) conforming to IS: 12894-2002, class designation 100 average compressive strength in super structure above plinth level up to floor V level in: Cement mortar: 1:6 (1 cement:6 coarse sand).	cum	19.00	2283.30	43382.70
12	13.1.2 P-201	12mm cement plaster of mix: 1:6 (1cement : 6 fine sand).	sqm	250.00	67.65	16912.50
13	13.16. 1 P- 202	6mm cement plaster of mix: 1:3 (1 cement:3 fine sand).	sqm	74.00	62.15	4599.10
14	11.3.1 P-172	Cement concrete flooring 1:2:4 (1 cement:2 coarse sand:4 graded stone aggregate) finished with a floating coat of neat cement including cement slurry, but excluding the cost of nosing of steps etc. complete. 40mm thick with 20mm nominal size stone aggregate.	m2	77.00	192.95	14857.15
15	13.7.2 P-201	12mm cement plaster finished with a floating coat of neat cement of mix: 1:4 (1 cement: 4 fine sand).	sqm	15.00	97.90	1468.50
16	5.30 P-93	Add or decuct for plaster drip course/groove in plastered surface or moulding to RCC projections.	metre	60.00	11.95	717.00
17	10.25	Steel work welded in built up sections/ framed	kg	222.00	48.95	10866.90

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
	P- 165	work including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer using structural steel etc. as required. In stringers, treads, landings etc. of stair cases including use of chequered plate wherever required, all complete.				
18	9.48.1 P-143	Providing and fixing M.S. grills of required pattern in frames of windows etc. with M.S. flats, square or round bars etc. all complete. Fixed to steel windows by welding.	kg	230.00	59.25	13627.50
19	10.5.1 P-163	Providing and fixing 1mm thick M.S. sheet door with frame of 40x40x6mm angle iron and 3mm M.S. gusset plates at the juctions and corners, all necessary fittings complete, including applying a priming coat of approved steel primer. Using M.S. angles 40x40x6mm for diagonal braces.	m2	15.00	1695.40	25431.00
20	5.9.6 P-89	Centering and shuttering including strutting, propping etc. and removal of form for: Columns, Pillars, Piers, Abutments, Posts and Struts.	sqm	55.00	238.40	13112.00
21	5.9.5 P-89	Centering and shuttering including strutting, propping etc. and removal of form for: Lintels, beamns, plinth beams, girders, bressumers and cantilevers.	sqm	70.00	162.65	11385.50
22	5.9.3 P-89	Centering and shuttering including strutting, propping etc. and removal of form for: Suspended floor, slab.	sqm	78.00	187.35	14613.30
23	5.9.19 P-89	Centering and shuttering including strutting, propping etc. and removal of form for: weather shade, chajja, corbels etc., including edges.	sqm	8.00	258.60	2068.80
24	13.37. 1 P204	White washing with lime to give an even shade: New work (three or more coats).	m2	324.00	6.75	2187.00
25	13.62. 1 P- 206	Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade: Two or more coats on new work over an under coat of suitable shade with ordinary paint of approved brand and manufacture.	sqm	60.00	51.30	3078.00
26	10.17 P-165	Providing and fixing M.S. fan clamp type I to II of 16mm dia M.S. bar bent to shape with hooked ends in RCC slabs, beams during laying including painting the exposed portion of loop, all as per standard design complete.	each	4.00	75.20	300.80

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
27	13.71	Lettering with black Japan paint of approved brand and manufacture.	Per letter per cm height	340.00	0.90	306.00
28	2.28 P-67	Surface dressing of the ground including removing vegetation and in-equalities not exceeding 15cm deep and disposal of rubbish, lead up to 50m and lift up to 1.5m. All kinds of soil.	cum	600.00	512.10 %m2	3072.60
		Deduct 9.30% above DSR-2007.  (Rupees five lakhs four thousand eight hundred fifty two only).			Total = (+) Rs Total Rs	461895.70 42956.30 5,04,852.00



No. PK/Civil/ 1650/

Dated 29.09.2010

To

Shri N.K. Singh Contractor, **PATHAKHERA**.

**AWARD LETTER** 

**REGISTERED AD. / BY HAND.** 

Sub: Construction of class room 6.00 x 4.00mtr for Primary school at Bareilibhata village in Ioniya Panchayat at Pathakhera Area.

Ref: NIT.No. S-09/2010-11 dated 24.06.2010

Dear Sir,

With reference to your tender dated 06.07.2010, the management of the company is pleased to award you the subject work at quoted revised rate 14.50% above DSR 2007. amounting to Rs 2,90,348.57/- (Rupees two lakhs Ninety thousand three hundred forty eight and paise fifty seven only). This award is subject the following terms and conditions:

- 1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is latter and shall be completed within 02 (two)months.
- 2) The EMD of Rs 2536/- deposited by you vide DD. No.311284 dated 05.07.2010 has been treated as part of SD/Performance Security. To make 5% of the award value as Performance Security, you have to deposit the balance amount of Rs 11982/- within twenty-eight days of issue of this letter either in the form of DD or in cash with the Chief Cashier, Pathakhera Area. In addition to the above, further 5% of bill value shall be deducted from each on a/c bills as Retention Money to make the total security deposit to the extent of Rs 29,035/-. Both the money shall remain at the disposal of the company as Security Deposit and shall not carry any interest.
- 3) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.
- 4) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.
- The contractor shall indemnify the WCL against all claims for compensation under provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause—shall be final and conclusive.

- 6) Arrangement of water required for the work and drinking purpose shall be your responsibility.
- 7) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
- 8) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the SE(Civil)Tawa, Civil Dn., for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

STAFF OFFICER (CIVIL), WCL, PATHAKHERA AREA.

- 1) The GM, Pathakhera Area.
- 2) The Sr. Manager(M), Pathakhera Area.
- 3) The Dy.CPM, Pathakehra Area.
- 4) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/ PKD/BC/10-11/CSR/Education /02 dt. 28.09.2010 for Rs 2,50,000/- .
- 5) The SE(C) Tawa, Civil Dn., for further needful action.
- 6) The PM (Welfare), Pathakhera Area
- 7) All A.W.C. Member (Throught PM(Welfare) along with copy of BOQ.
- 8) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

## Schedule of quantity

Construction of Class room 6.00x4.00mtr) for Primary school at Barelibhata village in loniya Panchaiyat at Pathakhera Area.

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
1	2.8.1 P-64	Earth work in excavation by mechanical means (Hydraulic excavator)/manual means in foundation trenches or drains (not exceeding 1.5m in width or 10sqm on plan) including dressing of sides and ramming of bottoms, lift upto 1.5m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50m. All kinds of soil.	m3	13.00	103.40	1344.20
2	4.1.9 P-79	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering- All work up to plinth level: 1:4:8 (1 cement:4 fine sand:8 graded stone aggregate 40 mm nominal size).	cum	4.80	2296.15	11021.52
3	23.2	Supplying and stacking of good earth at site including royalty and carriage up to 1 km (earth measured in stacks will be reduced by 20% for payment).	cum	10.00	144.05	1440.50
4	2.25 P-67	Filling available excavated earth (excluding rock) in trenches, plinth, sides of foundations etc. in layers not exceeding 20cm in depth, consolidating each deposited layer by ramming and watering, lead up to 50m and lift up to 1.5m.	cum	23.00	45.70	1051.10
5	2.27 P-67	Supplying and filling in plinth with Jamuna sand under floors including, watering, ramming consolidating and dressing complete.	cum	9.00	301.50	2713.50
6	5.1.3 P-88	Providing and laying in position specified grade of reinforced cement concrete excluding the cost of centering, shuttering, finishing and reinforcement - All work up to plinth level: 1:2:4 (1 cement:2 coarse sand:4 graded stone aggregate 20mm nominal size).	cum	4.55	3359.60	15286.18
7	5.2.3 P-88	Reinforced cement concrete work in wall (any thickness), including attached pilasters, buttresses, plinth and string coursed, fillets, columns, pillars, piers, abutments, posts and	cum	2.10	3720	7812.00

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
		struts etc. up to floor five level excluding cost of centering, shuttering, finishing and reinforcement: 1:2:4 (1 cement:2 coarse sand:4 graded stone aggregate 20mm nominal size).				
8	5.3 P-88	Reinforced cement concrete work in beams, suspended floors, roofs having slope up to 15" landings, balconies, shelves, chajjas, lintels, bands, plain window sills, staircases and spiral stair cases up to fllor five level excluding the cost of centering, shuttering, finishing and reinforcement with 1:2:4 (1 cement:2 coarse sand :4 graded stone aggregate 20mm nominal size).	cum	11.00	3673.85	40412.35
9	5.22.3 P-92	Reinforcement for RCC work including straightening, cutting, bending, placing in position and binding all complete. Cold twisted bars.	kg	1590.0	42.70	67893.00
10	6.32.2 P- 100(-) 6.33	Brick work with clay flyash F.P.S. brick of class designation 75 in superstructure above plinth level up to floor five level in:Cement mortar 1:6 (1 cement: 6 coarse sand).	cum	3.80	1899.05	7216.39
11	6.32.2 P-100	Brick work with clay flyash F.P.S. brick of class designation 75 in superstructure above plinth level up to floor five level in:Cement mortar 1:6 (1 cement: 6 coarse sand).	cum	10.70	2134.70	22841.29
12	13.1.2 P-201	`	sqm	139.00	67.65	9403.35
13	13.16. 1 P- 202	6mm cement plaster of mix: 1:3 (1 cement:3 fine sand).	sqm	47.00	62.15	2921.05
14	11.3.1 P-172	Cement concrete flooring 1:2:4 (1 cement:2 coarse sand:4 graded stone aggregate) finished with a floating coat of neat cement including cement slurry, but excluding the cost of nosing of steps etc. complete. 40mm thick with 20mm nominal size stone aggregate.	m2	39.00	192.95	7525.05
15	13.7.1 P-201	12mm cement plaster finished with a floating coat of neat cement of mix: 1:3 (1 cement: 3 fine sand).	sqm	8.00	107.80	862.40
16	5.30 P-93	Add or decuct for plaster drip course/groove in plastered surface or moulding to RCC projections.	metre	44.00	11.95	525.80
17	10.2 P-163	Structure steel work work riveted, bolted or welded in built up sections, trusses and framed work, including cutting, hoisting, fixing in	kg	115.00	46.35	5330.25

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
		position and applying a priming coat of approved steel primer all complete.				
18	9.48.1 P-143	Providing and fixing M.S. grills of required pattern in frames of windows etc. with M.S. flats, square or round bars etc. all complete. Fixed to steel windows by welding.	kg	101.00	59.25	5984.25
19	10.5.1 P-163	Providing and fixing 1mm thick M.S. sheet door with frame of 40x40x6mm angle iron and 3mm M.S. gusset plates at the juctions and corners, all necessary fittings complete, including applying a priming coat of approved steel primer. Using M.S. angles 40x40x6mm for diagonal braces.	m2	8.40	1695.40	14241.36
20	5.9.6 P-89	Centering and shuttering including strutting, propping etc. and removal of form for: Columns, Pillars, Piers, Abutments, Posts and Struts.	sqm	33.00	238.40	7867.20
21	5.9.5 P-89	Centering and shuttering including strutting, propping etc. and removal of form for: Lintels, beamns, plinth beams, girders, bressumers and cantilevers.	sqm	47.00	162.65	7644.55
22	5.9.3 P-89	Centering and shuttering including strutting, propping etc. and removal of form for: Suspended floor, slab.	sqm	43.00	187.35	8056.05
23	5.9.19 P-89	Centering and shuttering including strutting, propping etc. and removal of form for: weather shade, chajja, corbels etc., including edges.	sqm	4.00	258.60	1034.40
24	13.37. 1 P204	White washing with lime to give an even shade: New work (three or more coats).	m2	186.00	6.75	1255.50
25	13.62. 1 P- 206	Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade: Two or more coats on new work over an under coat of suitable shade with ordinary paint of approved brand and manufacture.	sqm	31.00	51.30	1590.30
26	13.71	Lettering with black Japan paint of approved brand and manufacture.	Per letter per cm height	340.00	0.90	306.00
		Add/deduct% above or below DSR-2007.			Total =	253579.54



No. PK/Civil/ 1651/

Dated 29.09.2010

To

Shri Nagendra Singh Contractor, **PATHAKHERA**.

**AWARD LETTER** 

**REGISTERED AD. / BY HAND.** 

Sub: Urgent repair of M.Q. Of Pathakhera colony (No.137, 143, 146, 868, 902, 906, 1607 & 1614) at Pathakhera Area.

Ref: NIT.No. Q-06/2010-11 dated 28.06.2010

Dear Sir,

With reference to your tender dated 09.07.2010, the management of the company is pleased to award you the subject work at quoted 1.00 below DSR 2007 (rebate 4%.) amounting to Rs 89,713.57/- (Rupees Eighty nine thousand seven hundred thirteen and paise fifty seven only). This award is subject the following terms and conditions:

- 1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is latter and shall be completed within 02 (two)months.
- 2) The EMD of Rs 944/- deposited by you vide MR. No.18395 dated 07.07.2010 has been treated as part of SD/Performance Security. To make 5% of the award value as Performance Security, you have to deposit the balance amount of Rs 3,542/- within twenty-eight days of issue of this letter either in the form of DD or in cash with the Chief Cashier, Pathakhera Area. In addition to the above, further 5% of bill value shall be deducted from each on a/c bills as Retention Money to make the total security deposit to the extent of Rs 8972/-. Both the money shall remain at the disposal of the company as Security Deposit and shall not carry any interest.
- 3) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.
- 4) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.
- The contractor shall indemnify the WCL against all claims for compensation under provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause—shall be final and conclusive.

// 2 //

6) Arrangement of water required for the work and drinking purpose shall be your

responsibility.

- 7) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
- 8) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the SE(Civil)PKD,Civil Dn., for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

STAFF OFFICER (CIVIL), WCL, PATHAKHERA AREA.

- 1) The GM, Pathakhera Area.
- 2) The Sr. Manager(M), Pathakhera Area.
- 3) The Dy.CPM, Pathakehra Area.
- 4) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/PKD/BC/10-11/Residential rep. /37 dt. 29.09.2010 for Rs 89,714/- .
- 5) The SE(C) PKD, Civil Dn., for further needful action.
- 6) The PM (Welfare), Pathakhera Area
- 7) All A.W.C. Member (Throught PM(Welfare) along with copy of BOQ.
- 8) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

## BILL OF QUANTITY

Urgent repair of MQ of Pathakhera colony (No.137, 143, 146, 868, 898, 902, 1607 & 1614) of Pathakhera Area.

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
1	15.56 P-231	Dismantling old plaster or skirting raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 metres lead.	sqm	400.00	8.20	3280.00
2	15.2.1 P226	Demolishing cement concrete manually/ by mechanical means including disposal of material within 50 metres lead as per direction of Engineer-in-charge. 1:3:6 or richer mix.	cum	5.00	368.45	1842.25
3	6.34.1 P-102 (-) 6.5	Brick work with modular fly ash lime bricks (FLAG Bricks) conforming to IS:12894-2002, class designation 100 average compressive strength in super structure above plinth level up to floor V level in: Cement mortar 1:4 (1 cement:4 coarse sand).	m3	6.72	2244.35	15082.03
4	13.16.1 P-202	6mm cement plaster of mix: 1:3 (1 cement:3 fine sand).	sqm	50.00	62.15	3107.50
5	13.4.2 P-201	12mm cement plaster of mix: 1:6 (1 cement : 6 coarse sand).	m2	350.00	72.70	25445.00
6	13.7.2 P-201	12mm cement plaster finished with a floating coat of neat cement of mix: 1:4 (1 cement :4 fine sand)	sqm	72.00	97.90	7048.80
7	11.3.1 P-172	Cement concrete flooring 1:2:4 (1 cement:2 coarse sand:4 graded stone aggregate) finished with a floating coat of neat cement including cement slurry, but excluding the cost of nosing of steps etc. complete. 40mm thick with 20mm nominal size stone aggregate.	m2	200.00	192.95	38590.00
		Deduct 10.00% below DSR-2007.  (Rupees Eighty nine thousand seven			Total =Rs (-) Rs Total= Rs	94395.58 943.95 93451.63

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
		hundred thirteen and paise fifty seven).			4% rebate (-) Total=	3738.06 <b>89,713.57</b>
		Add/deduct% above or below DSR-2007.				



No. PK/Civil/ 1652/ Dated 29.09.2010

To

Shri N.K Singh Contractor, **PATHAKHERA.** 

### **AWARD LETTER**

### REGISTERED AD. / BY HAND.

Sub: Transportation of earth and making protective bunds on 12" dia HDPE main Raw water pipeline between filter Plant to PK-II mine boundary wall at Pathakhera colony.

Ref: NIT.No. Q-03/2010-11 dated 18.05.2010

Dear Sir,

With reference to your tender dated 03.06.2010, the management of the company is pleased to award you the subject work at quoted rate 2.00 below DSR 2007, amounting to **Rs 45,030.51/- (Rupees fourty five thousand thirty and paise fifty one only)**. This award is subject the following terms and conditions:

- 1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is latter and shall be completed within 01 (one)month.
- 2) The EMD of Rs 460/- deposited by you vide MR. No.18191 dated 03.06.2010 has been treated as part of SD/Performance Security. To make 5% of the award value as Performance Security, you have to deposit the balance amount of Rs 1,792/-

within twenty-eight days of issue of this letter either in the form of DD or in cash with the Chief Cashier, Pathakhera Area. In addition to the above, further 5% of bill value shall be deducted from each on a/c bills as Retention Money to make the total security deposit to the extent of Rs 4,504/-. Both the money shall remain at the disposal of the company as Security Deposit and shall not carry any interest.

- 3) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.
- 4) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.
- The contractor shall indemnify the WCL against all claims for compensation under provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause—shall be final and conclusive.

## // 2 //

- 6) Arrangement of water required for the work and drinking purpose shall be your responsibility.
- 7) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
- 8) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the SE(Civil)PKD,Civil Dn., for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

STAFF OFFICER (CIVIL), WCL, PATHAKHERA AREA.

## Copy to:

- 1) The GM, Pathakhera Area.
- 2) The Sr. Manager(M), Pathakhera Area.
- 3) The Dy.CPM, Pathakehra Area.
- 4) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/PKD/BC/10-11/water supply rep. /08 dt. 28.09.2010 for Rs 45,031/- .
- 5) The SE(C) PKD, Civil Dn., for further needful action.
- 6) The PM (Welfare), Pathakhera Area
- 7) All A.W.C. Member (Throught PM(Welfare) along with copy of BOQ.
- 8) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

## **BILL OF QUANTITY**

Transportation of earth and making protective bunds on 12" dia HDPE main raw water pipeline between filter plant to PK-II Mine boundary wall at Pathkhera Area.

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
1	1.1.2 P-54	Carriage of earth by mechanical frams part incukding, loading, unloading and stacking, lead upto 2	cum	450.00	56.41	25384.5

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
		km.				
2	16.3.2	Filling available excavated earth (excluding rock) in trenches, plinth, sides of foundations etc. In layers not exceeding 20cm in depth, consolidating each deposited layer by ramming and watering, lead up to 50m and lift up to 1.5m.	cum	450.00	45.70	20565
		Add/deduct% above or below DSR-2007.			Total =	45949.50



No. PK/Civil/ 1653/ 1186 Dated 04.10.2010

Tο

Shri S.S. Banait Contractor, PATHAKHERA.

### **AWARD LETTER**

## REGISTERED AD. / BY HAND.

Sub: Annual cleaning of drain and garbage from various location of Pathakhera township at Pathakhera Area.

Ref: NIT.No. s-11/2010-11 dated 05.07.2010

Dear Sir,

With reference to your tender dated 16.07.2010, the management of the company is pleased to award you the subject work at your offered item rate as mention below:

### Different item rate

Item No. 01 @ Rs 129.50/-% m2. Item No. 02 @ Rs 80.00/- /m3. Item No. 05@ Rs 0.08/- /m2 Item No. 03 @ Rs 1.80/- /m Item No. 04@ Rs 0.50/- /m

Total cost of the work shall be **Rs 5,05,817.40** (Rupees five lakhs five thousand eight hundred seventeen and paise forty only). This award is subject the following terms and conditions:

- 1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is latter and shall be completed within 12 (twelve)months.
- 2) The EMD of Rs 4480/- deposited by you vide BC. No.581611 dated 16.07.2010 has been treated as part of SD/Performance Security. To make 5% of the award value as Performance Security, you have to deposit the balance amount of Rs 20,811/- within twenty-eight days of issue of this letter either in the form of DD or in cash with the Chief Cashier, Pathakhera Area. In addition to the above, further 5% of bill value shall be deducted from each on a/c bills as Retention Money to make the total security deposit to the extent of Rs 50,582/-. Both the money shall remain at the disposal of the company as Security Deposit and shall not carry any interest.
- 3) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.
  - 4) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.

The contractor shall indemnify the WCL against all claims for compensation under provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause—shall be final and conclusive.

## // 2 //

- 7) Arrangement of water required for the work and drinking purpose shall be your responsibility.
- 8) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
- 9) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the SE(Civil)PKD Civil Dn., for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

STAFF OFFICER (CIVIL), WCL, PATHAKHERA AREA.

- 1) The GM, Pathakhera Area.
- 2) The Sr. Manager(M), Pathakhera Area.
- 3) The Dy.CPM, Pathakehra Area.
- 4) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/PKD/BC/10-11/OCW surface/41 dt. 30.09.2010 for Rs 1,00,000/- .
- 5) The SE(C) PKD Civil Dn., for further needful action.
- 6) Shri K.K. Mungse, Engg.Asstt.(Civil) 7) Shri D.K.Bhade, Sanitary Inspector.
- 8) The PM (Welfare), Pathakhera Area
- 9) All A.W.C. Member (Throught PM(Welfare) along with copy of BOQ.
- 10) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

Schedule of quantity

Annual cleaning of drain and garbage from various location of Pathakhera township at Pathakhera Area.

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
1	2.32 P-68	Cleaning grass and removal of the rubbish up to a distance of 50.00metre out side the periphery of the area cleared.	sqm	75000.00		
2	Analysed item	Cleaning of garbage including necessary excavation sludge within 50.00mtr lead from various location of Pathakhera colony, Area Hospital, V.I.P Guest house, CGM Office old & New Jet Hostels, VTC, PK-II & Sarni Mine Dispensaries, Civil office to PK-II Mine road Tawa-I & tawa-II Mine road & other common services buildings. Including loading, unloading, transporting & Disposal of same within 2.00 KM lead at specified place as per instruction of incharge. The work including cleaning of rubbish & leveling dressing of the proposed stuff. (For a period of 1 Year).	cum	1500.00		
3	Analysed item	Cleaning of colony Drain by removing sludge from the drain twice in a month such that the bed of drain is clearly visible, sludge and rubbish to be deposited at specified place as per direction of incharge at a lead of 100 mtr (A) Main- drain size 0.30mtr. To 0.45mtr in width. Adn 0.40mtr to 0.50mtr in Deep Main drain (12 months x 8439mtrs) = 101268.00mtrs.	Mtr.	101268.00		
4	Analysed item	Cleaing of colony Drain by removing sludge from the drain twice in a month such that the bed of drain is clearly visible Sludge and rubbish to be deposited at specified place as per direction of incharge at a	Mtr.	20820.00		

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
		lead of 100mtrs (B) Sub/Side drain size 0.15mtr to 0.20mtr in width 0.20 to 0.30mtr in deep Sub Drain (12 months x 1735mtrs)=20820.00mtrs.				
5	Analysed item	Sweeping & brooming of road side surface including cleaning & disposal of garbage as per instruction of incharge for once in a week.	m2	1200000.00		
					Total =	



No. PK/Civil/ 1654/ 1187 Dated 04.10.2010

To

Shri Pradeep Ku. Sinha Contractor, PATHAKHERA. **AWARD LETTER** 

**REGISTERED AD. / BY HAND.** 

Sub: Annual cleaning of drain and garbage from various location of Shobhapur township at Pathakhera Area.

Ref: NIT.No. P-07/2010-11 dated 07.07.2010

Dear Sir,

With reference to your tender dated 30.07.2010, the management of the company is pleased to award you the subject work at your offered item rate as mention below:

## Different item rate

Item No. 01 @ Rs 155/-% m2. Item No. 03 @ Rs 1.78/- /m Item No. 02 @ Rs 86.00/- /m3. Item No. 04@ Rs 0.60/- /m

Item No. 05@ Rs 0.07/- /m2

Total cost of the work shall be **Rs 6,27,961.71** (Rupees Six lakhs twenty seven thousand nine hundred sixty one and paise seventy one only). This award is subject the following terms and conditions:

- 1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is latter and shall be completed within 12 (twelve)months.
- 2) The EMD of Rs 5665/- deposited by you vide MR. No.18577 dated 30.07.2010 has been treated as part of SD/Performance Security. To make 5% of the award value as Performance Security, you have to deposit the balance amount of Rs 25,734/- within twenty-eight days of issue of this letter either in the form of DD or in cash with the Chief Cashier, Pathakhera Area. In addition to the above, further 5% of bill value shall be deducted from each on a/c bills as Retention Money to make the total security deposit to the extent of Rs 62,797/-. Both the money shall remain at the disposal of the company as Security Deposit and shall not carry any interest.
- 3) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.
- 4) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.
- The contractor shall indemnify the WCL against all claims for compensation under provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause—shall be final and conclusive.

// 2 //

- 7) Arrangement of water required for the work and drinking purpose shall be your responsibility.
  - 8) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.

9) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the SE(Civil) Sat. Civil Dn., for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

STAFF OFFICER (CIVIL), WCL, PATHAKHERA AREA.

- 1) The GM, Pathakhera Area.
- 2) The Sr. Manager(M), Pathakhera Area.
- 3) The Dy.CPM, Pathakehra Area.
- 4) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/ PKD/BC/10-11/OCW U.G/42 dt. 30.09.2010 for Rs 1,00,000/- .
- 5) The SE(C) Sat. Civil Dn., for further needful action., 5) Shri Rajuselva SE(C)
- 6) Shri K.K. Mungse, Engg.Asstt.(Civil) 7) Shri D.K.Bhade, Sanitary Inspector.
- 8) The PM (Welfare), Pathakhera Area
- 9) All A.W.C. Member (Throught PM(Welfare) along with copy of BOQ.
- 10) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

## SCHEDULE

Annual cleaning of drain and garbage from Various location of Shobhapur township at Pathakhera Area.

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
1	2.32 P-68	Cleaning grass and removal of the rubbish up to a distance of 50.00metre out side the periphery of the area cleared.	sqm	62593.00		
2	Analysed item	Cleaning of garbage including necessary excavation sludge within 50.00mtr lead from various location of Shobhapur colony, Including loading, unloading, transporting & Disposal of same within 2.00 KM lead at specified place as per instruction of incharge. The work including cleaning of rubbish & leveling dressing of the proposed stuff. (For a period of 1 Year).	cum	963.00		
3	Analysed item	Cleaning of colony Drain by removing sludge from the drain twice in a month such that the bed of drain is clearly visible, sludge and rubbish to be deposited at specified place as per direction of incharge at a lead of 100 mtr (A) Main- drain size 0.30mtr. To 0.45mtr in width. Adn 0.40mtr to 0.50mtr in Deep Main drain (12 months x 8439mtrs) = 101268.00mtrs.	Mtr.	177121.10		
4	Analysed item	Cleaing of colony Drain by removing sludge from the drain twice in a month such that the bed of drain is clearly visible Sludge and rubbish to be deposited at specified place as per direction of incharge at a lead of 100mtrs (B) Sub/Side drain size 0.15mtr to 0.20mtr in width 0.20 to 0.30mtr in deep Sub Drain (12 months x 1735mtrs)=20820.00mtrs.	Mtr.	77040.00		
5	Analysed item	Sweeping & brooming of road side surface inlcuding cleaning & disposal of garbage as per instruction of incharge for once in a week.	sqm	1237500.00		
					Total =	

No. PK/Civil/1655/ dated: 09.10.2010

To

Sri Narendra Kumar Singh, Civil Contractor, Congress Nagar, AWARD LETER REGISTERED AD. / BY HAND.

## Pathakhera-460 449.

Sub: Boring 7 Nos. Hand Pump in Gram Panchayat Loniya & Bogaikhapa under CSR activity at Pathakhera Area ( 4 Nos Bogaikhapa and 3 Nos Loniya village).

Ref: NIT No. P-08/2010-11 dated 08.07.2010.

Dear Sir,

With reference to your tender dated 30.07.2010, the management of the company is pleased to award you the subject work at your offered item rate as follows:

Item No.1 a) @ Rs 150/- /mtr. Item No.2 @ Rs 365/- /mtr Item No.1 b) @ Rs 170 /mtr. Item No.3) @ Rs 220/- /mtr Item No.1 c) @ Rs 200/- /mtr. Item No.4) @ Rs 3000/- /each Item No.1 d) @ Rs 240/- /mtr. Item No.5 a) @ Rs 100/- /m3 Item No.1 e) @ Rs 280/- /mtr. Item No.5 b) @ Rs 2400/- /m3 Item No.1 f) @ Rs 330/- /mtr. Item No.5 c) @ Rs 1850/- /m3 Item No.1 g) @ Rs 390/- /mtr. Item No.5 d) @ Rs 190/- /m2 Item No.1 h) @ Rs 460/- /mtr. Item No.5 e) @ Rs 90/- /m2 Item No.1 i) @ Rs 530/- /mtr. Item No.1 j) @ Rs 630/- /mtr. Item No.1 k) @ Rs 740/- /mtr. Item No.1) @ Rs 750/-/mtr Item No.1 I) @ Rs 870/- /mtr. Item No.2) @ Rs 37/-/mtr Item No.1 m) @ Rs 1000/- /mtr. Item No.1 n) @ Rs 1150/-/mtr. Item No.1 o) @ Rs 1350/-/mtr.

thousand nine hundred thirty only). This award is subject the following terms and conditions:

- 1. The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is later and shall be completed within 2 (Two) months.
- 2. The EMD of Rs 5658/- deposited by you vide BC No. 581814 dated 29.07.2010 from SBI has been treated as part of SD/Performance Security. To make 5% of the award value as Performance Security, you have to deposit the balance amount of Rs 25039/- within ten days of issue of this letter either in the form of DD or in cash with the Chief Cashier, Pathakhera Area. In addition to the above, further 5% of bill value shall be deducted from each on a/c bills as Retention money to make the total security deposit to the extent of Rs 61,394/-. Both the money shall remain at the disposal of the company as Security Deposit and shall not carry any interest.

You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.

Contd...2/-

-/ 2 /-

- 4. You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.
- 5. The contractor shall indemnify the WCL against all claims for compensation under the provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect of any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contractor agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause shall be final and conclusive.
- 6. Arrangement of water required for the work and drinking purpose shall be your responsibility.
- 7. You shall have to produce Sales Tax Clearance Certificate prior to payment of your final bill.
- <u>8. ADDITIONAL CLAUSE:</u> Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
- 9. You are requested to submit the following documents for the execution of the Agreement/Detailed Work Order:
  - a. Copy of latest Sales Tax Clearance Certificate
  - b. Copy of Power of Attorney and Partnership Deed, if any, immediately so that the Detailed Work Order/Agreement can be executed.
- 10. Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the SE (Civil), Tawa Dn. for taking up the work. Time is

the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

STAFF OFFICER (CIVIL), WCL, PATHAKHERA AREA.

## Copy to:

- 1) The CGM, Pathakhera Area.
- 2) The Sr. Manager, Pathakhera Area.
- 3) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/ PKD/BC/2010-11/CSR Water Supply/01 dt. 08.10.2010 for Rs 4,40,000/-.
- 5) The PM (Welfare), Pathakhera Area.
- 6) The SE (Civil), Tawa Dn. for further needful action.
- 7) All A.W.C. Member (Throught PM(Welfare) along with copy of BOQ.
- 8) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

## SCHEDULE Boring 7 Nos Hand Pump in Gram Panchayat Loniya & Bogaikhapa under CSR activity at pathakhera Area (4 Nos Bogaikhapa and 3 Nos Loniya Village.

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
1a	18.42.1	Boring with 100mm diameter casting pipe for hand pump/tube well in all soils except ordinary hard rocks requiring blasing including removing the casing pipe after the hand pipe/tube well is lowered and tested: upto 6 metres depth	mtr	42.00		
b	18.42.2	Boring with 100mm diameter casting pipe for hand pump/tube well in all soils except ordinary hard rocks requiring blasing including removing the casing pipe after the hand pipe/tube	mtr	42.00		

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
		well is lowered and tested: Beyond 6 metres and up to 12 m depth				
С	18.42.3	Boring with 100mm diameter casting pipe for hand pump/tube well in all soils except ordinary hard rocks requiring blasing including removing the casing pipe after the hand pipe/tube well is lowered and tested:  Beyond 12 metres and up to 18 m depth	mtr	42.00		
d	18.42.4	18 metres and up to 24 m dept	mtr	42.00		
e	18.42.5	24 metres and up to 30 m dept	mtr	42.00		
f	18.42.6	30 metres and up to 36 m dept	mtr	42.00		
g	18.42.7	36 metres and up to 42 m dept	mtr	42.00		
h	18.42.8	42 metres and up to 48 m dept	mtr	42.00		
I	18.42.9	48 metres and up to 54 m dept	mtr	42.00		
j	18.42.10	54 metres and up to 60 m dept	mtr	42.00		
k	18.42.11	60 metres and up to 66 m dept	mtr	42.00		
1	18.42.12	66 metres and up to 72 m dept	mtr	42.00		
m	18.42.13	72 metres and up to 78 m dept	mtr	42.00		
n	18.42.14	78 metres and up to 84 m dept	mtr	42.00		
	18.42.14	84 metres and up to 90 m dept	mtr	42.00		
2	18.43	Providing and placing in position filters of 40mm diameter G.I. Pipe with brass strainer of approved quality.	mtr	3.50		
3	18.44	Providing and fixing to filter and lowering to proper levels 40mm G.I. Pipe for tube well including cleaning and priming the tube well.	mtr	350.00		
4	18.45	Providing and placing in positing hand pump of approved quality for 40mm diameter G.I. Pipe complete with all accessories.	Nos	7.00		
5a	2.8.1 P- 64	Earth work in excavation by mechanical means (Hydraulic excavator)/manual means in foundation trenches or drains (not exceeding 1.5m in width or 10sqm on plan) including dressing of sides and ramming of bottoms, lift upto 1.5m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50m. All	m3	6.00		

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
		kinds of soil.				
b	4.1.8 P-79	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering- All work up to plinth level:1:4:8 (1 cement:4 coarse sand:8 graded stone aggregate 40mm nominal size).	m3	2.50		
С	6.32.2 (-) 6.33 P-100	Brick work with clay flyash F.P.S. brick of class designation 75 in superstructure above plinth level up to floor five level in:Cement mortar 1:6 (1 cement: 6 coarse sand).(-) Extra for exposed brick work/ clay flyash brick work in superstructure above floor five level for each four floors or part thereof.	m3	0.65		
d	11.3.1 P-172	Cement concrete flooring 1:2:4 (1 cement:2 coarse sand:4 graded stone aggregate) finished with a floating coat of neat cement including cement slurry, but excluding the cost of nosing of steps etc. complete. 40mm thick with 20mm nominal size stone aggregate.	m2	22.00		
e	13.7.2 P-201	12mm cement plaster finished with a floating coat of neat cement of mix: 1:4 (1 cement :4 fine sand)	m2	21.00		
1	non sor	Providing and fixing G.I. pipe complete with G.S. fitting. 100mm dia.	mtr	175.00		
2	non sor	Providing and fixing steel rod with socket for hand pump.	mtr	350.00		



No. PK/Civil/ 1656/ Dated 25.10.2010

To

Shri N.K Singh Contractor, **PATHAKHERA.** 

### **AWARD LETTER**

## **REGISTERED AD. / BY HAND.**

Sub: Construction of community hall with Kitchen of size 10.00 x 5.00m at Loniya Gram Panchayat at under CSR activity at Pathakhera Area.

Ref: NIT.No. P-12/2010-11 dated 28.07.2010

Dear Sir,

With reference to your tender dated 18.08.2010, the management of the company is pleased to award you the subject work at quoted rate 15.00 above DSR 2007, amounting to Rs 6,53,536.98/- (Rupees Six lakhs fifty three thousand five hundred thirty six and paise ninety eight only). This award is subject the following terms and conditions:

- 1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is latter and shall be completed within 03 (three)month.
- 2) The EMD of Rs 5683/- deposited by you vide DD. No.525778 dated 18.08.2010 has of SD/Performance Security. To make 5% of the award been treated as part Performance Security, you have to deposit the balance amount of Rs value as 26,994/- within twenty-eight days of issue of this letter either in the form of DD or in cash with the Chief Cashier, Pathakhera Area. In addition to the above, further 5% of bill value shall be deducted from each on a/c bills as Retention Money total security deposit to the extent of Rs 65,354/-. Both the money to make the shall remain at the disposal of the company as Security Deposit and shall not carry any interest.
- 3) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.
- 4) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.
- 5) The contractor shall indemnify the WCL against all claims for compensation under the provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect of any workmen employed entitled to deduct from any money due or to become due to

the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause shall be final and conclusive.

### // 2 //

- 6) Arrangement of water required for the work and drinking purpose shall be your responsibility.
- 7) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
- 8) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the SE(Civil)Tawa,Civil Dn., for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

STAFF OFFICER (CIVIL), WCL, PATHAKHERA AREA.

- 1) The GM, Pathakhera Area.
- 2) The Sr. Manager(M), Pathakhera Area.
- 3) The Dy.CPM,Pathakehra Area.
- 4) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/PKD/BC/10-11/CSR/Infracture support /01 dt. 22.10.2010 for Rs 5,00,000/- .
- 5) The SE(C) Tawa, Civil Dn., for further needful action.
- 6) The PM (Welfare), Pathakhera Area
- 7) All A.W.C. Member (Throught PM(Welfare) along with copy of BOQ.
- 8) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

 $\label{eq:SCHEDULE} SCHEDULE$  Community Hall with Kitchen of size 10.00 x 5.00mtr at Loniya Gram panchaiyat under CSR Activity at Pathakhera Area.

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
1	2.8.1 P-64	Earth work in excavation by mechanical means (Hydraulic excavator)/manual means in foundation trenches or drains (not exceeding 1.5m in width or 10sqm on plan) including dressing of sides and ramming of bottoms, lift upto 1.5m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50m. All kinds of soil.	m3	47.00	103.40	4859.80
2	2.27 P-67	Supplying and filling in plinth with Jamuna sand under floors including, watering, ramming consolidating and dressing complete.	cum	17.00	301.50	5125.50
3	4.1.9 P-79	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering- All work up to plinth level: 1:4:8 (1 cement:4 fine sand:8 graded stone aggregate 40 mm nominal size).	cum	10.00	2296.15	22961.50

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
4	5.1.3 P-88	Providing and laying in position specified grade of reinforced cement concrete excluding the cost of centering, shuttering, finishing and reinforcement - All work up to plinth level: 1:2:4 (1 cement:2 coarse sand:4 graded stone aggregate 20mm nominal size).	cum	6.20	3359.6	20829.52
5	5.2.3 P-88	Reinforced cement concrete work in wall (any thickness), including attached pilasters, buttresses, plinth and string coursed, fillets, columns, pillars, piers, abutments, posts and struts etc. up to floor five level excluding cost of centering, shuttering, finishing and reinforcement: 1:2:4 (1 cement:2 coarse sand:4 graded stone aggregate 20mm nominal size).	cum	5.30	3720	19716.00
6	5.3 P-88	Reinforced cement concrete work in beams, suspended floors, roofs having slope up to 15" landings, balconies, shelves, chajjas, lintels, bands, plain window sills, staircases and spiral stair cases up to fllor five level excluding the cost of centering, shuttering, finishing and reinforcement with 1:2:4 (1 cement:2 coarse sand :4 graded stone aggregate 20mm nominal size).	cum	21.00	3673.85	77150.85
7	5.9.5 P-89	Centering and shuttering including strutting, propping etc. and removal of form for: Lintels, beamns, plinth beams, girders, bressumers and cantilevers.	sqm	86.00	162.65	13987.90
8	5.9.19 P-89	Centering and shuttering including strutting, propping etc. and removal of form for: weather shade, chajja, corbels etc., including edges.	sqm	13.00	258.6	3361.80
9	5.9.6 P-89	Centering and shuttering including strutting, propping etc. and removal of form for: Columns, Pillars, Piers, Abutments, Posts and Struts.	sqm	86.00	238.4	20502.40
10	5.9.3 P-89	Centering and shuttering including strutting, propping etc. and removal of form for: Suspended floor, slab.	sqm	99.00	187.35	18547.65
11	5.22.3 P-92	Reinforcement for RCC work including straightening, cutting, bending, placing in position and binding all complete. Cold twisted bars.	kg	2925.0	42.7	124897.50

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
12	6.32.2 P-100- 6.39	Brick work with clay flyash F.P.S. brick of class designation 75 in superstructure above plinth level up to floor five level in:Cement mortar 1:6 (1 cement: 6 coarse sand).	cum	10.00	1899.05	18990.50
13	6.32.2 P-100	Brick work with clay flyash F.P.S. brick of class designation 75 in superstructure above plinth level up to floor five level in:Cement mortar 1:6 (1 cement: 6 coarse sand).	cum	27.63	2134.7	58981.76
14	2.25 P-67	Filling available excavated earth (excluding rock) in trenches, plinth, sides of foundations etc. in layers not exceeding 20cm in depth, consolidating each deposited layer by ramming and watering, lead up to 50m and lift up to 1.5m.	cum	47.00	45.7	2147.90
15	13.1.2 P-201	12mm cement plaster of mix: 1:6 (1cement : 6 fine sand).	sqm	346.00	67.65	23406.90
16	13.16.1 P-202	6mm cement plaster of mix: 1:3 (1 cement:3 fine sand).	sqm	93.00	62.15	5779.95
17	11.3.1 P-172	Cement concrete flooring 1:2:4 (1 cement:2 coarse sand:4 graded stone aggregate) finished with a floating coat of neat cement including cement slurry, but excluding the cost of nosing of steps etc. complete. 40mm thick with 20mm nominal size stone aggregate.	m2	73.00	192.95	14085.35
18	13.7.1 P-201	12mm cement plaster finished with a floating coat of neat cement of mix: 1:3 (1 cement: 3 fine sand).	m2	20.00	107.8	2156.00
19	10.2 P-163	Structure steel work work riveted, bolted or welded in built up sections, trusses and framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete.	kg	270.00	46.35	12514.50
20	10.5.1 P-163	Providing and fixing 1mm thick M.S. sheet door with frame of 40x40x6mm angle iron and 3mm M.S. gusset plates at the juctions and corners, all necessary fittings complete, including applying a priming coat of approved steel primer. Using M.S. angles 40x40x6mm for diagonal braces.	m2	21.60	1695.40	36620.64
23	9.48.1	Providing and fixing M.S. grills of	kg	876.00	59.25	51903.00

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
	P-143	required pattern in frames of windows etc. with M.S. flats, square or round bars etc. all complete. Fixed to steel windows by welding.				
24	10.17 P-165	Providing and fixing M.S. fan clamp type I to II of 16mm dia M.S. bar bent to shape with hooked ends in RCC slabs, beams during laying including painting the exposed portion of loop, all as per standard design complete.	each	6.00	75.20	451.20
25	13.37.1 P204	White washing with lime to give an even shade: New work (three or more coats).	m2	346.00	6.75	2335.50
26	13.62.1 P-206	Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade: Two or more coats on new work over an under coat of suitable shade with ordinary paint of approved brand and manufacture.	m2	79.00	51.30	4052.70
27	13.71	Lettering with black Japan paint of approved brand and manufacture.	letter per cm per	350.00	0.90	315.00
28	2.28.1 p-67	Surface dressing of the ground including removing vegetation and in-equalities not exceeding 15cm deep and disposal of rubbish, lead up to 50m and lift up to 1.5m. All kinds of soil.	sqm	510.00	512.10 / 100	2611.71
		Add/deduct% above or below DSR-2007.			Total =	568293.03

No. PK/Civil/1657/ 1272 dated: 26.10.2010

To

Sri Narendra Kumar Singh, Civil Contractor, Congress Nagar,

Item No.1 o) @ Rs 1300/-/mtr.

AWARD LETER REGISTERED AD. / BY HAND.

Pathakhera-460 449.

Sub: Boring 2 Nos Hand Pump at Shaktigarh Gram Panchayat & 2 Nos Hand Pump at

Shobhapur Gram Panchayat under CSR activity at Pathakhera Area.

Ref: NIT No. S-12/2010-11 dated 09.07.2010.

Dear Sir,

With reference to your tender dated 20.07.2010, the management of the company is pleased to award you the subject work at your offered item rate as follows:

Item No.1 a) @ Rs 150/- /mtr. Item No.2 @ Rs 355/- /mtr Item No.1 b) @ Rs 175 /mtr. Item No.3) @ Rs 215/- /mtr Item No.1 c) @ Rs 200/-/mtr. Item No.4) @ Rs 3000/- /each Item No.1 d) @ Rs 235/- /mtr. Item No.5 a) @ Rs 100/- /m3 Item No.1 e) @ Rs 275/- /mtr. Item No.5 b) @ Rs 2200/- /m3 Item No.1 f) @ Rs 335/- /mtr. Item No.5 c) @ Rs 2000/- /m3 Item No.1 g) @ Rs 400/- /mtr. Item No.5 d) @ Rs 190/- /m2 Item No.1 h) @ Rs 455/- /mtr. Item No.5 e) @ Rs 70/- /m2 Item No.1 i) @ Rs 535/-/mtr.

 Item No.1 j) @ Rs 650/- /mtr.
 Item No.1 j) @ Rs 720/- /mtr.

 Item No.1 l) @ Rs 860/- /mtr.
 Item No.1 j) @ Rs 725/- /mtr

 Item No.2 j) @ Rs 70/- /mtr

Item No.1 m) @ Rs 1000/- /mtr. Item No.1 n) @ Rs 1100/- /mtr.

Total cost of the work shall be **Rs 3,51,240/-** (Rupees Three lakhs fifty one thousand two hundred forty only). This award is subject the following terms and conditions:

- 3. The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is later and shall be completed within 2 (Two) months.
- 4. The EMD of Rs 3247/- deposited by you vide BC No. 581649 dated 19.07.2010 from

SBI has been treated as part of SD/Performance Security. To make 5% of the award value as Performance Security, you have to deposit the balance amount of Rs 14315/- within ten days of issue of this letter either in the form of DD or in cash with the Chief Cashier, Pathakhera Area. In addition to the above, further 5% of bill value shall be deducted from each on a/c bills as Retention money to make the total security deposit to the extent of Rs 35,124/-. Both the money shall remain at the disposal of the company as Security Deposit and shall not carry any interest.

You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this during the contract period.

work

Contd...2/-

-/ 2 /-

- 4. You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.
- 7. The contractor shall indemnify the WCL against all claims for compensation under the provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect of any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contractor agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause shall be final and conclusive.
- 8. Arrangement of water required for the work and drinking purpose shall be your responsibility.
- 7. You shall have to produce Sales Tax Clearance Certificate prior to payment of your final bill.
- <u>8. ADDITIONAL CLAUSE:</u> Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
- 9. You are requested to submit the following documents for the execution of the Agreement/Detailed Work Order:
  - c. Copy of latest Sales Tax Clearance Certificate
  - d. Copy of Power of Attorney and Partnership Deed, if any, immediately so that the Detailed Work Order/Agreement can be executed.
- 10. Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the SE (Civil), Tawa Dn. for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

## Copy to:

- 1) The CGM, Pathakhera Area.
- 2) The Sr. Manager, Pathakhera Area.
- 3) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/ PKD/BC/2010-11/CSR Water Supply/02 dt. 25.10.2010 for Rs 2,60,000/-.
- 5) The PM (Welfare), Pathakhera Area.
- 6) The SE (Civil), Tawa Dn. for further needful action.
- 7) All A.W.C. Member (Throught PM(Welfare) along with copy of BOQ.
- 8) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

## **Schedule of quantity**

Boring 2 Nos Hand Pump at Shaktigrah Gram Panchayat and 2 Nos Hand Pump at Shobhapur Gram Panchayat under CSR activity at Pathakhera Area.

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
1a	18.42.1	Boring with 100mm diameter casting pipe for hand pump/tube well in all soils except ordinary hard rocks requiring blasing including removing the casing pipe after the hand pipe/tube well is lowered and tested: upto 6 metres depth	mtr	24.00		
b	18.42.2	Boring with 100mm diameter casting pipe for hand pump/tube well in all soils except ordinary hard rocks requiring blasing including removing the casing pipe after the hand pipe/tube well is lowered and tested:  Beyond 6 metres and up to 12 m depth	mtr	24.00		
С	18.42.3	Boring with 100mm diameter casting pipe for hand pump/tube well in all soils except ordinary hard rocks requiring blasing including removing the casing pipe after the hand pipe/tube well is lowered and tested:  Beyond 12 metres and up to 18 m depth	mtr	24.00		

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
d	18.42.4	18 metres and up to 24 m dept	mtr	24.00		
e	18.42.5	24 metres and up to 30 m dept	mtr	24.00		
f	18.42.6	30 metres and up to 36 m dept	mtr	24.00		
g	18.42.7	36 metres and up to 42 m dept	mtr	24.00		
h	18.42.8	42 metres and up to 48 m dept	mtr	24.00		
I	18.42.9	48 metres and up to 54 m dept	mtr	24.00		
j	18.42.10	54 metres and up to 60 m dept	mtr	24.00		
k	18.42.11	60 metres and up to 66 m dept	mtr	24.00		
1	18.42.12	66 metres and up to 72 m dept	mtr	24.00		
m	18.42.13	72 metres and up to 78 m dept	mtr	24.00		
n	18.42.14	78 metres and up to 84 m dept	mtr	24.00		
	18.42.14	84 metres and up to 90 m dept	mtr	24.00		
2	18.43	Providing and placing in position filters of 40mm diameter G.I. Pipe with brass strainer of approved quality.	mtr	2.00		
3	18.44	Providing and fixing to filter and lowering to proper levels 40mm G.I. Pipe for tube well including cleaning and priming the tube well.	mtr	200.00		
4	18.45	Providing and placing in positing hand pump of approved quality for 40mm diameter G.I. Pipe complete with all accessories.	Nos	4.00		
5a	2.8.1 P- 64	Earth work in excavation by mechanical means (Hydraulic excavator)/manual means in foundation trenches or drains (not exceeding 1.5m in width or 10sqm on plan) including dressing of sides and ramming of bottoms, lift upto 1.5m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50m. All kinds of soil.	m3	3.50		
b	4.1.8 P- 79	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering- All work up to plinth level:1:4:8 (1 cement:4 coarse sand:8 graded stone aggregate 40mm nominal size).	m3	1.50		
С	6.32.2 (-) 6.33 P- 100	Brick work with clay flyash F.P.S. brick of class designation 75 in superstructure above plinth level up to floor five level in:Cement mortar 1:6 (1 cement: 6 coarse sand).(-) Extra for exposed brick work/ clay flyash brick work in superstructure above floor five level for each four floors or part thereof.	m3	0.40		

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
d	11.3.1 P- 172	Cement concrete flooring 1:2:4 (1 cement:2 coarse sand:4 graded stone aggregate) finished with a floating coat of neat cement including cement slurry, but excluding the cost of nosing of steps etc. complete. 40mm thick with 20mm nominal size stone aggregate.	m2	12.60		
e	13.7.2 P-201	12mm cement plaster finished with a floating coat of neat cement of mix: 1:4 (1 cement :4 fine sand)	m2	11.80		
1	non sor	Providing and fixing G.I. pipe complete with G.S. fitting. 100mm dia.	mtr	100.00		
2	non sor	Providing and fixing steel rod with socket for hand pump.	mtr	200.00		
					Total =	



No. PK/Civil/ 1658/1273 Dated 25.10.2010

To

Shri M.D. Qurban Ansari Contractor, **PATHAKHERA.** 

### **AWARD LETTER**

## **REGISTERED AD. / BY HAND.**

Sub: Misc. renovation & repair works of residential qtrs. at Bhagat Nagar for 36 Nos LCH & 20 Nos type-II qtrs such as renewal of water supply Pipe & renovation of sewerage disposal system at Pathakhera Area.

Ref: NIT.No. S-06/2010-11 dated 09.06.2010

Dear Sir,

With reference to your tender dated 21.06.2010, the management of the company is pleased to award you the subject work at quoted rate 28.00% above DSR 2007, amounting to Rs 2,30,768.72/- (Rupees two lakhs thirty thousand seven hundred sixty eight and paise seventy two only). This award is subject the following terms and conditions:

- 1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is latter and shall be completed within 03 (three)month.
- 2) The EMD of Rs 2364/- deposited by you vide BC. No.581244 dated 19.06.2010 has been treated as part of SD/Performance Security. To make 5% of the award value as Performance Security, you have to deposit the balance amount of Rs 9,175/- within twenty-eight days of issue of this letter either in the form of DD or in cash with the Chief Cashier, Pathakhera Area. In addition to the above, further 5% of bill value shall be deducted from each on a/c bills as Retention Money to make the total security deposit to the extent of Rs 23077/-. Both the money shall remain at the disposal of the company as Security Deposit and shall not carry any interest.
- 3) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.
- 4) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.
- The contractor shall indemnify the WCL against all claims for compensation under provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause—shall be final and conclusive.

- 6) Arrangement of water required for the work and drinking purpose shall be your responsibility.
- 7) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
- 8) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the SE(Civil)PKD,Civil Dn., for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

STAFF OFFICER (CIVIL), WCL, PATHAKHERA AREA.

- 1) The GM, Pathakhera Area.
- 2) The Sr. Manager(M), Pathakhera Area.
- 3) The Dy.CPM, Pathakehra Area.
- 4) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/PKD/BC/10-11/Residential, Rep. Annual /38 dt. 25.10.2010 for Rs 2,30,768/- .
- 5) The SE(C) PKD, Civil Dn., for further needful action.
- 6) The PM (Welfare), Pathakhera Area
- 7) All A.W.C. Member (Throught PM(Welfare) along with copy of BOQ.
- 8) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

**Schedule of Quantity**Misc. renovation & repair works of residential qtrs at Bhagat Nagar for 36 Nos LCH & 20 Nos type-II qtrs such as reneval of water supply pipe & renovation of sewerage disposal system at Pathakhera Area.

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
		PART – A				
1	6.34.1 P-102 (-) 6.5	Brick work with modular fly ash lime bricks (FLAG Bricks) conforming to IS:12894-2002, class designation 100 average compressive strength in super structure above plinth level up to floor V level in: Cement mortar 1:4 (1 cement:4 coarse sand).	m3	21.60	2244.35	48477.96
2	13.7.2 P-201	12mm cement plaster finished with a floating coat of neat cement of mix: 1:4 (1 cement :4 fine sand)	sqm	180.00	97.90	17622.00
3	11.3.1 P-172	Cement concrete flooring 1:2:4 (1 cement:2 coarse sand:4 graded stone aggregate) finished with a floating coat of neat cement including cement slurry, but excluding the cost of nosing of steps etc. complete. 40mm thick with 20mm nominal size stone aggregate.	m2	54.00	192.95	10419.30
4	11.28.1 P-176	40mm thick fine dressed stone flooring over 20mm (average) thick base of cement mortar 1:5 (1 cement :5 coarse sand) with joints finished flush. Red sand stone	sqm	252.00	116.90	29458.80
5	18.12.6 P- 292	Proviiding and fixing G.I. Pipes complete with G.I. Fittings including trenching and refilling etc. 50Mm dia nominal bore.	metre	120.00	280.10	33612.00
6	18.12.1 P- 292	Proviiding and fixing G.I. Pipes complete with G.I. Fittings including trenching and refilling etc. 15mm dia nominal bore.	metre	120.00	94.05	11286.00
7	12.40.2 P-192	Providing and fixing on wall face unplasticised Rigid PVC rain water pipes conforming to IS: 13592 Type A including jointing with seal ring conforming to IS:5382 leaving 10mm gap for	metre	180.00	163.40	29412.00

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
		thermal expansion (I) Single socketed pipes. 110mm diameter.				
					Total =A	180288.06
		Add/deduct% above or below DSR-2007.				



No. PK/Civil/ 1659/1274 Dated 25.10.2010

To

Shri Brajendra Ku. Yadav Contractor, **PATHAKHERA**.

## **AWARD LETTER**

## **REGISTERED AD. / BY HAND.**

Sub: Repair/maintenance of Sub-station No.1 to 5 at Pathakhera colony of Pathakhera Area.

Ref: NIT.No. S-07/2010-11 dated 11.06.2010

Dear Sir,

With reference to your tender dated 21.06.2010, the management of the company is pleased to award you the subject work at quoted rate 4.00% below DSR 2007 & NON SOR item No. 1) Rs 290/-/m2 & item No.2) Rs 5.00/-/m2, amounting to Rs 3,26,409.91/-(Rupees three lakhs twenty six thousand four hundred nine and paise ninety one only). This award is subject the following terms and conditions:

- 1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is latter and shall be completed within 04 (four)months.
- The EMD of Rs 3320/- deposited by you vide BC. No.581244 dated 19.06.2010 has 2) of SD/Performance Security. To make 5% of the award been treated as part Performance Security, you have to deposit the balance amount of Rs twenty-eight days of issue of this letter either in the form of DD 13,001/- within or in cash Chief Cashier, Pathakhera Area. In addition to the above, with the value shall be deducted from each on a/c bills as Retention Money further 5% of bill to make the total security deposit to the extent of Rs 32,641/-. Both the money shall remain at the disposal of the company as Security Deposit and shall not carry any interest.
- 3) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.
- 4) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.
- The contractor shall indemnify the WCL against all claims for compensation under provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause—shall be final and conclusive.

#### // 2 //

- 6) Arrangement of water required for the work and drinking purpose shall be your responsibility.
- 7) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
- 8) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the SE(Civil)PKD,Civil Dn., for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

STAFF OFFICER (CIVIL), WCL, PATHAKHERA AREA.

#### Copy to:

- 1) The GM, Pathakhera Area.
- 2) The Sr. Manager(M), Pathakhera Area.
- 3) The Dy.CPM, Pathakehra Area.
- 4) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/PKD/BC/10-11/OCW Surface /49 dt. 25.10.2010 for Rs 3,26,410/- .
- 5) The SE(C) PKD, Civil Dn., for further needful action.
- 6) The PM (Welfare), Pathakhera Area
- 7) All A.W.C. Member (Throught PM(Welfare) along with copy of BOQ.
- 8) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
		PART – A				
1	15.56 P-231	Dismantling old plaster or skirting raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 metres lead.	sqm	394.00	8.20	3230.80
2	15.2.1 P-226	Demolishing cement concrete manually/ by mechanical means including disposal of material within 50 metres lead as per direction of Engineer-In-charge. 1:3:6 or richer mix.	cum	4.85	368.45	1786.98
3	2.8.1 P-64	Earth work in excavation by mechanical means (Hydraulic excavator)/manual means in foundation trenches or drains (not exceeding 1.5m in width or 10sqm on plan) including dressing of sides and ramming of bottoms, lift upto 1.5m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50m. All kinds of soil.	m3	10.00	103.40	1034.00
4	4.1.8 P-79	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering- All work up to plinth level:1:4:8 (1 cement:4 coarse sand:8 graded stone aggregate 40mm nominal size).	cum	1.40	2449.00	3428.60
5	4.1.3 P-79	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering- All work up to plinth level: 1:2:4 (1 cement:2 fine sand:4 graded stone aggregate 20 mm nominal size).	cum	13.37	3257.45	43552.11
6	6.34.2 P-102 (-) 6.5	Brick work with modular fly ash lime bricks (FALG Bricks) conforming to IS: 12894-2002, class designation 100 average compressive strength in super structure above plinth level up to floor V level in: Cement mortar: 1:6 (1 cement:6 coarse sand).	cum	2.40	2093.30	5023.92
7	6.34.2 P-102	Brick work with modular fly ash lime bricks (FALG Bricks) conforming to IS: 12894-2002, class designation 100 average compressive strength in super structure above plinth level up to floor V	cum	1.40	2283.30	3196.62

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
		level in: Cement mortar : 1:6 (1 cement:6 coarse sand).				
8	13.7.2 P-201	12mm cement plaster finished with a floating coat of neat cement of mix: 1:4 (1 cement :4 fine sand)	sqm	35.00	97.90	3426.50
9	13.16.1 P-202	6mm cement plaster of mix: 1:3 (1 cement:3 fine sand).	sqm	93.00	62.15	5779.95
10	13.4.2 P-201	12mm cement plaster of mix: 1:6 (1 cement : 6 coarse sand).	m2	320.00	72.70	23264.00
11	11.4.1 p-172	52 mm thick cement concrete flooring with concrete hardener topping under layer 40mm thick cement concrete 1:2:4 (1 cement :2 coarse sand :4 graded stone aggregate 20mm nominal size) and top layer 12mm thick cement hardener consisting of mix 1:2 (1 cement hardener mix : 2 graded stone aggregate 6mm nominal size) by volume hardening compound is mixed @ 2 litre per 50kg of cement or as per manufactureres specifications. This includes cost of cement slurry, but excluding the cost of nosing of steps etc. complete.	sqm	194.00	286.55	55590.70
12	15.28.1 p-228	Dismantling roofing including ridges, hips valleys and gutters etc., and stcking the material within 50 metres lead of: G.S. Sheet.	sqm	27	24.70	666.90
13	12.1.3 P-186	Providing corrugated G.S. sheet roofing including vertical/curved surface fixed with polymer coated J or L hooks, bolts and nuts 8 mm diameter with bitumen and G.I. Limpet washers or with G.I. Limpet washers filled with white lead and including a coat of approved steel primer and two coats of approved paint on overlapping of sheets complete (up to any pitch in horizontal/vertical or curved surfaces) excluding the cost of purlins, rafters and trussed and including cutting to size and shape wherevaer required.  0.63mm thick with zinc coating not less than 275gm/m2	m2	27.00	432.25	11670.75
14	14.42.1 P-219	White washing with lime to give an even shade: Old work (two or more coats).	sqm	1200.00	4.10	4920.00
15	14.54.1 P-220	Painting with synthetic enamel paint of approved brand and manufacture of	sqm	300.00	22.85	6855.00

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
		required colour to give an even shade: One or more coats on old work.				
					Total =A	173426.83
		PART-B BOUNDARY WALL				
16	2.8.1 P-64	Earth work in excavation by mechanical means (Hydraulic excavator)/manual means in foundation trenches or drains (not exceeding 1.5m in width or 10sqm on plan) including dressing of sides and ramming of bottoms, lift upto 1.5m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50m. All kinds of soil.	m3	37.00	103.40	3825.80
17	4.1.8 P-79	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering- All work up to plinth level:1:4:8 (1 cement:4 coarse sand:8 graded stone aggregate 40mm nominal size).	cum	6.12	2449.00	14987.88
18	6.34.2 P-102 (-) 6.5	Brick work with modular fly ash lime bricks (FALG Bricks) conforming to IS: 12894-2002, class designation 100 average compressive strength in super structure above plinth level up to floor V level in: Cement mortar: 1:6 (1 cement:6 coarse sand).	cum	20.40	2093.30	42703.32
19	6.34.2 P-102	Brick work with modular fly ash lime bricks (FALG Bricks) conforming to IS: 12894-2002, class designation 100 average compressive strength in super structure above plinth level up to floor V level in: Cement mortar: 1:6 (1 cement:6 coarse sand).	cum	5.64	2283.30	12877.81
20	13.4.2 P-201	12mm cement plaster of mix: 1:6 (1 cement : 6 coarse sand).	m2	426.00	72.70	30970.20
21	13.37.1 P204	White washing with lime to give an even shade: New work (three or more coats).	m2	87.00	6.75	587.25
22	13.39.1 P-204	Colour washing such as green, blue or buff to give an even shade: New work (two or more caots) with a base coat of white washing with lime.	m2	339.00	9.30	3152.70
23	4.1.3 P-79	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering- All work	cum	2.04	3257.45	6645.20

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
		up to plinth level: 1:2:4 (1 cement:2 fine sand:4 graded stone aggregate 20 mm nominal size).				
					Total =B	115750.16
		NON SOR ITEM ( Please quote the item rate)				
24	NON SOR	Half brick work with fly ash lime bricks in surface structure 1:4	m2	135.00		
25	NON SOR	Colour washing such as green, blue or buff to give an even shade: old work (one or more caots) with a base coat of white washing with lime.	m2	1930.00		
					Total=Rs	



# WESTERN COALFIELDS LIMITED OFFICE OF THE CHIEF GENERAL MANAGER PATHAKHERA AREA P.O. PATHAKHERA, DIST. BETUL (MP)-460 449.

No. PK/Civil/ 1660/1275 Dated 25.10.2010

To

Shri S.S. Banait Contractor, **PATHAKHERA**.

#### **AWARD LETTER**

#### **REGISTERED AD. / BY HAND.**

Sub: Removing of old burn debris from Area Store at Pathakhera Area.

Ref: NIT.No. Q-04/2010-11 dated 15.06.2010

Dear Sir,

With reference to your tender dated 29.06.2010, the management of the company is

pleased to award you the subject work at quoted rate 4.00% below DSR 2007, amounting to Rs 27,314.89/- (Rupees twenty seven thousand three hundred fourteen and paise eighty nine only). This award is subject the following terms and conditions:

- 1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is latter and shall be completed within 02 (two)months.
- 2) The EMD of Rs 276/- deposited by you vide BC. No.581394 dated 28.06.2010 has been treated as part of SD/Performance Security. To make 5% of the award Performance Security, you have to deposit the balance amount of Rs 1090/value as issue of this letter either in the form of DD or in cash within twenty-eight days of Chief Cashier, Pathakhera Area. In addition to the above, further 5% with the of bill value shall be deducted from each on a/c bills as Retention Money to make total security deposit to the extent of Rs 2,732/-. Both the money shall at the disposal of the company as Security Deposit and shall not carry any remain interest.
- 3) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.
- 4) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.
- The contractor shall indemnify the WCL against all claims for compensation under provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause—shall be final and conclusive.

#### // 2 //

- 6) Arrangement of water required for the work and drinking purpose shall be your responsibility.
- 7) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
- 8) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the SE(Civil)PKD, Civil Dn., for taking up the

work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

STAFF OFFICER (CIVIL), WCL, PATHAKHERA AREA.

#### Copy to:

- 1) The GM, Pathakhera Area.
- 2) The Sr. Manager(M), Pathakhera Area.
- 3) The Dy.CPM, Pathakehra Area.
- 4) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/PKD/BC/10-11/OCW Surface /50 dt. 25.10.2010 for Rs 27,315/- .
- 5) The SE(C) PKD, Civil Dn., for further needful action.
- 6) The PM (Welfare), Pathakhera Area
- 7) All A.W.C. Member (Throught PM(Welfare) along with copy of BOQ.
- 8) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

Encasing with old drums and necessary masonry work for the safety of sluice valves to the existing main water supply pipeline at Pathakhera Area.

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
1	2.8.1 P-64	Earth work in excavation by mechanical means (Hydraulic excavator)/manual means in foundation trenches or drains (not exceeding 1.5m in width or 10sqm on plan) including dressing of sides and ramming of bottoms, lift upto 1.5m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50m. All kinds of soil.		20.00	103.40	2068.00
2	6.34.2 P- 102(-) 6.5	bricks (FALG Bricks) conforming to IS:	cum	9.60	2093.30	20095.68
	4.1.3 P-79	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering- All work up to plinth level: 1:2:4 (1 cement:2 fine sand:4 graded stone aggregate 20 mm nominal size).	cum	7.17	3257.45	23355.92
	13.4.2 P-201	12mm cement plaster of mix: 1:6 (1 cement : 6 coarse sand).	m2	56.00	72.70	4071.20
		Add/deduct% above or below DSR-2007.			Total =	49590.80



## WESTERN COALFIELDS LIMITED OFFICE OF THE CHIEF GENERAL MANAGER PATHAKHERA AREA P.O. PATHAKHERA, DIST. BETUL (MP)-460 449.

No. PK/Civil/ 1661/1276

Dated 25.10.2010

Tο

Shri N.S. Kushwaha Contractor, **PATHAKHERA.** 

#### **AWARD LETTER**

#### REGISTERED AD. / BY HAND.

Sub: Repair of Boundary wall of Chhatarpur-II Mine of Pathakhera Area.

Ref: NIT.No. S-04/2009-10 dated 18.03.2010

Dear Sir,

With reference to your tender dated 06.04.2010, the management of the company is pleased to award you the subject work at quoted rate 3.00% above DSR 2007, amounting to Rs 1,29,508.52/- (Rupees One lakh twenty nine thousand five hundred eight and paise fifty two only). This award is subject the following terms and conditions:

- 1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is latter and shall be completed within 02 (two)months.
- The EMD of Rs 700/- deposited by you vide DD. No.884077 dated 30.12.2010 & Rs 2) 917/- vide DD.No.884075 dt. 30.12.2009 has been treated as part of SD/Performance Security. To make 5% of the award value as Performance Security, you have to deposit the balance amount of Rs 4859/- within twenty-eight days of issue of Chief Cashier, this letter either in the form of DD or in cash with the Pathakhera Area. In addition to the above, further 5% of bill value shall be deducted from each on a/c bills as Retention Money to make the total security deposit to the extent of Rs 12,951/-. Both the money shall remain the company as at the disposal of Security Deposit and shall not carry any interest.
- 3) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.
  - 4) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.

The contractor shall indemnify the WCL against all claims for compensation under provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause—shall be final and conclusive.

#### // 2 //

- 6) Arrangement of water required for the work and drinking purpose shall be your responsibility.
- 7) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
- 8) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the SE(Civil)Tawa,Civil Dn., for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

STAFF OFFICER (CIVIL), WCL, PATHAKHERA AREA.

#### Copy to:

- 1) The GM, Pathakhera Area.
- 2) The Sr. Manager(M), Pathakhera Area.
- 3) The Dy.CPM, Pathakehra Area.
- 4) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/PKD/BC/10-11/OCW Surface /46 dt. 25.10.2010 for Rs 1,29,509/- .
- 5) The SE(C) Tawa, Civil Dn., for further needful action.
- 6) The PM (Welfare), Pathakhera Area
- 7) All A.W.C. Member (Throught PM(Welfare) along with copy of BOQ.
- 8) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor,

Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).



WESTERN COALFIELDS LIMITED
OFFICE OF THE CHIEF GENERAL MANAGER
PATHAKHERA AREA
P.O. PATHAKHERA, DIST. BETUL (MP)-460 449.

No. PK/Civil/ 1662/1277 Dated 25.10.2010

To

Shri S.S. Banait Contractor, **PATHAKHERA.** 

#### **AWARD LETTER**

#### **REGISTERED AD. / BY HAND.**

Sub: Providing roomber safe keeping of electrical equipments at the bore hole site of PK-I mine of Pathakhera Area. (Room Size 4.50m x 3.00m)

Ref: NIT.No. S-03/2010-11 dated 27.04.2010

Dear Sir,

With reference to your tender dated 07.05.2010, the management of the company is pleased to award you the subject work at quoted rate 1.00% above DSR 2007, amounting to

### Rs 1,37,021.61/- (Rupees One lakh thirty seven thousand twenty one and paise sixty one only). This award is subject the following terms and conditions:

- 1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is latter and shall be completed within 02 (two)months.
- 2) The EMD of Rs 1400/- deposited by you vide DD. No.310649 dated 06.05.2010 been treated as part of SD/Performance Security. To make 5% of the award value as Performance Security, you have to deposit the balance amount of Rs 5452/- within twenty-eight days of issue of this letter either in the form of DD or in cash with the Chief Cashier, Pathakhera Area. In addition to the above, value shall be deducted from each on a/c bills as Retention further 5% of bill Money to make the total security deposit to the extent of Rs 13,703/-. Both the money shall remain at the disposal of the company as Security Deposit and shall not carry any interest.
- 3) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.
- 4) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.
- The contractor shall indemnify the WCL against all claims for compensation under provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause—shall be final and conclusive.

#### // 2 //

- 6) Arrangement of water required for the work and drinking purpose shall be your responsibility.
- 7) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
- 8) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.
  - You are requested to contact the SE(Civil) PKD, Civil Dn., for taking up the work. Time is the essence of the contract and that you will complete the work within

the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

STAFF OFFICER (CIVIL), WCL, PATHAKHERA AREA.

#### Copy to:

- 1) The GM, Pathakhera Area.
- 2) The Sr. Manager(M), Pathakhera Area.
- 3) The Dy.CPM, Pathakehra Area.
- 4) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/ PKD/BC/10-11/OCW Surface /46 dt. 25.10.2010 for Rs 1,37,022/- .
- 5) The SE(C) PKD, Civil Dn., for further needful action.
- 6) The PM (Welfare), Pathakhera Area
- 7) All A.W.C. Member (Throught PM(Welfare) along with copy of BOQ.
- 8) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

#### **Schedule**

Providing room for Safe keeping of Electrical Equipments at the Bore Hole site of PK-I Mine of Pathakhera Area (Room size 4.50m x 3.00m)

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
1	2.8.1 P-64	Earth work in excavation by mechanical means (Hydraulic excavator)/manual means in foundation trenches or drains (not exceeding 1.5m in width or 10sqm on plan) including dressing of sides and ramming of bottoms, lift upto 1.5m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50m. All kinds of soil.	m3	7.74	103.40	800.32
2	4.1.8 P-79	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering- All work up to plinth level:1:4:8 (1 cement:4 coarse sand:8 graded stone aggregate 40mm nominal size).	cum	2.46	2449.00	6024.54
3	6.34.2 P-102 (-) 6.5	Brick work with modular fly ash lime bricks (FALG Bricks) conforming to IS: 12894-2002, class designation 100 average compressive strength in super structure above plinth level up to floor V level in: Cement mortar: 1:6 (1 cement:6 coarse sand).	cum	4.27	2093.30	8938.39
4	6.34.2 P-102	Brick work with modular fly ash lime bricks (FALG Bricks) conforming to IS: 12894-2002, class designation 100 average compressive strength in super structure above plinth level up to floor V level in: Cement mortar: 1:6 (1 cement:6 coarse sand).	cum	8.74	2283.30	19956.04
5	5.3 P-88	Reinforced cement concrete work in beams, suspended floors, roofs having slope up to 15" landings, balconies, shelves, chajjas, lintels, bands, plain window sills, staircases and spiral stair cases up to fllor five level excluding the cost of centering, shuttering, finishing and reinforcement with 1:2:4 (1 cement:2 coarse sand :4 graded stone aggregate 20mm nominal size).	cum	3.58	3673.85	13152.38
6	5.22.3 P-92	Reinforcement for RCC work including straightening, cutting, bending, placing in position and binding all complete. Cold twisted bars.	kg	358.00	42.7	15286.60
7	5.9.5 P-89	Centering and shuttering including strutting, propping etc. and removal of form for: Lintels, beamns, plinth beams, girders, bressumers and cantilevers.	sqm	13.64	162.65	2218.55
8	5.9.19 P-89	Centering and shuttering including strutting, propping etc. and removal of form for: weather shade, chajja, corbels etc., including edges.	sqm	6.64	258.6	1717.10

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
9	5.9.3 P-89	Centering and shuttering including strutting, propping etc. and removal of form for: Suspended floor, slab.	sqm	17.65	187.35	3306.73
10	10.6.1 P-163	Supplying and fixing rolling shutters of approved make, made of required size M.S. Laths interlocked together through their entire length and jointed together at the end by end locks mounted on specially designed pipe shaft with brackets, side guides and arrangement for inside and outside locking with push and pull operation complete including the cost of providing and fixing necessary 27.5cm ling wire springs grade No.2 and M.S. Top cover of required thickness for rolling shutters. 80x1.25mm M.S. Laths with 1.25mm thick top cover.	sqm	5.76	1208.45	6960.67
11	10.5.1 P-163	Providing and fixing 1mm thick M.S. sheet door with frame of 40x40x6mm angle iron and 3mm M.S. gusset plates at the juctions and corners, all necessary fittings complete, including applying a priming coat of approved steel primer. Using M.S. angles 40x40x6mm for diagonal braces.	m2	3.60	1695.40	6103.44
12	9.48.1 P-143	Providing and fixing M.S. grills of required pattern in frames of windows etc. with M.S. flats, square or round bars etc. all complete. Fixed to steel windows by welding.	kg	108.00	59.25	6399.00
13	13.16.1 P-202	6mm cement plaster of mix: 1:3 (1 cement:3 fine sand).	sqm	18.61	62.15	1156.61
14	13.4.2 P-201	12mm cement plaster of mix: 1:6 (1 cement : 6 coarse sand).	m2	113.00	72.70	8215.10
15	11.3.1 P-172	Cement concrete flooring 1:2:4 (1 cement:2 coarse sand:4 graded stone aggregate) finished with a floating coat of neat cement including cement slurry, but excluding the cost of nosing of steps etc. complete. 40mm thick with 20mm nominal size stone aggregate.	m2	13.98	192.95	2697.44
16	11.3.1 P-172 (-)13.1 8	Cement concrete flooring 1:2:4 (1 cement:2 coarse sand:4 graded stone aggregate) finished with a floating coat of neat cement including cement slurry, but excluding the cost of nosing of steps etc. complete. 40mm thick with 20mm nominal size stone aggregate. (-) Net cement punning.	m2	19.24	171.55	3300.62
17	4.12 P-81	Extra for providing and mixing water proofing material in cement concrete work @ 1 kg per	per 50kg	5.69	27.45	156.19

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
		50kg of cement.	ceme			
18	4.17	Making plinth protection 50mm thick of cement concrete 1:3:6 (1 cement:3 coarse sand:6 graded stone aggregate 20mm nominal size) over 75mm bed by dry brick ballast 40mm nominal size well rammed and consolidated and grouted with fine sand including finishing the top smooth.	sqm	11.40	222.65	2538.21
19	13.37.1 P204	White washing with lime to give an even shade: New work (three or more coats).	m2	69.00	6.75	465.75
20	13.39.1 P-204	Colour washing such as green, blue or buff to give an even shade: New work (two or more caots) with a base coat of white washing with lime.	m2	63.00	9.30	585.90
21	13.61.1 P-206	Painting with synthetic enamel paint of approved brand and manufacture to give an even shade: Two or more coats on new work.	m2	25.35	33.25	842.89
22	16.1 P-240	Preparation and consolidation of sub grade with power road roller of 8 to 12 tonne capacity after excavating earth to an aaverage of 22.5cm depth, dressing to camber and consolidating with road roller including making good the undulations etc and re-rolling the sub grade and disposal of surplus earth lead upto 50 metre.		80.00	33.90	2712.00
23	16.3.1 P-240	Supplying and stacking at site. 90mm to 45mm size stone aggregate.	cum	10.80	742.30	8016.84
24	16.3.7	Supplying and stacking at site. 63 mm to 45 mm size atone aggregate.	cum	10.80	768.45	8299.26
25	16.3.10	Supplying and stacking at site. Moorum.	cum	6.48	421.85	2733.59
26	16.4 P-240	Laying spreading and compacting stone aggregate of specified sizes to WBM specifications including spreading in uniform thickness, hand picking, rolling with 3 wheeled road/vibratory roller 8-10 tonne in stages to proper grade and camber, applying and brooming requisite type of screening/binding material to fill up interstices of coarse aggregate watering and compacting to the required density.	cum	16.00	192.55	3080.80
		Add/deduct% above or below DSR-2007.			Total =	135664.96



WESTERN COALFIELDS LIMITED
OFFICE OF THE CHIEF GENERAL MANAGER
PATHAKHERA AREA
P.O. PATHAKHERA, DIST. BETUL (MP)-460 449.

No. PK/Civil/ 1663/1278 Dated 25.10.2010

To

Shri Shyam Kumar Dharme Contractor, **PATHAKHERA**.

#### **AWARD LETTER**

#### **REGISTERED AD. / BY HAND.**

Sub: Grass cleaning at main magazine building of Pathakhera Area.

Ref: NIT.No. S-13/2010-11 dated 15.07.2010

Dear Sir,

With reference to your tender dated 27.07.2010, the management of the company is pleased to award you the subject work at quoted rate 5.00% above DSR 2007, amounting to Rs 1,07,678.97/- (Rupees One lakh seven thousand six hundred seventy eight and paise ninety seven only). This award is subject the following terms and conditions:

1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue

- of this award letter or the actual date of handing over the site whichever is latter and shall be completed within 12 (twelve)months.
- 2) The EMD of Rs 1026/- deposited by you vide BC. No.581754 dated 26.07.2010 has of SD/Performance Security. To make 5% of the award been treated as part Performance Security, you have to deposit the balance amount of Rs value as 4358/- within twenty-eight days of issue of this letter either in the form of DD or in cash with the Chief Cashier, Pathakhera Area. In addition to the above, further 5% of bill value shall be deducted from each on a/c bills as Retention Money to make the total security deposit to the extent of Rs 10,768/-. Both the money shall remain at the disposal of the company as Security Deposit and shall not carry any interest.
- 3) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.
- 4) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.
- The contractor shall indemnify the WCL against all claims for compensation under provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause—shall be final and conclusive.

#### // 2 //

- 6) Arrangement of water required for the work and drinking purpose shall be your responsibility.
- 7) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
- 8) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the Sr.EE(Civil) AHQ., for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within

a week.

Yours faithfully,

STAFF OFFICER (CIVIL), WCL, PATHAKHERA AREA.

#### Copy to:

- 1) The GM, Pathakhera Area.
- 2) The Sr. Manager(M), Pathakhera Area.
- 3) The Dy.CPM, Pathakehra Area.
- 4) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/ PKD/BC/10-11/OCW Surface /45 dt. 25.10.2010 for Rs 35,000/- .
- 5) The Sr.EE(C) AHQ., for further needful action.
- 6) The PM (Welfare), Pathakhera Area
- 7) All A.W.C. Member (Throught PM(Welfare) along with copy of BOQ.
- 8) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

#### Schedule of quantity

#### Grass Cleaning at Main Magazine building of Pathakhera Area.

S1.	Code No.	Description of Item as per DSR-2007.	Unit	Qnty.	Rate	Amount
1	2.32 P-68	Cleaning grass and removal of the	sqm	75600	135.65/	102551.4

rubbish up to a distance of 50mtr outside the periphery of the area cleared. Area 18900m2 Area cleared in four times in a year i.e. Total Area cleared = 4x18900 = 75600m2		100	
Add/deduct% above or below DSR-2007.		Total=Rs	102551.4



# WESTERN COALFIELDS LIMITED OFFICE OF THE CHIEF GENERAL MANAGER PATHAKHERA AREA P.O. PATHAKHERA, DIST. BETUL (MP)-460 449.

No. PK/Civil/ 1664/1279

Dated 25.10.2010

To

Shri T.R. Bhalekar Contractor, **PATHAKHERA.** 

#### **AWARD LETTER**

#### REGISTERED AD. / BY HAND.

Sub: Providing & laying 60mm thick factory made concrete interlocking blocks of M-30 in training gallery at rescue station, Bagdona of Pathakhera Area.

Ref: NIT.No. S-40/2009-10 dated 08.02.2010

Dear Sir,

With reference to your tender dated 17.02.2010, the management of the company is pleased to award you the subject work at quoted rate 3.20.00% below DSR 2007, amounting to Rs 1,04,755.27/- (Rupees One lakh four thousand seven hundred fifty five and paise twenty seven only). This award is subject the following terms and conditions:

- 1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is latter and shall be completed within 01 (one)month.
- 2) The EMD of Rs 1090/- deposited by you vide DD. No.310073 dated 17.02.2010 has been treated as part of SD/Performance Security. To make 5% of the award Performance Security, you have to deposit the balance amount of Rs value as 4148/- within twenty-eight days of issue of this letter either in the form of DD Chief Cashier, Pathakhera Area. or in cash with the In addition to the above, value shall be deducted from each on a/c bills as Retention further 5% of bill Money to make the total security deposit to the extent of Rs 10,476/-. Both the money shall remain at the disposal of the company as Security Deposit and shall not carry any interest.
- 3) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.
- 4) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.
- 5) The contractor shall indemnify the WCL against all claims for compensation under the provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect

of any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause—shall be final and conclusive.

#### // 2 //

- 6) Arrangement of water required for the work and drinking purpose shall be your responsibility.
- 7) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
- 8) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the SE(Civil) Sat.Civil Dn., for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

STAFF OFFICER (CIVIL), WCL, PATHAKHERA AREA.

#### Copy to:

- 1) The GM, Pathakhera Area.
- 2) The Sr. Manager(M), Pathakhera Area.
- 3) The Dy.CPM,Pathakehra Area.
- 4) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/PKD/BC/10-11/OCW Surface /48 dt. 25.10.2010 for Rs 1,04,755/- .
- 5) The SE(C) Sat.Civil Dn., for further needful action.
- 6) The PM (Welfare), Pathakhera Area
- 7) All A.W.C. Member (Throught PM(Welfare) along with copy of BOQ.
- 8) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

#### BILL OF QUANTITY

Providing & laying 60mm thick factory made concrete interlocking Blocks of M-30 in training gallery at Rescue station, Bagdona of Pathakhera Area.

SI. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
	2.6.1 P- 64	Earth work in excavation by mechanical means (Hydraulic excavator)/manual means over areas(exceeding 30cm in depth 1.5m in width as well as 10 sqm on plan) including disposal of excavated earth, lead up to 50m and lift up to 1.5m disposed erth to be levelled and neatly dressed. All kinds of soil.	cum	45.00	101.85	4583.25
	16.68 P- 251	Providing and laying 60mm thick factory made cement concrete interiocking pavaer block of M-30 grade made by block making machine with strong vibratory compaction and of approved size and design/shape laid in required colour and pattern over and including 50mm thick compacted bed of course sand, filling the joints with coarse sand etc. All complete as per the direction of Enginner-in-charge.	sqm	300.00	345.45	103635.00
		Add/deduct% above or below DSR- 2007.			Total =	108218.25



WESTERN COALFIELDS LIMITED
OFFICE OF THE CHIEF GENERAL MANAGER
PATHAKHERA AREA
P.O. PATHAKHERA, DIST. BETUL (MP)-460 449.

No. PK/Civil/ 1665/ 1280 Dated 26.10.2010

To

Shri Narsingh Mahanti Contractor, PATHAKHERA. **AWARD LETTER** 

#### **REGISTERED AD. / BY HAND.**

Sub: Re-organisation of existing water supply pipeline with 3" dia HDPE main Pipeline for 20000 gallon O.H. Tank at Ambedkar Nagar & Azad Nagar of

Pathakhera Area.

Ref: NIT.No. s-14/2010-11 dated 26.07.2010

Dear Sir,

With reference to your tender dated 06.08.2010, the management of the company is pleased to award you the subject work at your offered item rate as mention below:

#### Different item rate

Item No. 01 @ Rs 297/-/ mtr. Item No. 02 @ Rs 124/- /mtr.

Item No. 03 @ Rs 102/- /m3 Item No. 04@ Rs 423.21/- /Nos.

Total cost of the work shall be **Rs 2,80,677.68** (Rupees two lakhs eighty thousand six hundred seventy seven and paise sixty eight only). This award is subject the following terms and conditions:

- 1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is latter and shall be completed within 02 (two)months.
- 2) The EMD of Rs 2795/- deposited by you vide BC. No.581835 dated 05.08.2010 has been treated as part of SD/Performance Security. To make 5% of the award value as Performance Security, you have to deposit the balance amount of Rs 11,239/- within twenty-eight days of issue of this letter either in the form of DD or in cash with the Chief Cashier, Pathakhera Area. In addition to the above, further 5% of bill value shall be deducted from each on a/c bills as Retention Money to make the total security deposit to the extent of Rs 28,068/-. Both the money shall remain at the disposal of the company as Security Deposit and shall not carry any interest.
- 3) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract period.
- 4) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.
- The contractor shall indemnify the WCL against all claims for compensation under provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause—shall be final and conclusive.

#### // 2 //

- 7) Arrangement of water required for the work and drinking purpose shall be your responsibility.
- 8) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
- 9) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the SE(Civil)PKD Civil Dn., for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

STAFF OFFICER (CIVIL), WCL, PATHAKHERA AREA.

#### Copy to:

- 1) The GM, Pathakhera Area.
- 2) The Sr. Manager(M), Pathakhera Area.
- 3) The Dy.CPM, Pathakehra Area.
- 4) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/PKD/BC/10-11/water supply rep./09 dt. 25.10.2010 for Rs 2,80,678/- .
- 5) The SE(C) PKD Civil Dn., for further needful action.
- 6) The PM (Welfare), Pathakhera Area
- 7) All A.W.C. Member (Throught PM(Welfare) along with copy of BOQ.
- 8) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

#### Schedule of quantity

Re-organisation of existing pipe line with 3" dia HDPE main pipeline for 20000 Gallon O.H. Tank at Ambekdar Nagar & Azad Nagar of Pathakhera Colony.

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
1	Analyse d item	Provididng and fixing HDPE pipes heavy duty 6kg/cm2 kison flexible pipes 75mm dia 3" dia.	МТ	800.00		
2	Analyse d item	Provididng and fixing HDPE pipes heavy duty 6kg/cm2 kison flexible pipes 75mm dia 3" dia.	МТ	200.00		
3	2.8.1 P-64	Earth work in excavation by mechanical means (Hydraulic excavator)/manual means in foundation trenches or drains (not exceeding 1.5m in width or 10sqm on plan) including dressing of sides and ramming of bottoms, lift upto 1.5m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50m. All kinds of soil.	m3	146.00		
4	18.13.2	Making connection of G.I. Distribution branch with G.I. Main of following sizes by providing and fixing tee, including cutting and threading the pipe etc.  Complete. 50 to 80mm nominal bore.	Nos	8.00		
					Total=Rs	



### WESTERN COALFIELDS LIMITED OFFICE OF THE CHIEF GENERAL MANAGER PATHAKHERA AREA P.O. PATHAKHERA, DIST. BETUL (MP)-460 449.

No. PK/Civil/ 1666/1281 Dated 25.10.2010

To

Shri S.S. Banait Contractor, **PATHAKHERA.** 

#### **AWARD LETTER**

#### **REGISTERED AD. / BY HAND.**

Sub: Transportation and fixing of precast RCC slab for chambers Tank covers from filter plant to different locations of Pathakhera Area.

Ref: NIT.No. Q-08/2010-11 dated 30.07.2010

Dear Sir,

With reference to your tender dated 12.08.2010, the management of the company is pleased to award you the subject work at quoted item rate Rs 942/-/m2, amounting to **Rs 42,390/- (Rupees Forty two thousand three hundred ninety only)**. This award is subject the following terms and conditions:

- 1) The date of commencement of the work shall be reckoned from the 10<sup>th</sup> day of issue of this award letter or the actual date of handing over the site whichever is latter and shall be completed within 02 (two)months.
- 2) The EMD of Rs 425/- deposited by you vide BC. No.581899 dated 11.08.2010 has been treated as part of SD/Performance Security. To make 5% of the award Performance Security, you have to deposit the balance amount of Rs value as 1695/- within twenty-eight days of issue of this letter either in the form of DD Chief Cashier, Pathakhera Area. In addition to the above. or in cash with the value shall be deducted from each on a/c bills as Retention further 5% of bill Money to make the total security deposit to the extent of Rs 4,239/-. Both the money shall remain at the disposal of the company as Security Deposit and shall not carry any interest.
- 3) You shall have to produce Labour License as per Contract Labour (Regulation & Abolition) Act 1970 & Contract Labour (Regulation & Abolition) Central Rules 1971, if you engage more than 19 labourers on any day for this work during the contract

period.

- 4) You shall have to make payment to the labourers as per prevailing Minimum Wages Act, in presence of our authorized representative.
- The contractor shall indemnify the WCL against all claims for compensation under provisions of the Workmen's Compensation Act 1923(VIII of 1923) by or in respect any workmen employed entitled to deduct from any money due or to become due to the contractor whether under this contract or under any other contract all money paid or payable by the WCL by way of compensation aforesaid or for cost of expenses in connection with any claim and the contract1or agrees that the decision of the Area General Manager as to sum payable by the contractor under the provisions of this clause—shall be final and conclusive.

// 2 //

- 6) Arrangement of water required for the work and drinking purpose shall be your responsibility.
- 7) ADDITIONAL CLAUSE: Performa to avail Electronic Fund Transfer Facility (EFT) is enclosed. You may submit the requisite details to avail EFT facility.
- 8) Apart from the above, all other terms & conditions stipulated in the tender document & NIT will also be applicable and binding upon you.

You are requested to contact the SE(Civil) PKD.Civil Dn., for taking up the work. Time is the essence of the contract and that you will complete the work within the stipulated time.

We are enclosing herewith this award letter, in duplicate, and please return one copy of the same duly signed by you indicating your acceptance for the work within a week.

Yours faithfully,

STAFF OFFICER (CIVIL), WCL, PATHAKHERA AREA.

#### Copy to:

- 1) The GM, Pathakhera Area.
- 2) The Sr. Manager(M), Pathakhera Area.
- 3) The Dy.CPM, Pathakehra Area.
- 4) The Dy. CFM, Pathakhera Area for kind information with reference to BC No. WCL/PKD/BC/10-11/Sanitation /09 dt. 25.10.2010 for Rs 42,390/- .

- 5) The SE(C) PKD.Civil Dn., for further needful action.
- 6) The PM (Welfare), Pathakhera Area
- 7) All A.W.C. Member (Throught PM(Welfare) along with copy of BOQ.
- 8) The RLC (Central), 'Nirman Sadan', CGO Complex, Room No. 306, 1st Floor, Arera Hills, Behind Govt. Press, BHOPAL-462 016(MP).

#### **BILL OF QUANTITY**

Transportation and fixing precast RCC slab for chambers Tank covers from filter plant to different locations of Pathakhera colony of Pathakhera Area.

Sl. No.	Code No.	Description of Item as per DSR 2007	Unit	Qnty.	Rate	Amount
1	Analysed item	Transportation of precast RCC slab for chamber, tank covers from filter plant to different locations of Pathakhera colony including hire charges of tractor all labours required for loading, unloading and fixing in position including cement mortar etc. All complete as per instruction of E/I lead upto 3 km.	sqm	45.00		
					Total =	

### STATUS OF CORPORATIE SOCIAL RESPONOSIBLITY (CSR) WORKS AT WCL, PATHAKHERA AREA (AS ON 28.10.2010).

Rs in lakhs

SI.		Name of work	BE	Award	Remarks
No			provi-	value &	
'			sion	Date	
A)		Education (Infrastructure)	Rs	Rs	
,,		Constn. of 6x4 M. room for adivasi	2.50	2.01	Work completed.
	٠	Sec. School at Chhatarpur village.	2.00	dt.7.7.10	work completed.
		ces. Genoof at Crinatarpur village.		di.7.7.10	
	2	Const. of 6x4 M.(x2) rooms fpr	5.00	0	For award of work,
	_	advasi S.School at Shobhapur vill.	3.00	O	final TCR processed.
		advasi S.Scribbi at Gribbilapui viii.			illiai TON processed.
	3	Constn. of 6x4M room for P.School	2.50	2.90	Work awarded on
	J	at Warailybhata village Gram	2.00	dt. 29.9.10	29.9.2010 but yet to be.
		Panchayat Loniya.		di. 23.3.10	started.
		Tanonayat Loniya.			started.
	4	Constn. of rooms 6x4M(x2) for Jr.	5.00	5.04	Work is in progress.
	•	Sec. School at Bhogayeekhapa vill.	0.00	dt. 29.9.10	vvolk io in progress.
		Sub Total	15.00	9.95	
B)		Water supply/Drinking Water.	10.00	0.00	
'		2 Nos. hand pumps at Shaktigrah.	1.80	3.51	Work awarded
		2 Nos. hand pumps at Shobhapur	0.80	<u> </u>	on 26.10.2010.
	_	Gram Panchayat	0.00	J 41.20.10.10	011 20:10:2010:
		Cram r anonayat			
	3	3 Nos. hand pumps at Rajegaon	1.80	<u> </u>	
	•	Khapa	1.00	6.14	Work awarded but work
	4	4 Nos. hand pumps at Bhogayee	2.60	dt. 9.10.10	yet to be started.
	•	village	2.00	J 4 51.161.16	yet to be started.
		Sub Total	7.00	9.65	
C)		Infrastructure Support	- 1100	0.00	
'		Black topping of 1.5 KM, 3 M wide	13.00	0	TCR processed
	•	WBM road from Chhatarpur-I Mine	10.00	· ·	for budget certification.
		to village.			
		io image.			
	2	Constn. of stop dam in Chhatarpur	5.00	0	Estimate procoessed
		village			for approval.
		3.			I I
	3	Constn. of community hall, toilet &	5.00	6.54	Work awarded. BC given
		kitchen room in Rajegaon khapa		dt. 25.10.10	for Rs 5.00 lakhs only.
		under Loniya Gram Panchayaat.			
		Sub Total	23.00	6.54	
		Grand Total	45.00	26.14	

### WESTERN COALFIELDS LIMITED: CIVIL ENGG. DEPT.: PATHAKHERA AREA STATUS OF REVENUE WELFARE WORKS AT PATHAKHERA AREA.

Name of Area: Pathakhera.

Head / Name of work	BE prov.	Est.	Date of	Date of	Date of	Date of	Award	Name of	Date of	Date of	Expd.	Cumula-	Remarks
	2010-11	cost(in	approval	NIT	opening	opening	value &	party	comme-	com-	during the	tive expd.	
	(lakhs)	lakhs)	of est.		of Part-I	of Part-II	date		ncement	pletion	month	in 2010-11	
ANNUAL REPAIRS General repairs of Type-II & III Qrs. at Pathakhera colony	Rs <b>80.00</b>	Rs	26.12.09	02.01.10	13.01.10	05.02.10	347753.18 dt.17.3.10	Sri Prabash - Kumar Singh	27.3.10	26.7.10	0.00	129629.00	Work completed
Repairs of balcolnoy wall of DSMQ at Hospital Colony			07.01.10	08.02.10	19.02.10	31.3.10	165742.57 dt. 13.5.10	Md. Qurban- Ansari	23.5.10	22.7.10	0.00	0.00	Work in progroess
Repair to changeover qtrs. against retired employee of Shobhapur Colony			23.01.10	08.2.10	19.2.10	31.3.10	283214.91 13.5.10	Sri N.K.Singh	23.5.10	22.8.10	0.00	0.00	Work in progroess
Repair of old damaged steel shutters (courtyard) & welding of hinges to existing old shutters at Shobhapur Colony			28.5.0924	24.5.09	08.01.10		119630.00 Dr.26.4.10	Sri D.K.Mandal	03.5.10	02.10.10	48607.00	48607.00	Work in progroess
Repairing of hinges of doors/windows of resi. qtrs. & welding work at PKD Colony			24.12.09	06.01.10	19.01.10	19.01.10	55745.00 dt. 06.4.10	Sri V. Malviya	16.4.10	15.5.10	0.00	55745.00	Final bill paid
Genderal repair/main. of resi. qtrs. on day to day complaint basis at Shob.colony			07.5.10	12.5.10	28.5.10	14.6.10	359258.75 dt. 29.6.10	Sri Saroj Ku. Singh	16.7.10	15.01.11	221051.00	221051.00	Work in progroess
Rep. of Type-II Qr. No. 142, 95, 39, 83 & Tupe-III Qr. No. 7, 73 & Type-IV No. 35, 36, 24 & 25			16.02.10	24.3.10	09.4.10	25.5.10	443918.57 Dt.26.6.10	M/s Sirocco Suppliers	05.7.10	04.12.10	345351.00	345351.00	Work in progroess
Rep./maint. of type-IV Qr. No.10 & only distempering & painting of Type-IV Qr. No. 13 & 17 at Pathakhera Colony		0.67	7 08.2.10	16.7.10	28.7.10								TCR processed for Part-II opening.
Genl. repairs to MQ aat Patel Nagar & Subhash Nagar of PKD Colony		9.96	08.6.10	11.6.10	07.7.10	06.9.10							Final TCR processed for award of work.
Rep./maint. of 4 Nos. Type-V Qtrs. at Shob. colony due to change of occupancy			11.5.10	11.6.10	23.6.10	27.7.10	216342.43 dt. 22.9.10	Sri Sanjay Kumar Singh					Work in progress.
Rep/maint. of 8 Nos. vacant type-IV qtrs. at Shobhapur colony.			06.6.10	14.6.10	25.6.10	09.8.10	363730.80 dt.22.9.10	Sri N.K.Singh					Work in progress.
Rep/maint. of 8 Nos. vacant type-IV qtrs. at Pathakhera Colony			08.6.10	14.6.10	25.6.10	02.8.10	304021.62 dt.22.9.10	Sri S.S. Banait					Work in progress.
Rep./maint. of 9 units vacant Type-III Qrs. at Shobhapur colony			15.6.10	24.6.10	06.7.10	10.8.10	172319.98 dt.22.9.10	Sri Saroj Kumar Singh					Work in progress.
Rep./maint. of 13 Nos. vacant Type-III Qrs.			08.6.10	11.6.10	23.6.10	10.8.10	385393.51	Sri Narendra					Work in progress.

at Pathakhera colony						dt.22.9.10	Kumar Singh				
Labour charges for Repair/maint. and making panelled glazed door/window shutters including fixing but excluding ffixtures at Shobhapur colony		08.6.10	14.6.10	25.6.10	09.8.10	458305.46 Dt. 25.9.10	Sri Sanjay Kumar Singh				Work in progress.
Labour charges for Repair/maintenance and making panelled glazed door / window shutters including fixing but excluding ffixtures at Pathakhera colony			18.6.10	30.6.10	26.8.10						For condoucting negotia- ation, TCR under process.
	11.5	5				3675376.78			615009.00	800383.00	

Contd....2/-

Page No.2

Head / Name of work	BE prov.			Date of	Date of	Date of	Award	Name of	Date of	Date of	Expd.	Cumula-	Remarks
	2010-11		approval	NIT	opening	opening	value &	party	comme-	com-	during the	tive expd.	
	(lakhs)	,	of est.		of Part-I	of Part-II	date		ncement	pletion	month	in 2010-11	
	Rs B/F	11.55								B/F	615009.00	800383.00	
General repairs in 9 Nos. MQ at		0.94	18.6.10	28.6.10	09.7.10	18.8.10							For award of work TCR
Pathakhera Colony													processed for approval.
Urgency general repair of 10 Nos. LCH			08.6.10	28.6.1	09.7.10	16.8.10	90712 F7	Sri Nagendra					Work awarded.
qtrs. at Pathakhera Colony			00.0.10	20.0.1	09.7.10	10.0.10		Singh					Work awarded.
qus. at i amakhera colony							ut. 29.9.10	Singin					
Rep/maint. of balcony parapet of 4 Nos.			06.3.10	18.3.10	06.4.10	14.5.10	488955.22	Sri Sunil Ku.	16.7.10	15.11.10			Work in progress
blocks DSME & backside balcony of 10							dt.07.7.10	Singh					. 0
blocks of Shakti Nagar at Shob. colony													
Misc. renovation & repair work of resi.qtrs.		1.80	08.6.10	09.6.10	21.6.10	10.8.10							For award of work, final
at Bhagat Nagar in 36 Nos. LCH & 20 Nos.													TCR processed.
Type-II qtrs. such as renewal of water													
supply pipes & renovation of sewerage													
disposal system at PKD colony													
Balance work for rep/maint. of 38 Nos.		3 50	08.6.10	11.6.10	23.6.10	27.7.10							Final TCR processed
MQ recently allotted/vacated at Shob.		3.30	00.0.10	11.0.10	23.0.10	21.1.10							for award of work.
ing roomly allottod/vasatisa at ones.													ioi awara oi won.
Reconstruction of damaged compound			28.4.10	18.5.10	03.6.10	03.6.10	67753.56	Sri Mithilesh	12.7.10	11.8.10			Work in progress
wall Type-IV No. 49 at Shob. colony							dt.03.7.10	Singh					. 0
								_					
Providing boundary wall for Type-III (268 M).			29.12.09	13.01.10	12.3.10	12.5.10	340690.00	Sri S.S. Banait	21.5.10	20.8.10		281207.00	Work in progress
& Type-IV (32 M) at Pathakhera colony							dt.12.5.10						
Renovation work of resi.qtrs. at Congress		4.48	22.7.10	03.8.10	17.8.10								TCR processed for
Nagar for 34 Nos. MQ, 60 Nos. Type-II &													award of work.
18 Nos. Type-III including renovation of													
water supply pipeline & sewerage sytem													
at Pathakhera Colony.													
Renewal of external plaster of DSMQ		3.80	22.7.10	03.8.10	17.8.10								TCR processed for
No. 1819-1882 & 1972-2070 at Shakti Nagar		0.00		33.0.10	1.7.0.10								Part-II opening.
10.5 1002 & 1012 2010 at onakti Nagai	I	I	I	I	I	I	I	I	I	I	I		. a.t oponing.

of Shobhapur colony (Total 164 units)										
Repair/Maint. of 08 Nos. Type-IV qtrs. at Shobhapur colony due to change of occupancy.	3.33	3 24.8.10	S/19 26.8.10	10.9.10						TCR processed for award of work.
Renovation work of resi. qtrs. of 96 Nos. DSMQ at Hospital colony such as repairing wornout back side wall plaster of toilet, balcony, chhajja, renovatio of sewerage of water supply pipe line.	7.8	1 10.8.10	P/13 21.8.10	21.9.10						TCR under preparation for Part-II opening.
Renovation work of resi. qtrs. of 103 Nos. DSMQ at Hospital colony including renovation of sewerage disposal system and water supply pipeline at Hospital colony.	8.63	30.8.10	P/15 31.8.10	28.9.10						
Urgent repair to 25 Nos. LCH qtrs. at PKD Colony (phase-II).	2.43	27.9.10								Tender floated.
Making platform for sitting arrangement in front of Area Hospital at PKD.	48.2	3	S/06 09.6.10			Sri Vivekanand Singh		615009.00	1081590.00	Work in progress.

Contd....3/-

Pa	~~	NI	_	

Head / Name of work	BE prov.	Est.	Date of	Date of	Date of	Date of	Award	Name of	Date of	Date of	Expd.	Cumula-	Remarks
	2010-11	cost(in	approval	NIT	opening	opening	value &	party	comme-	com-	during the	tive expd.	
	(lakhs)	lakhs)	of est.		of Part-I	of Part-II	date		ncement	pletion	month	in 2010-11	
	Rs	Rs											
SPECIAL REPAIRS.	40.00												
Tarfelting of MQ, Type-II & Type-III at			15.01.10	25.01.10	09.02.10	31.3.10	453937.76	M/s Tiki Tar	09.6.10	08.8.10	0.00	406743.00	Work in progress
Congress Nagar, PKD Colony							dt.10.6.10	Industries					1 13 111
Tarfelting of 42 Nos. MQ at Patael Nagar			25.01.10	25.01.10	09.2.10	25.02.10	453627.30	M/s Sunny	09.6.10	08.8.10	0.00	411038.00	Work in progress
at Pathakhera Colob\ny								Painats & Tar					
								Products					
Tarfelting of Type-III Qrs. at Jagjiwan			28.12.09	25.01.10	09.02.10	25.02.10	446884.57	M/s Glad Stone		20.8.10			work in progress.
Nagar of Pathakhera Colony							dt. 12.6.10	Lyall Employees					
								Industrial Co.Op					
Providing bitumen felt over leaking roof of		8.45	11.5.10	31.8.10	30.9.10			M/s Glad Stone					Work in progress.
Resi.Qtrs. at Shobhaur colony(64 MQ,								Lyall Employees					
8 DSMQ, 8 Type-II & 6 Type-III (Total :82)								Industrial Co.Op					
Roof treatment of resi. qtrs. at Railway			24.12.09	12.5.10	26.5.10	18.8.10	450560.00						Work awarded.
colony & Jagiri colony of Shobhapur.							Dt. 22.9.10						

Leak proof treatment of 30 Nos.MQ at Indira Nagar & 30 Nos. MQ at Patel Nagar		8.20	08.2.10	05.5.10	26.5.10	15.9.10							TCR processed for award of work.
Replacement of 200 Nos. damaged door shutters in various resi.qtrs. at PKD		4.84	19.01.10	18.3.10	06.4.10								Received single tender. Hence cancellation of
Roof treatment of Civil MQ, New colonoy of Shakti Nagar at Shobhapur colony							406839.49 dt.30.3.10	M/s Tiki Tar Industries	04.3.10	03.5.10	0.00	110837.22	tender to be processed. Spillover work. Final bill paid.
Tarfelting of 36 Nos. MQ & parapet walls of LCH Qrs. at Pathakhera Colony		4.16	16.12.09	08.9.10	21.9.10								Retender called on 08.9.10
Renovation of CGM's bunglow.		2.04	31.7.10	03.8.10	17.8.10								TCR for Part-II opening processed.
		27.69					18.95 lakhs				0.00	928618.22	
SANITATION.	11.00												
Repair of septic tank, I/chamber, cover SW pipe etc. at Pathakhera Colony.			31.12.09	08.02.10	19.02.10	31.3.10	312881.10 dt.13.5.10	Sri Prbhas Ku. Singh	22.5.10	21.8.10	0.00	0.00	Work is in progress
Emergent repair of sanitary system at Shobhapur Colony(Phase-I of 2010-11)		0.82	11.5.10	18.5.10	03.6.10		82249.00 dt.12.8.10	Sri Sunil Ku. Singh					Work is in progress.
Making precast slab on labour rate for use in sanitary works at Pathakhera Colony			16.02.09	21.4.09	07.5.09	19.5.09	61600.00	Sri Dhiran Vyapari	22.3.10	22.4.10			Work completed
Transportation & placing RCC precast slab at various locations of PKD Colony		0.42	28.02.10	30.7.10	12.8.10	18.8.10							For award of work, TCR processed.
Renovation of combind sewerage disposal arrangement of DSMQ including repair & covering of drains at Shakti Nagar at Shob. (164 units DSMQ i.e. No. 1819-1874 & 1971-2070)		7.30		P/13 21.8.10	21.9.10								For Part-II opening, TCR under preparation.
Emergent repairs of sanitary system at Shob. colony (Phase-II of 2010-11).		0.92 9.46		Q/10 dt.9.9.10	24.9.10		456730.10				0.00	0.00	TCR under preparation for Part-II opening.

Contd....4/-

Page No.4

Head / Name of work	BE prov.	Est.	Date of	Date of	Date of	Date of	Award	Name of	Date of	Date of	Expd.	Cumula-	Remarks
	2010-11	cost(in	approval	NIT	opening	opening	value &	party	comme-	com-	during the	tive expd.	
	(lakhs)	lakhs)	of est.		of Part-I	of Part-II	date		ncement	pletion	month	in 2010-11	
	Rs	Rs											
COLONY ROADS	30.00												
Connecting of main approach road of		1.10	11.5.10	12.5.10	28.5.10	16.7.10	103579.22						LOI issued

Rescue & Bagdona colony to main road.	1 1			I	l	I	I	l	1	1 1			
Maintenance of colony roads during monsoon.		0.93	06.7.10	30.7.10	12.8.10	26.8.10							For award of work final TCR under preparation.
Strengthening & repairing of road from Area Hospital to Shiv Mandir at PKD colony.		6.12	09.9.10										Estimate approved. NIT to be called.
Repairing of road from Samudaik Bhawan to SBI Shobhapur square.		5.35	08.9.10										Estimate approved. NIT to be called.
Strengthening & repairing of road from Satpura W.Bridge Kalimai road to Kailash Nagar aat Shobhapur colony.		8.11	09.9.10										Estimate approved. NIT to be called.
Repair of road from GM office to Satpura square.		9.67											
		31.28					103579.22						
WATER SUPPLY(REPAIRS)	26.00										0.00	0.00	
Replacement of 2" dia. sluice valve at PKD Colony (1st phase)			25.01.10	02.02.10	11.02.10	11.02.10	89630.00 Dt. 6.4.10	Sri Narsingh- Mahanti	01.5.10	31.5.10	0.00	89630.00	Final bill paid
Replacement of damaged & rusted w/supply pipes & fittings at Shobhapur colony (Phase-II of 2010-11)			15.4.10	27.4.10	07.5.10	07.5.10	59715.00 dt. 16.7.10	Sri Vijay Malviya					Work in progress
Repair/maint.of main water supply distribution pipe at Shobhapur colony			14.4.10	27.4.10	07.5.10	07.5.10	55462.50 dt. 16.7.10	Sri DK Mandal					Work in progress
Replacement of damaged water supply pipes & fittings at PKD colony (Phase-I of 2010-11)				27.4.10	07.5.10	07.5.10	64279.00 dt.22.6.10	Sri S.S. Banait	01.7.10	30.10.10	64279.00	64279.00	Work completed.
P/Fixing of submersible pump at taping of borehole at Shobhapur pump house.			22.3.10	24.3.10	09.4.10	14.5.10	107772.00 dt.	Sri Vijay Malviya	11.7.10	10.8.10		107772.00	Final bill paid
Encasing of drums & necessary masonry work for safety of sluice valves tp existing main water supply line.		0.50	08.6.10	15.6.10	29.6.10	18.8.10							For award of work, final TCR processed.
Transportation of earth & making protective bunds on 12" dia. HDPE main raw water pipeline between F.Plant to PK-II Mine		0.00	11.5.10	18.5.10	03.6.10	03.6.10	45030.51 Dt. 29.9.10	Sri N.K.Singh					Work awarded.
Replacement of filter media of 0.6 MGD & 0.7 MGD RG filters including minor mech. works, digital indicators, Alum dozing		4.80											Estimate proceossed for competent approval.
arrangment etc.	-	5.30					361889.01				64279.00	261681.00	
-							•	•		-			Contd E/

Page No.5

Head / Name of work	BE prov.	Est.	Date of	Date of	Date of	Date of	Award	Name of	Date of	Date of	Expd.	Cumula-	Remarks
	2010-11	cost(in	approval	NIT	opening	opening	value &	party	comme-	com-	during the	tive expd.	
	(lakhs)	lakhs)	of est.		of Part-I	of Part-II	date		ncement	pletion	month	in 2010-11	
Repair of 3 Nos. RCC O.H.Reservoirs of water supply (2 Nos. one at Subhash Nagar & one at Ambedkar Nagar and one at Shobhapur colony.)	B/f	5.30 2.00					361889.01				64279.00	261681.00	Est. under preparation
Rep./maint. of pieline by excavaton & refilling after laying at Pathakhera Colony		0.90	)	Q/05 dt. 18.6.1	30.6.10 0	18.8.10							For condoucting negotiation, TCR under preparation.
Welding work by Gas/Electrical plant including repair & transportation of plant at site for maint. of main & distribution pipe line at various locations of PKD Colon y		0.73	08.6.10	18.6.10	30.6.10	18.8.10							For award of work, TCR processed.
Repair by cutting/welding to rusted & damaged distribution main & submain GI pipeline of Water supply net work at Shobhapur colony on day to day complaint basis for one year.		1.16	6 05.8.10	07.8.10	24.8.10								TCR to be procoessed for Part-II opening.
Rep./maint. of damaged water supply pipe line fittings of resi. qtrs. at PKD Colony (Phase-II of 2010-11)		0.49	10.6.10	18.6.10	30.6.10	18.8.10							For conducting negotiation, TCR under preparation.
Reorganizing of existing water supply pipe line with 3" dia. HDPE pipe line for Rajendra Nagar, Shivaji Nagar & Shastri Nagar of PKD Colony (Length: 850 M)		2.60	05.8.10	07.8.10	24.8.10	06.9.10							TCR for award of work processed.
Reorganisation of drinking water supply pipeline at Shobhapur colony													Estimate under preparation.
Reorganising of existing pipe line with 3" dia. HDPE main pipe for 20000 gal. O.H. at Ambedkar Nagar & Azad Nagar of Pathakhera colony.		2.80	16.4.10	26.7.10	06.8.10	06.9.10							For award of work, TCR processed.
Reorganising of existing pipe line with 3" dia. HDPE flexible pipe for Subhash Nagar of PKD Colony. Length: 240 M		0.20	)	18.6.10	30.6.10	18.8.10							For conducting negotiation RCR under preparation.
of PKD Colony. Length: 240 M													

Reorganising of GI distribution pipeline at Pathakhera Colony (MQ 435-436 & LCH 204-205.)	0.54	22.7.10	30.7.10	12.8.10						TCR proocessed for award of work.
Supply of 315mm dia. HDPE & 315mm flange for 12" dia. main raw water pipeline from Intake Well Sarni to Filter Plant at PKD Area.	0.69	08.6.10	30.7.10	12.8.10	18.8.10					TCR proocessed for award of work.
	17.41	1				361889.01		64279.00	261681.00	

STAFF OFFICER (CIVIL) WCL, PATHAKHERA AREA